AF-2045 BTMA4

U.G. DEGREE EXAMINATION, APRIL 2010
CBCS
Tourism - Allied
TOURISM MARKETING
(2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
Part-A (10 x 2 =20)
Answer All the Questions
1. WhatisaMarket?

&IHEWE 6T60TMITEV ETEOTEHT 2

2. Pointout any two examplesfor International Market.

LIGSTEOTTL(B &FHeNSSHSHTEN L-STTETRISET SI6T0TIQEMET FaLh)s.

3. Define “Tourism Marketing”.

‘&DmIeoT FHPSHUNBSHEO’ BEVHSHEMILD &([HS.

4. Whatis Tourist product ?

a&mmieor LNgwinevflserflesr OLIMB6IT er63TDTED 6T6tTETT ?



10.

Mention any two functions of Middlemen.

BewL5susler LewnflaeT g@s5enID STEwTIQEnetT Fam)s.

Give examples for Commission Agent.

‘BI&H6HT’ 2_GMIEWID &[HS.

Define Market Segmentation.

FHeWSLI LGLILI6T S60586WTLD &(Hs.

Give examples for undifferentiated market.

‘Undifferentiated market’ e-gmrewrnb &ms.

What is Social Tourism ?

‘Social Tourism*eetrmmed etebrenr ?

State any.two social factors ?

agGsenID BI6iT® Feps HNTETIHMaT Fomis.
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Part-B (5 x5=25)

Answer All the Questions.

11. a. Write a note on Marketing mix.

12. a.

FHenSUIBSH60 SevemeuLl LD GMILIL| 1enTS.

(Or)

Point out the importance of Market.

&FHenSUN6ST LpSHSWISHIEUD LD Sanis.

Give an account on Tourist'Markets.

&hmIeo Lwlenfll&eT FhensL DM &bhSH8 Famis.

(Or)

Mention the importance of Marketing Mix.

FHenSUIBSH60 SHeveneauues (pasSWSSeud LD GMLILNGS.

3 AF-2045




13.

14.

15.

. Write a note on physical distribution.

‘Physical distribution’ @m\iy euewns.

(Or)

. What are the services of the retailers ?

Aevevsmr eflwirunilgerflest CFemeussit wimemeu ?

. Give an account on Demographical'Segmentation.

‘Demographical Segmentation®upm smse samis.

(©r)

. Explain the various factors determining Market segmentation.

FhewsLl LiGLLMuenel Birenruls@Ld smyevuflsemer sfleurfl.

. Write anote on ‘Cognitive theory”’.

‘Cognitive theory’ upm @My cuenrs.

(Or)

4 AF-2045




16.

17.

18.

19.

20.

b. Explain consumerism.

mIsTGauNT 61858 sdanyb LD efleurl.
Part-C (3x10=230)

Answer any Three Questions.

Discuss the classification of Market.

w5 U6 uemssHemearTLl LiH) efeurf.

Explain the difference between a product-and service marketing.
QUIM@B6IT LDHMILD CFemeus FHMFHUNBSHESHGSLD 2_6iT6rm Goum)LIML LW 6T

efeurfl.

Explain the various kinds of middlemen in the market.

Fhenguied 2_eter BewLGsrsifle LeoGeauml euensgener sflaurl.

Describe the various methods of segmenting the market with suit-
able diagrams.
hewsL LGLILI6T LbGaIn) 6Uen&SHNeT SE&HS CUDTLILILMISEHL 65T

efeurfl.

What are the factors determining consumer behaviour ?
HISTGaNT [FLSMSemW BenTuls@Ld Sreunllssi wWmene ?

*k%x
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AF-1646 BTASA2

U.G. DEGREE EXAMINATION, APRIL 2010
Slp - Sewyd umL

Tamil
ID&&HET HHEUD OSMLTLIAWeEd
(CBCS—2008 Onwards)
Duration : 3 Hours Maximum : 75 marks

LSS - O (10 x 2 =20 marks)

Olaneird &) NTEHSEHSHGSD R LISI.lemsfed eflewL &Hs.

1.  D&ETSHET CHTLLNE T6iTLIS) 6T60T60T 2

2. 2 _eoremib QeuefliLmL.B& s UMl énL 606msHEs.

3. RIbSMLD GIT6TT eT6dTLIZ)| 6T65T60 ?

4. ungdwni uewilwrbniw Heo usSfewssenens samis.

5. @ndwuneier euneleormed Hmlwps e Beneoswuwl efleurl.

6. @niw @dlugliL Bnieueid Gl euenrs.



7. gner ard GuiT®@ &ML S[HS.

8. ameermed Bapedlsener 6ilosEs.

9. e2memwULLLD uDHN efeuflss.

10. efleTbul QUEDS&HMETSH Famis.
VLSS - S (5x5=25)

RH LSS leefled SllebL EuMTS.

1N (&) Sprd Hpds&ss Camiun®.

(1w

©» swsmwueummilyewnrie) CamiurLenL efleuflss.

12. (&) @swseflenr Fepsl Lenlsemer efleurfss.

(Sievevg)

©p eswhemasGsnefler Lenllaamers &L Bs.
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13. @) eanaernedluilen HLHMS eNSamemen efleurflss.

(Sievevg)

@) eamaenmedluled Gemearehim B Lpg & uyLb w6ueumenflujb
&NS8 1G5

14. (&) sWLBILRE OgTemevsaETLAuTeT Beweo wmg ?
NemTsGs.

(DHedevg)

©p Brpdwuneied euetTens OSTEDSHSTLS GNS5E) 6T(DSIS.

15. (@) eflerbupern) e1gieyLsldemneo- P& FahHenm HINBS.

(Sievevg)

&) SwILULSSE HeiTemid Sem&H 6L LieoLILGS S %.
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16.

17.

18.

19.

20.

LS8 - 8 (3 x10=30)

FCHaID cLPEITNED)SHS 6fl6mL 61(LDSIS.

asTLILAWed BN Wpewm&ene efl6nsEs.

aewmhemss Gasmnefler eugeomm, euernsdl, wewflsenen

efeufl&s.

&H606f& 518 aUTEIETTe0 SHHMILD Liswllaener efloms:@s.

asTeme&H&HTLEAS OsTLAGeT UMM Os5afleyuBs5ss.

efleTbLITSHeTme0 g MUGLD Fepd WIHDHISMETS SMSE

YeoIL(B S &l

*k*k
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AF-1648 BENA2

U.G . DEGREE EXAMINATION, APRIL2010
English - Allied
REMEDIAL GRAMMAR
(CBCS 2008 onwards)

Duration : 3 Hours Maximum : 75 Marks

Section - A (10 x2=20)
Answer All Questions as directed.

1. Insert'a' or 'an' in the following sentence :—

Iunderstand he is to marry heiress

2. Select the words given in brackets at the end of the following sentence,

the one which you think should be used to fill the blank space :—

I have decided tosell of my furniture (some/several)

3. Complete the-following sentence by adding suitable infinitives :—

The parkis a very pleasant place

4. Insert 'Home' or 'At Home' in the blank space given in the following
sentence :—

I shall go as soon as I have finished my work.



5. Write the following sentence in the negative form :—

Close the door, Please.

6. Insert 'still' or Yjust' in the correct places in the following sentence :—

He was leaving the house when the telephone bell rang.

7. Complete the following sentence by adding words.of your own :—

Since I have felt very much better.

8. Insert in the blank spaces, in the following sentence, the correct
tense of the verb given in the bracket-at the end :—

We cannot come to a decision before we the facts.

9. Add the appropriate tag to.the following sentence :—

We shall have to start early.

10. Add to the following sentence an appended question, asking the
other person's opinion :—

I Couldn't hear what he was saying.
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11.

12.

13.

Section- B

(5 x 5=25)

Answer All Questions with Descriptions and Examples.

What are the uses of the term 'off' ?

(Or)

What are the various uses of Redundant conjunctions in

Complex sentences?

What are the uses of the 'infinitive'?

(Or)

Define the use ofthe word 'Home' with proper examples

Define the term 'object’ and it's position in a sentence.

(Or)
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14.

15.

16.

17.

b.  What are the uses of the words 'fairly’ and 'rather'?

a. Define the tense form of the Past Perfect Continuous tense

with three examples.

(Or)

b.  What are the uses of Tenses? Give a few examples of the

above in your own sentences.

a. Define the term'Appended Questions' with few examples.

Or)

b.  Give a shortnote.on Pronouns and Possessive adjectives with

few examples:

Section - C (3 x10=30)

Write Essays on any Three ofthe following Questions.

The articles and it's uses.

Infinitives and gerund.
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18. The position of adverbs.

19. Tenses and it's uses.

20. Agreement of Verbs and Subject.

skkok
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AF-1649 BEN - A3

UG DEGREE EXAMINATION, APRIL2010

English - Allied
INTRODUCTION TO PHONETICS
(CBCS)
(2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
Part-A (10 x 2=20)

Answer All questions

[

. What is the Pulmonic Ingressive air-streammechanism?

N

. Describe the functions of the Tongue.

w

. Describe the term 'Plosives'.

SN

. Describe the Monophthongs in English.

(62}

. What is Morpheme ?

(2]

. Give examples for the following :—

A syllable without a consonant.



7. Describe the weak forms of English Rythm.

8. Give examples for weak forms in Phonemic Transcription.

9. Write a note on the term Transcription.

10. Transcribe the following :—

Good Morning ! How are you ? Thank you , What can | do

for you ?

Part- B (5%x5=25)

Answer All questions choasing one from each set:

11. a. What are the functions of the Lips in the articulation of certain
English sounds ?
(Or)

b. What are the-functions of the roof of the mouth in the

articulation of certain English sounds ?

12. a. Define the manner of Articulation of consonants.
(Or)

b. Describe the place of Articulation of consonants.
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13.a. Write a short note on syllable and it's use.

(On)

b. Write a short note on Intonation and it's use.

14. a. Write a short note on Strong form and Weak form of English
Rhythms.

(On)

b. Mention the types and uses of strong and weak forms of some

common English words.

15. a. Transcribe the following werds :

1. Academy,

2. Achievement
3. Balloon

4. Bamboo,

5. Comb

6. Dog

7. Daffodils

8. English

9. Example ,
10. University.

(On)
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b. Transcribe the following sentences :

1. 1 amgoing to Britain.

2. Meet the Doctor at Ten in the morning.
3. London is the capital of the England.

4. Why don't you mind your Business?

5. Can | present you with a car ?

Part-C (3x10=230)

Write essays on any Three of the following:

16. Air-Stream mechanism

17. Classification and description of speech sounds of English Vowels.
18. The uses of syllables, stress and Intonation of English sounds.

19. The types and uses of strong and weak forms of English Rythnm.

20. Transcribe the following passage:—

A Pleasant'Suprise.

Balu : Isitreallyyou-Raju ? What a pleasant surprise !
Raju : Itisme.
Balu : Well, surprises will never cease, | was told.
You were in Tanzania. What were you doing there and
when did you come back?
Raju : You're right. I am attached to the English department of the
University of Tanzania; Infact I've been there for three years

now. | arrived here just yesterday on two months holiday.
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Balu

Raju

Balu
Raju
Balu

Raju

Balu

: What sort of job are you holding?

. I'mavisiting Professor there, teaching mainly the Postgraduate

Students.

. How's the department there?
: Well the department is good.
: What about your salary.

: They pay me very well, of course. Infact | get about

600 pounds a month.

: That's fantastic by our standards, isn't'it ? Sheela, come

here. Come and see who has come.

*kk
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AF-1650 BENA4

UG DEGREE EXAMINATION, APRIL2010
ENGLISH - Allied
Written Communication
(CBCS - 2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks
PART - A (10x2=20)
Answer the following questions, eachin a sentence or two:
1. What does ‘P.S.’ stand for?
2. Mention two ways of presenting information.
3. Mention four different types of'soup found on a menu card.
4. Draw any one sign that you see along the road.

5. What kind of problems do you think may cause young people to
take drugs?

6. Define ‘vegetable’.

7. Give a dictionary meaning for ‘hypocrite’.

8. Mention one wrong assumption about the television.

9. What is the difference between a miser and a spender?

10. How will you react to a poem?



I1.

12.

13.

PART - B (5x5=25)
Answer all the following Questions

a) Imagine that you were travelling by train to Delhi. Two men
were carrying 1079 grams of gold with them. They were

intercepte by the vigilance officers and the gold was seized.
Now, write a letter to your friend describing the incident.

(or)

b) Your uncle’s son is getting married. You haveto attend the
marriage which is on a wednesday. Write a letter to your
teacher asking permission to grant you two days leave to
attend the marriage.

a) Explain how you will make agood cup of tea.

(or)

b) Describe your daily habits from the time you get up till you go
to the college.

a) You have to attend your friend’s wedding tomorrow, but you
are not in a position to attend because your father is ill. Draft a
telegram to your friend expressing your inability to attend and
also wishing him on the occasion.

(or)

b) Draw any three mathematical figures and describe them briefly.
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14. a) Aslight accident has occured between a handcart and private
motor-car in a crowded street. The motor-car stopped
suddenly, and the handcart ran into the back of'it, breaking
the left hand rear light. A policeman arrives at the spot and
wants to take a statement about the accident. As the motorist,
how will you present the information to the policeman?

(or)

b) Write a report about the air pollution in yor town. Suggest
means to reduce it.

15. a) Write a letter of application to any institution of higher education
asking for prospectus and details of courses in which you are
interested.

(or)

b) Write a paragraph about an interesting incident that happened in
your school when you were doing your +2.

PART -C (3x10=30)
Answer any Three of the following

16. Imagine that you are an Australian boy and you would like to ask
an Indian boy who-has just become your pen-friend about his
country. Write ten questions that you would like to ask.

17. A man is wanted in the murder of an old couple. The information
about the man is given in the newspapers. Write a short news item
of the'man about his appearance that would come out in the news

paper.

18. Choose any ten words and write precise and general definitions
about it.
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19. You like watching the television, whereas your friend prefers
reading the newspaper. Write an argument putting for the
advantages and disadvantages of both newspaper and television.

20. Imagine that you are attending an interview. As part of their
interviewing technique and selection, you are asked to write about
yourself as you think others see you. Write a short essay about

yourself.
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AF-1651 BHIAL

U.G. DEGREE EXAMINATION, APRIL 2010
History - Allied
MODERN GOVERNMENTS - |
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks

Part-A (10 x2=20)

Answer All questions, each in about 2 or 3 sentences

1. State.

D&,

2. Unwritten Constitution:

SI(SLILILTE HTSUI06HIDLIL].

3. Unitary.

@neppwim &

4. QuasiFederal.

SlewIssaL LI sl

5. The spirit of laws.

FLLESH60T SxBLIGIITRSIT.



6. Bipartysystem.

8 a8 wpemm.

7. BillofRights.

2_rflewipaeiT DGFTSM.

8. Bi-cameral Legislature in England.

SndeonbPest FIBEES FLL LDESTDLD

9. Rigid Constitution.

EVBALDT HTFUIOEHLDLIL].

10. Election of the USA President.

SWifl&aT g2&SW HLigeir memdLs Csiis6v.

Part-B (5% 5=25)
Answer All questions each in about 250 words
11. a. What are the basic concepts of Constitution ?

ST FWeoemLDLILNET DHiQUILIEHL S CHMLLITBSEIT WTeneY ?

(On)
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b. Explain the merits and demerits of Written Constitution.

eWSLILLL SipdluieosmipLiLfledt Bemn Gemmaemear sflens:&s.

12. a. Write abrief essay as Unitary form of Government.
SOODWITLE WenpUDN] R &GO 6IWRS!-
(Or)
b. Give anaccount of the Presidential formof Government.

GQUITESHSEMEVAUT SpL FlLpemm LIDN HL.BEDT S(H5.

13. a. Describe the role of Rule of L.aw:in the Constitution.
SigdleosmLpLILNeD &1L G560t Dp1 & Libnf efleurfldhs.

(On)

b. Analyze the important functions of the Pressure groups.

SN(D5S S(EEHETET (LPSSUILI LI6oollSHemerT Ohis.

14. a. Tracethe features of the British Constitution.

Lrfl1geio SirdluisvemipLilfest AMLILTuLeoLg6iT LD 6uemrs:.

(On)
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b. Write about the powers and the functions of the House of Lords.

Nry&set FemLuflett SHHSMILD HMILD O\FWEOLITBSHET LIHNI 6TLPS).

15. a. What are the special features of the American _Legislative

Committe System ?

SH6WDlEs &1L LD6STH GLPLPenDUTHT AMLIL| HDEFHISET WiTeneu ?
(On)

b. How is the American President elected.?

Siewiflss SPurt ereueunm) CHMHESBSHSILGSDMT ?
Part-C (3x10=130)
Answer any Three of the following each in an Essay form.

16. Give an account of theFlexible Constitution.

WBS(LDLD ST FlievsmLbLIL| DML SLBEDT &(Hd.

17. Explain the nature and the merits of Federal Government.

Sl LTS SITSMMhISHSSET [HESTENLDERIIUILD, [Benn&enaTb eflemses.

18. Describe the features of the Administrative Law.

SpLfGg1mm FLLGSHetT BwieoLigemer efflurfl.
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19. Examine the powers and the position of British Queen.

SpmBCeow BIL@ dApdwunfler AHHsmrmemerwd usefullesr

IBEmESEMEITLILD Sp1S.

20. Critically examine the composition and the powers of the American

Senate.

Si6DI1&:8 C 1560 FEMLIUTET SHWLDLIL] LDHMILD HBSTITHRISHEDET HMETTIE)

OFUIS.

**kk
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AF-1652 BHIA2

U.G. COURSE DEGREE EXAMINATION, APRIL 2010
History - Allied
MODERN GOVERNMENTS - 11
(CBCS —2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks

Part-A (10 x2=20)
Answer All Questions each in about<2 or 3 sentences

1. Communes.
&LDUL6OTS6IT.

2. Swiss people’s party.
G616 D& SEIT S .

3. Referendum in France.

LNDEhH S GSLREWIMTLILILD.

4.  Quasi - presidentialrule in France.

LNpmetTl6sT SHewr R6vTTHLIS Spl°&l.

5. Supremg state conference.

2 &5 Sigs HIE.

6. Communist party

sLbuevfleioL &L &l.



10.

11.

12.

Mikado.

WS &TELT

Meiji constitution.

1528 DiplwieoemipLiLy.

Commonwealth of Australia.

Op61085,5BI60ILI HITLDEITE1EUEVS.

Main political parties of Australia.

OpsvdCredlwimeedt (&S Hpdluwleo s dlse.

a.

Part-B (5 x5=25)
Answer the following each.in about 250 words.

Bring out the significanee of plural executive in Swiss
constitution.

aefley  Sipflweoemwlifled LeiTeMDd  E\FWMHE W66t
WPEHBWS G)6156058 C\&TETTHHBS.

(Or)

. Discuss the importance and role of Swiss Judiciary.

sefley BESgHIemMUietT WPpHBWSG QD DHMID Lirkideneot

sfleund.

Write about the method of election of the President of France.

NpestSleT Glpuins:s SHensoaut G5iTE60 (LpewM LIHNI 6TLD&Is.
(Or)
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13.

14.

15.

a.

a.

a.

. Write a brief essay on Local Government in France.

NoredtdletT 26T &) AHTFTMHRISMHISE6ITL LD (1 &L HewT
61L&

Explain the fundamental rights of the people of China.
Fevnoaserflesr ligliLienL 2_flemipase L 6Nlend@&s.

(Or)

. Discuss the powers and the function of Standing Committee in

China.
Fevreflett [Beme0s:&pelesT SISSMTLD DHMILD E\FWIEOLITBES6T
umbn) efleundss.

Explain about “Mac Arthur’* constitution.
6\LD8 SPTSIT TSl uwIevswLDLIL| LD efleTsEs.
(Or)

. Examine the powers and the position of the Prime Minister of

Japan.

UG LATSLD HeWLDF&ITl6dT HHSBMITRISET DHMILD LigefluTletr
1BemeoLIH) D1,

Discuss the Constitutional History of Australia.
OpsBCredll AHTHWe0emLDLIL| 6uFeOmm) LIDNS) 6Meuns&s.
(Or)
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16.

17.

18.

19.

20.

b. Write about the House of Representatives of Australia.

SpevdBredlimeflett LIpSBH a6 FemL LIHN euemTs.

Part-C (3 x10 = 30)

Answer any Three of the following each in an essay form

Describe the salient features of the Constitution of Switzerland.

seflgeonbg) SipdlwicosmipLiLfNedt HApLifuieoLigserT b sfeurl.

Write about the National Assembly in France:

Nometrdlett GgHelul FLLLDESTHLD LM €TADEI.

What are the special features of the constitution of China?

Feo1 ApdluieoemibLILNesT AMLINUIEOLSH6IT WITemey ?

Trace the growth political parties in Japan.

liLmevfledr Sipdlulev &L Haerfletr euerigd LD cuemrs.

Write about the position and functions of the Governor - General of
Australia.

SpedCuellw seurtenti 1gzevrredlett [Bewed DHMID LisvoflgeiT
SHBWANDHEWD 6T(LDE)-

skkok
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AF-1653 BHIA3

U.G .DEGREE EXAMINATION, APRIL 2010
History - Allied
INTRODUCTION TO TOURISM
(CBCS - 2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks

Part-A (10 x2=20)
Answer ALL Questions, each in‘about 1 or 2 sentences

Distinguish Travel and Tour.

LIWI6TOTLD LDMHMILD SHHMIEOT Db Bl Grevorigeneotd CaumiLIBSS)s.
Mention two of the indirect job opportunities created by tourism.
ahmieoneflesrmed L @HOUMSSLULGBILD WedMUPs GCeuemed
QUMLILIL|BETH6IT Srevotenl GMILILNBS.

In which year wasFTDC created in its present form ?

BB &DHMIEOT 6u6NTTEHS SHLPSLD SHEWITLPG 2_6iTarT [Bemeouded
615S DHE0(B 2_(HOUTHSLILILLE)] ?

Name the present State Minister of Tourism in Tamilnadu.

SLOILDIBITL 65T SMHEWITLDENSILI SHDHMIEOT HEWLDEFT65T QIIWIT Fo M.

Explain the functions of India Tourism offices abroad.

caefipn@seafleo dlewwbmpgeter  @rHw  &DOmieon
SNYIEUELSTISEI6IT LIGTollg:emerT 6516118 &.



10.

11.

12.

Classify the different types of bus services available in India.

Spduinsfleo 2_ser GLHHE Coemerulenes auensLILIBSSIS.

What is the advantage of making tourist advertisement through

Television?

E1FTEmEVSSITL & eLPEVLDITS SbmIeoT eflembLITILGSSLILIG6euS6vTTE0

2_6IT6IT Di60)|FL60MRIGHET WIMG| ?

In what ways a Tourist map is different from otherkinds of maps ?

SDMIEOIT 6UEMILILLD DD EUeMTLILMIS 660 (B! eTev6uemS:SH6rfle0
CamLEBnE ?
Define a hotel.

BaITLL 6V 6T63TLIS6WEDT 61l61TE: &85

Which is the largest travel agency in the world ?

2 _608Ge0CW! LsLIEOWIMIWL LILIERT (LP&HEDLD 615 ?

a.

Part-B (5 x5=25)
Answer the following questions each in about 250 words.
Trace the development of Tourism in the modern period.
IB6160T HM60&5BE0 SHHMIEOT 6u6ITITEAUTNCHEST Db TMLIS.
(Or)

. How Tourism serves as a medium of earning foreign exchange ?

SOMION eTeueumm SNBBW eFeoneuenl FLBUSHES R
LDITIT&&LDMS LIWLETLIGSDSI ?

Explain the organization and working of the Ministry of Tourism.

SDMI6OT HEWDEFHSH6 SHeWLDLIL| LDHMILD E)FULIEOLIMBE6mENT
eNes&s.
(On)
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13.

14.

15.

a.

a.

a.

. Describe the services of Tamilnadu Tourism Development -

Corporation.

SWODHTE &DHMIEOT eueTTsdls &LP&HSHH6T B5emeusener

efleurflg:s.

Write about the Indian Civil Aviation.

8w LwenllgeT sflbnel GLUTSGaIISS GNSSI 6T(LDSIS.
(Or)

. Write about the Indian Railways.

S guled eufSELD SHISSI 61W0SIS
Describe the various types of Tourist literature.
shmieon Beo&BISS60T O\eueGaIm) 1enS S0 eflourflgs.

(@)

. Explore different ways ofadvertising a Tourist product.

shmieoreflement efembLITLD 6\&UIeuSHHSTewT LiISoGeum) euLflsemerT
ObIMUIS.
Give an account.on the Heritage hotels of India.
Srduwnsfiest LmgbLfiuw eGHs6T GMSHE SMILIL| SHHs.
(Or)

. Explainthe services offered by a Travel Agent to his customers.

LIWIETOT(LPSEUIT SLD 6UMQEH608WLITET([HES GULPMRIGLD GF6mes:ener
eNes&s.
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16.

17.

18.

19.

20.

Part-C (3x10=130)
Answer any THREE of the following, each in about an Essay.

Explain the Socio - cultural and economic impacts of Tourism.

&MHMIEONENl6N FAPSHMUI, HEOMEFSTT, CWIMIHETTST SHT8SS5SEM60T
eNes&s.

Trace the history of Tourism organizations in India.

BB wineflev sMewTLILIBLD SHDHMI6OT SemipLiLig6rfledr sureomblement
OHTMLS.

Describe the various modes of transport available to tourists in India.
8ndwnsileo s&mmeonellenheE - HOLEGSLD LM
GUNTHGEUISHS FTSHEDT CUFHSET LIDN| FoM)is.

Examine the problems and the ways-of promoting Tourism.

&m0 GLOLDLIM QM@ eTMHLIBLD LT F6M6uTEHENEITUILD, HSMHEHTETT
QULDI6UEMEHEMEITULILD SHTTIIS.

Classify the hotel industry and describe the facilities offered by each
category.

SMIGLD B HEMEIT CUMSLILIBSS D606 61616UTETMILD GULPMHIEGLD
aUFDHSH6T GMSS) 6T(LDSHIS.
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AF-1654 BHIA4

U.G. DEGREE EXAMINATION, APRIL 2010
History - Allied

CULTURALTOURISM

(CBCS —2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
Part-A (10 x 2=20)

Answer All Questions, each in about 1 or/2 sentences.

1. Explain Cultural tourism with one example:

SEOMFEFM] SHMI60NHEnetT R TBSHIHSHTL BLET 6l6Ts&s.

2. Mention any one of'the races found in India along with its habitation.
8pSwnsiled smeTLILGD W6y BevTmhiSHEHET QR6iTENMD
Sleurserilett UL SGIL 6T Fam)s.

3. Whatis Ram Leela ? Where s it celebrated in India ?
gmibebeon eTedTmIey . eT6tTenr ? @HIwnefled g RIS
QBMEBuTLTLLILIBSDS] ?

4. Who built the Pancha Pandava Rathas? Where are they found?
LIEh& LIMETTL6) [STISH606IT [BITLDTETOlSSEIT WIT ? SHEMOUSEIT 6TThIS
ST LGS G ?

5. Write about the significance of the Basilica of Bom Jesus in Goa.
Gameursilled 2_sitem GLIMLD g3&6i0 GEH6UTeOLISSH 6T (PSS SHIOID
SSS TS



10.

11.

Which museum building of Kolkata is described as “The British
Taj” ?

6\5Me0555Tell6d 61hs SAHRISTLAWSS SLLLD LNflLipee STl
eT601” eurTenllBSLILIGSEME] ?

Locate the only Tiger Reserve of Tamilnadu.

SLOILD L 1R6dT G Li6Ols6iT LITGISTLILILLD eThig6iTeng ?

Name the Garden city of India.

Srdwneflest CHM L [B&HILD 615 ?

Which is the headquarters of WTO ?

2_608 &DMEVITE HLPSHSHH6EI HENEVEHLOWISHLD 618 ?

Expand PATA.

LIMLLIT eT60ILD LIS B 6tt eflifleunasid samis.

Part-B (5 x5=25)
Answer ALL Questions, each in about 250 words.
a. Estimate the influence of Buddhism on Indian culture.

BB seonEFTISH6N 158 LSS LDSSHDE S8 55 emeut
SIINBS:
(Or)
b. Explain any one of the major events that turned the course of

Indian history.

8w eugeonHMen SHLLPEDETWITSG H&DHS (W&HSW
BaLpeysafled @senild eestemm eflensd samis.

2 AF-1654




12.

13.

14.

15.

a.

a.

a.

a.

Describe some of'the popular South Indian food items.
656ttesllib S 2_6v016) 616ME:S61Tl6D LATLICOLDMEITEUDEMM Sarm)ish.

(Or)

. Mention any five of the handicrafts of India that attract foreign

tourists.

SBdw emseflenestl OunmeTsafled QeuaflBr@Ge smhmeom

Liwlenflsemer Seurssalowl 6ICHEDILD eahdenent GMILLIBS.

Make a briefnote on the Jain pilgrimage centers.

&LD6UUT FLDWI WSSO H60mis6T LiHN] SnSlLL| uemrs.
(Or)

. Give an account on the Museums of Tamilnadu.

SLOILDIBITL Q6D 2_61T6IT SHIHMRISTLSWSTISH6T LD GNIILIL| 6u6mITs.
Write about the Tourists attractions of Delhi.
EIL6060IUN6DT SHDMYIEOIT HEUITESSHEWENT 6T(LDE IS

(Or)

. Describe two of types Hill resorts in the Himalayas.

BLUWSHE0 ( SlWDHGI6TNT CHTEWL QUTFSH &EOMHISET
SIETOTIENETIT Sl .
Examine the functions of the World Tourism Organization.

26085 HDMI6OT HLD&HSHBET E\FWEOLITBSHEDEIT SHTMIS.

(Or)

. List the major problems encountered by the Indian Tourism

Department.
SHSW HHMIEOTS GlewD 1T OSHMETEHLD LNTEFMEoTSHEmENT
aflens ILGSS5.
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Part-C (3 x 10 = 30)

Answer any Three Questions of the following each, about an essay.

16. Portray India as a destination for Cultural Tourism.
&6VIMESF SDIDEOIT EMLDWILDTS SHSWITEDE 6UIT6001185:5.

17. Describe India as a land of festivities and joy.

P& & E@HD, SHTHOWLD BODBHS HILMS. BbSWNene
UIT6T011 &85

18. Identify the popular pilgrim centers of the Hindu religion located all
over India.

SHHWIT 6MIGLD SlemLbbglsTer LFLeoLDTest @& D& WINSSHenT
SEVMISED6IT HEBLLITEITLD SHITE0015.

19. Explain how the wildlife sanctuaries of India attract tourists.

BHSW eu6tTeNevmIE SFTERMEIMISET SHMIEOM LILI6wollg:emer
e16)6f151D &6U(HBEMDETT 6T6TTILIENS; 6l61T5ESS.

20. Write an essay on PATA and its services to Tourism.

LITLLIT LDHMILD SHHDIEOT6EES &I SbDM 6uHLD CFeneusssit GMSS|
SLBMT 6U6mIS.

skkok
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AF-1655 BBEA1

U.G. DEGREE EXAMINATION, APRIL 2010
Allied Course - Business Econimics
BUSINESS ECONOMICS - |
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks

Part-A (10 x 2 = 20)
Answer All questions

1. What is meant by business firm?

6u6tvfle: [BMIEUEDTLD 6T63TMIMED eT6dTEDT 2

2. What is meant by profit-maximization ?

B! LGHUINEGS60 6T6TMITED 6T63T60T ?

3. Explain the term - “Utility”.

LwesTUN® — 6fl6T&&LD &(Hs.

4. Mention any two assumptions of utility analysis.

HwesTUmL® Spuleilesr gC5enID BTtr® HEW)ILDTEDTIHISED6IT
SMILGs.



5. What is meant by price line ?

6f6m60&BHM(B 6T6ETTMITEL 6T63TEDT 2

6. Describe ordinal utility.

S eurflemns LILIGSTLIML LDEWL 6516118 G5

7. Explain derived demand.

N ssLLrL CsHeneusmiul 6l6Ts s .

8. What is meant by indifference curve?

&L CIBT&:S 6UMETBST(D 6T60TMITEV 6T63T60T 2

9. What are the factors involved in demand forecasting ?

Bzemel (LpesTa6eunfiLILNe0 2 6iterT SMTemfls6T WiTemey ?

10. Write short note on.Long run.

IB6UOTL. ST6VLD eT63TLIENS HAMIGMILIL| 6u6DIS.

Part-B (5x5=25)

Answer All questions.

11. a. Explain Baumol’s Sales maximization principle.

unwnedlesr eflhLeneTmW WGSSWTHHED 6186 T6TENS DI
eNes&s.
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12.

13.

14.

a.

a.

a.

(On)

Enumerate the importance of Business economics.

auevollas ELImanerfluiedlest (wWaBuissieusms efleurflss.

List out the properties of Indifference curves.

FLDCBE5S EUEnETECEHT(BS6rl6d LT semerT LILRuIsSIBS:.
(Or)

Explain Consumer’s Equilibrium.

HISTGEUMT FLDIBEEVEMILI 65l61T8:ES.

What are the uses of demand analysis ?
BH6m6U DpIEHEST LILIETSHEIT WITED6Y ?
(Or)
Why does the demand curve slopping downwards ?

Baemeus@sn® e16tt GLD6OkIBES SDCHNSES euhSeTmE ?

Explain the Law of Equi-Marginal utility.
& @miPBemeo LiwesTLM G eflSufement eflens: s .

(On)
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15.

16.

17.

18.

b. What are the limitations of Marshall utility analysis ?

LDMT6260l68T LILIGSTLIM (B DpUI6S63T GEDMLITBS6IT WiTemed ?

a. What are the objectives of demand forecasting ?
Gzem6 (Lp6dTS6ETDTILILIEHT GBS SIS WITemeN ?

(On)

b. Explain the various methods of demand forecasting.

Gaeme (LpetTaeuuiiLILllett LiIsbGeum) (pedm&emer 6fl6me&s.

Part-C (3x10=230)

Answer any Three questions

What are the objectives of business firm?

6600115 [BMI6UETTTRISHETI60T GBS SHMRISEIT UITEWE ?

Explain the law of diminishing marginal utility.

GSODHSIMEL SMIBBENEd LILIGITLIML 6L 65618 E&8.

Enumerate the different kinds of demand with examples.

LIsoGeum) euemsLITET CHen6U6mL 61BSHSISTL(BLET 616178 E.
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19. Write short notes on :

a. Income effect

b. Substitution effect

dm &MILIL| 6uemrs; :
a. eugpLDITeDT flemerTey.

b. uBeS @G eflemerey.

20. What are the importance of demand forecasting ?

Bz eme (Lp6iTs6euufLILN6DT (LPSHSIISSIGULD WiTeneu ?

*kk
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AF-1656 BBEA2C

U.G.COURSE DEGREE EXAMINATION, APRIL 2010
Economics - Allied
BUSINESS ECONOMICS - 11
(CBCS - 2008 Onwards)

Duration : 3 Hours Maximum :; 75 marks

Section - A (10 x2=20)

Answer ALL Questions.

What is Isoquant ?

&LoBemeo 2_MLISH8 GsM( eI6t1DITeD eT6dT60T ?

Write short notes on “Production Function”.

2_pugd ey ubml SNl GHILL e1RsIs.

Mention any two-differences between Money cost and Real cost.
LIEWTE 61&606)] LDMMILD 2 _6WTEWIDE L1F6V6YSHSLD 2 6o b
GaumunGaeneT SOILLIG.

Define - Selling Cost.

6flDHLIENEITE 61F606) - EUEDTIM).

What do you mean by Equilibrium of the firm ?
Bmieuest &L0IBEm60 LIHMN EILIMIHET Sam)s.



10.

11.

12.

Explain the concepts of Equilibrium price.

&LD [Bemev eflemevemiLl eTeusumm) STLoMevlisSLILIGSDS] ?
What is “Monopoly” ?

PpHMIfemLD 6T63TMITEL 6TETENT 2

What are the features of Monopolistic competition ?

wpimyrflemiols GUIMLIQU6IT HE3TEMLDS6IT WiTeme ?

Point out the relations between Price and Output.
2 Hus5s wHm elemeo SpBweupmdlelr QOSTLTLNemeT
euefLILIGSS)s.

Differentiate short run and long run.
SIS &IT6d LDHMILD [BETITL ST60G6WE CaumILIBS S5
Section-B (5x5=25)
Answer-ALL Questions

a. Explain the Cobb - Douglas production function.
SITLI -L&60erdl6dr 2_HLigd &millemeot efleurfl.

(Or)

b. State the reasons for Law of Increasing Returns.
BUETTITTES, 61560 6fllemeney 6158:@ SHTIERThISHEN6TS SBILLIBS.

a. Bringout the characteristics of opportunity costs.
aUMLILIL|E 6)5606f63T FEoTEMLDSW6IT Gl6U6TlS: 61 METDTITE:.

(Or)
b. Illustrate with diagram of short run average cost.

SMIBWI ST6d FONEIT E1F606W6N LILSZHIL 65T TGS 1S SML(B.
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13.

14.

15.

16.

17.

a.

Distinguish between Market price and Normal price.

&heng eflemev, sngnrevo eflewed SpBwauHenn CaunLGSSIs.

(Or)

. What are the factors that determine the supply ?

SterfilienLis Sipmevulle@Ld snemnflae Wwimeneu ?

Explain the various types of revenues.

LIsoGeum) UIHEUMLISEDET 651616 S:.
(Or)

Describe the characteristics of Perfect Competition.

BemmeyLs Guim1Quilest SetTempgenselT sflurfl.

Explain the product differentiation:
2_Husd OLINH6T CaumILIBE 5|56 6618 G5
(Or)

. Discuss the wastes of Monopolistic Competition.

womirflemwls GumLiguiest eflpwirtisemear sfleund.

Section - C (3x10=30)

Answer any THREE Questions

Critically examine the Law of Returns of Scaled.

LigHLD eflemerte) eflSulenesr SmevtmiieyL et G5nsemneoTu(Bs.

Explain the importance of cost and revenue curves in business.

slwmunpsded eumeums - 6Gsevsfleors Ban®aeflesr

PHBWSZI6u56mS efleurfl.
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18.

19.

20.

Give an account of Elasticity of Supply.
Serflli QBSLpFAuTement LD eflenssLD &hH.

Explain the equilibrium of a firm under monopoly in short and long
run.

wphmiflenbuileo Gm@w wHmD BeworL smeo_. Bmieuewrs
&LoIBenevsmL 65165 S8,

Critically evaluate price and output determination under
Monopolistic Competition.

apbmiflenibll Guntiguiled 2 Mg hmiLD eflewed SromesfliLieng
LSINBS.
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AF-1657 BBEA3

U.G.DEGREE EXAMINATION, APRIL 2010
Economics - Allied
INDIAN ECONOMY
(CBCS - 2008 Onwards)

Duration : 3 Hours Maximum :; 75 marks

Part-A (10 x 2 = 20)

Answer ALL Questions

What is meant by economic development ?

QWIMBEMTSTT GLDLDLIM(S 6T63TMIN6D 6T65T60T 2

Briefly explain mixed economy.

&60LILJLI QWLIMBEITSTILD 6T60TLIENS, Sr(HS&LDNE: 616118 &.
Write a short noteon death rate.

Sl B 6T60TLINS, F(HEHSLDIS 6UEDTS.

What is meant by population policy ?

LD&S6IT EYSHITENS: 61GHITETENS 6T6ITMITEV 6T60T60T 2

Define human capital formation.

LD6315 ELPEOSEUT Sp&ELD ETEITLIENS, CUEDTIITYE: 5.

What is meant by physical capital ?

SWID ELIMB6IT FMTHS CLPEOSHEITLD 6T6TTMITED ETEITETT 2



10.

11.

12.

13.

Briefly explain small scale industries.

fmy e\gmplevset LhHM) s h&sLons efleurl.

Write short notes on Foreign capital.

Sletrevflul eLpevsevTLd LM m) GMILIL| euens.

What is meant by Economic planning ?

QWIMBETTSTIS 'L LISIL6D 6T63TMITED 6T60T60T 2

Define financial reforms.
BEg FTHHSSLD 6160TLINS CUDIIMN|EE.
Part-B (5x5=25)
Answer ALL Questions

a. What are the features of mixed economy ?

&60LILJLI ILIMAB6ITTSTTSS60T SUIEOL|S6IT UITEm6Y ?
(Or)

b. What are the factors determining the economic development?
QuUTGBeTTSTT GIDLIMLIQEnen STDNeslle@&WD Smyeufls it
wimeme ?

a. Explain the importance of Human capital formation.

LD6VT1S eLpev6aT Sl Aul6dt (LPSHBUISSHIEuSmS sfleurf.
(Or)

b. Whatare the external source of capital formation ?
CLPEVGH6TT BT S SHBHIT60T 616161118 SHMIETUTlSHEIT WiTeney ?
a. Explain Malthusian theory of population.

LDT6VS 60T LDESET 615 M6ms GHITLLIML Ipemeut efleurfl.
(Or)
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14.

15.

16.

17.

b. Discuss India’s population policy.
BB Wefl6dr LDSSHETE1HTENS 61&HTETENS:SHE06IT 65l6UTSHE: 5.

a. What are the problems ofIndia’s Five year plan ?
Spdwnefledt bSTeITB HI'L&HH60T 6:860861T WiTemex ?
(Or)
b. What are the objectives of 10" Five year plan in India ?

Srduneilest LSsTEIE LHSTIB HLLSDET CHIsSMmISHET
wimemey ?

a. Explain the role of small scale industries to' Indian economy.
SHSHW OILINGHMSTISSE0 Sm) O\FTLHle LimiSemeot sfleurfl.
(Or)

b. What are the problems faced by small scale industries ?

A5 MN60&6IT FHPSHBEND &&HSH6086IT WITEn6Y ?

Part-C (3x10=30)
Answer any THREE Questions
What are the-characteristics of developing economy ?
GUETTITIHE) SUBLD EYLIMIHETTSMTISHS60T SUIEOL|SHET WITemex ?
Distinguish between human capital and physical capital.

6318 ELPELSETTLD SWIDSTHS eLPEOSETLD BTEMTIMHESLD 2_6iTer
GeumUIMLIREW6TT F6e M),
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18. What are the causes of growth of population ?
LD&SHEITE\HTENS: CUEITTEHIHEHTET HMTCITHISENT LITEWE ?

19. What are the problems of small scale industries ?

dm) egmlevserfles LNTsSleneots6i wWitemeu ?
20. What are the achievements and failures of Five year plansin India ?

Spdwneisd RhsTeTG SULmS6T6T FMgHewesrssT DHMILD
efilp&daer wimemey ?
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AF-1658 BBEA4

U.G.DEGREE EXAMINATION, APRIL 2010
Economics - Allied
INTERNATIONAL ECONOMICS
(CBCS - 2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks

Part-A (10x2=20)
Answer all Questions

1. Define Internal trade.

2 6B (B 6UMEUOiiLILD 6T63TLIENS 6fll6Ts: &8,

2. Write short note on comparative cost.

RUILILG 615606) 6TGTLIENS FMIGDILIL| 616DTS.

3. Explain the term “Protection”.

QSMLOEL LITGISHTLIL] 6T63TM) 61&FT606M6D 6516118 &8

4. Define quotas.

LIRIS6T6Y 616mTWIM)I& 5.

5. What is meant by Balance oftrade ?

aumesoflLl ELDMBemev 6T63TMITED 6T6BT60T 2

6. State the two components of balance of payments.

SIWIeOBTL B 61569158 [Bemeoullest Bretni® 2L SamisHeners Samis.

1



10.

11.

12.

What is meant by stable exchange rate ?

IBEmEOWITEDT [HIT6wTWLI LDMDHM) 655D 6T63TMITEL 6T63TENT 2

Mention two methods of exchange control.

SibBuw e\geomeunenfiludiesr &1 GELML® Lpewmuied SretoTioemente:
CIIRIG

What are the two objectives of W. T. O ?

W. T. O. eflett @uemor® GHT&SMHISET WTeney ?

What is meant by International liquidity ?
LI6BT6uTTL (B [BIT6WLD 6T63TMIT6D 6T60T6uT ?
Part-B (5x5=25)
Answer all Questions
a. Examine Hick - Ohlin theory.of International trade.
B8610 - Pe0letT LitTEvTL (B -6uM6tofiLl GSHMLLIMLIQ6METT DU IS.
(Or)
b. Enumerate the gains from International trade.
LIGSTEDTITL (B 6UMETILISH 60T LIGOEITHEMEIT SIS
a. What are the effects of Dumping ?
QIINIBET G658 6060 eflemearTeys6it wimemey ?
(Or)
b. What are the arguments for free trade ?

SE0LUN6v60I EUTETTILISSNE SHSHTOUTE QUTSHHISHEIT WITEwe ?
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13.

14.

15.

16.

a. Discuss the causes for disequilibrium in the balance of payments.

SWeBTLG 6555 [Heweouleo &oBeneouflesremip
DLGEUSDSTE SHMTEUUTRISHENET 65l6UTS5 8.

(Or)
b. Explain the various components of balance of payment.

SlWeoBMLB OIS Beweoullesr LisvGaum) 2 1 &a M) 8 emerT
efleurflg:s.

a. What are the various objectives of exchange control ?

Siedrevfll Q\gFeveumentludett s GLIML 68T LisoGaum) Crbmasmhig6iT
wimemey ?

(Or)
b. What are the methods of exchange control ?
Sletrevfl E\Feomeu6sila SLBUMLB (LPMMESEIT WITeme ?
a. What are the functions of W. T. O ?
W. T. O-6fll6tt \&u160LIMBSHEIT WITEmEU ?
(OR)
b. Evaluate the achievements of I. M. F.
I. M. F. -6t1 sngements6iT DBLILINBS:.
Part-C (3x10=30)
Answer any three Questions
Bring out the difference between internal trade and international trade.

2 eMBMG eunenflLgsSHGSLD ListTerm® eunemflusHhHESLD 2_6iterm
GaumLIT@EseneT 615616y LIBGSSIS.
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17.

18.

19.

20.

Examine “Protection is not only the need, but also inevitable for an
underdeveloped country”.

Qn eueTiEd] GetTMw BILIHS O\SMPD &ML eTetTLg CHeme
DL BLI6TD S6fliT6:8 APIQUITSSTESLD.—DpUIs.

Analyze the different concepts of Terms of trade.
aurmewfil 618510 LD LisoGeum) SHSSIS6IT Splis.

Critically examine the purchasing power parity theory of exchange
rate.

Sletrevil O\geveumenfl 6fldasLd LML euMMRIGSMetT oML LIML DL
SMETTIS.

Elaborate the purpose and functioning of International Monetary
Fund.

uiesTeoTTL B prrsvorit [BHUTN6sT GrbiTss&emSLLD 61&UIED LITL6BLU|LD
efleurfl.
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AF-1659 BPSA1l

U.G. DEGREE EXAMINATION, APRIL 2010
Political Science - Allied
CONSTITUTIONAL DEVELOPMENT OF INDIA
(CBCS—2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
Part-A (10 x 2=20)
Answer All questions
1. Sepoy Mutiny.

SlLum &eosLb.

2. Indian National Congress.

8w G sMmiSTeiv.

3.  Wahabi Movement.

auammi GuissLb.

4. Dyarchy.

Srremrwmd.

5. Simon Commission.

EMEFLDEIT G (LD-



10.

11.

Non-Cooperation Movement.

R55|EDLPWITEDLD BUISHSLD.

Federalism.

SalLm &l

Provincial Autonomy.

LD &IT600T SrlimL &,

Constituent Assembly.

SirdlwieoemLbLiL| [BIT6voTL &6mLI.

Constitution.

SNTHW60eMLDLIL| FLLLD.
Part-B (5%5=25)

Answer All questions

(@ Explainthe background of Government and Politics of India

upto 1740.

1740-1D Spetor® 6uewT PHIW HTHwied HTSAuled HMILD

Sipemmssdeo Beoeflwl Neitesrenfl @mg s efeurfl.

(On)
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12.

13.

14.

(b)

@)

(b)

@)

(b)

@)

Explain the important features of Indian Councils Act 1861.

1861-1D Spe001(B BbSW sey6eitdled FL'LLD LD 6MeTsH&s.

Give a brief account of Home Rule Movement.
Gammbened Guwiss LD M GHILIL| UeHTs.
(Or)
Discuss the important features of Montague-Chelmsford
Report.

LoetTGLG O\FLDBLMT(B DN S6nSUNETT (LPSHBW DHLDSFHISEmErT

efleurfl.

Discuss Round Table Conferences.
alLL Goeneg DNBIB&6T GMISS) sfeuns.

(On)

Explain Two Nation Theory.
BHCs8s O\&MeTems LIMHM) efeurfl.

EXplain the basic characteristics of Indian Federation under
1935Act.

saLLmfluflett SlgLiLienL GewrTSFwmisenar efleurfl.

(On)
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(b) Discuss the Provincial Autonomy under the Act of 1935.
8BS STSulemeoLiL| FILLD 1935-60T LI LDTSTE0T FLimL &l

L efleur.

15. (a) Explainthe Mountbatten Plan.

6WemetoTGLILL 65T SLLLD LD 6flems&s.
(On)

(b)  Enumerate the framing of the Constitution of India.

8HSW STdluieoenipliL] FLLLD 2 heunssLd Lib) efleurfl.

Part-C (3x10=230)
Answer any Threequestions.

16. Write an essay on Indian National Congress.

8w Csalw snmdren Gss R SLGT aenTs.

17. Examine the importance of Indian Council Act of 1909.
1909-1b S4eIB BHSW SH6j6tT6d &1 LSH60T W&HSWSFHieud Lbhn
efleurfl.

18. Enumerate the salient features of the Government of India Act
19109.
1919-1b SperT® BB JT& FLLSHET WPSHSW FomiseT SMSS
efleurfl.
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19.

20.

Enumerate the political development during 1935 to 1947 in India.
Spdwinefled 1935-60BbGI 1947 LD Sbe6o1(® 6uenT BaLPrEE HTSwed

LDMTHDEISET SMSE efleurl.

Discuss the legacy of the British Rule in India.

Spduneilih@ SpmBGeow Biieuns umseflliLssT LDB) sfeurns.

*k*k
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AF-1660 BPSA2

U.G. DEGREE EXAMINATION, APRIL 2010
Political Science - Allied
PUBLIC ENTERPRISES

(CBCS)
(2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
Part-A (10 x 2=20)

Answer all Questions

1. Meaning of Public Enterprises.

ewng) eumesofiLl [BmeuesTHIS6Yfl6dT E\LIMBSIT.

2. Financial objectives of Public Enterprises.

ewng) eurevoliul ByeuenTmiseledt BHuNwied GBT&sLD.

3. Public Corporations:

O IUNG| SLPSHIGET.

4. Public Trust.

g BAwiLb.

5. Board of Public Enterprises.

QIINEISSIemD eumewdilLl [BMI6u6sT &LpLDLD.

1



6. Delegation.

SNBSHMT RLILIEDLLIL].

7. Public Sector.

OIS SlewM BMICUCTTHISENT.

8. Government Control.

AHIFMMHISS SLBLUUTG

9. Privatisation.

ST LDUILDITEE60.

10.Marginal Cost price.

GBS 6fl6nev [Biewruid

Part-B (5x5=25)
Answer all Questions
11.(a) Describe the:imeaning of Public Enterprises.

ewimg) eurevoflL BmeuesThISET eT6dTLIS 65T ELIMBerflement eflons & .

(On)

(b) Explainthe Nature of Public Enterprises.

ewng) eumesoflu BmieuesTiserfletr SestememuiLs LD eflens:@&s.
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12.(a) Explainthe Micro level Public Enterprises.

Ws& Snflw eIung) eurevsflLl Bmieuestmig e LbH) efleurf].
(©n)

(b)  Writeabrief note on Company form of Public Enterprises.

suemfl&:e1LINg) BnisuetTmigeT LD Sm) GDILIL| UEDTS.

13.(a) Describe the functions of the Board.

eung) eurensile @ pefesr Liswofllge LD efileuifl.
(Or)

(b) Explain Public Enterprises as Model Employer.

Qung eunevfles BmieueTmigsT @@ weirrdifluimesr eumewflL
Bmieu6stid- 6Mens@s.

14.(a) Bring out the key.issues in Financial management of Public
Enterprises.

ewing) euresoiiLl Bmisuevtriuserflett BHGLOeOMeTTTEmLDUT 6D 2_6iTErT
W&BW NpEFenenSH6T GNSE efleurfl.

(Or)

(b) Explainaudit control over Public Enterprises.

eung eunenilu Boieuenhisefied senflsans sLGUUTG LD
efleurfl.
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15.(a) Explain the Government Policy regarding Composition of

(b)

16.

17.

18.

19.

Boards.
eILIng) aunemfll G SHembLILNed STEMHISSSET O\&SMTETEns SMSI
Nes & s.

(On)

Describe the privatization of Public Sector Enterprises.

ewiImg) eurevoflLl [BmieuesTmISET SevflwimiT LDWIbTES6d LH) efeurfl.

Part-C (3x10=30)
Answer any three Questions
Describe the meaning, objective and growth of Public Enterprises
in India.

ewung eumewflu BmieuesTrgsT LHM OLMT@HET ,GBI&HSWD, WDHMID
D6t aueniisd GMsg) sfleurl.

Enumerate the working.of Public Corporation in India.

Sdwnsiled LTS SL&Mms6r 6 O&weLTES6T GSMISEI efleurl.

Explain the .Personnel Management and Industrial relation in
Public Enterprises.

ewngl-eumewflu [Byjeuestmisefled Liswflwiment GLoeomeoTemd LDHMILD
QBTN FTEMEVSHES ML BWIWITEI N6 SHem6rT 6H6MSHESS.

Write an essay on Financial Management in Public Enterprises.

ewung eumewilu Bmieuenihiseafled B Geonermmemid GM&HE @b
SL(B6MT 6UEMITS.
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Describe the secret trends and issues in Privatization of Public
Enterprises.
owng) euneoflul BryeueniiseT Sevflwinm wibTSSILG6SED 2 _6iter

urfiomemTrsemeaT, LNTgdlenesHemaTiLD 66T @ s.
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AF-1661 BPSA3

U.G. DEGREE EXAMINATION, APRIL2010
Political Science - Allied
POLITICAL IDEOLOGIES

(CBCS)
(2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
Part-A (10 x 2 =20)

Answer All Questions.
1. Individualism.

Sevflggleuld.

2. Police State.

SHITEUEO &

3. Definitionof Socialist State.

&LDSITLD SITE60T EIITIHET

4.  SurplusValue.

&.(B&60 LDBLIL.



10.

Nature of Democracy.

LD&&eTLFlufedT S63T6emLD.

Nazism.

BEFLD.

Division of Powers.

SNSHMILI Lrugserflii.

Evolved Constitution.

2_[Heun&i SIr&lIe0smIDLILY.

Women Suffrage:

G\LIGTOTSHEIT QTS GIflemLD.

Montesquieu.

LDITEDTEIL 6108 L.

AF-1661




Part-B (5x5=25)

Answer all Questions.

11.(a) What are the functions of State according to individualistic
theory.

Sevllggi68 G LML 1p6tT SLprest g6t LiswofllseT witewey ?

(©n)

(b) Explainthe utilitarian views on state.

ST& LHMIW LWIETLIBOUNSS S(hSEIHSHN6T 6fl6Ns:&s.

12.(a) Distinguish between socialism and communism.

FDGITIDE& E\&MeTend DHMID &Hbuyesflens OsmeTens @euhHenm

CanLGSSIs.

(On)

(b) Writea short note on the Judicial theory of state.

Sig&: upMiw BE&ECaMLINE LD Hm) SMILIL| euenrs.
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13.(a) What are the different kinds of liberty ?

&SHBISS60 LI0BEIM) CUDSS6IT W6 ?

(On)

(b) What are the sources of Law ?

UL SS60T SHSMIHISEIT WITEn6N ?

14.(a) What are the different forms of Government ?

SIIFMMHISSS6IT LISOGEUMN)] 6U6NSSH6(T UITEn6Y ?

(@n)

(b) Write a short note.on.Federalism.

garLm & ub) Am SHILIL| euewTs.

15.(a) Write a Short note on Rule of Law.

FLLEF6I Sy 8 Lbnl Hm SIlLIL| euemTs.

(On)

(b) What are the functions of Executive.

6\FWIEONE&:55I60mulledt ListollgerT wimeney ?
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16.

17.

18.

19.

20.

Part-C (3x10=230)

Answer any three Questions.

Explain the origin and evolution of the State.

Sipdlett G5MDMLD LDHMILD 6TW&S LDNS 6fles:&s.

Explain the arguments in favour of Socialism.

FLDGITLDE: C\HTETENSHEHE IhSTelTer sfeunsmiset LD eflems&s.

Distinguish between direct democracy.and indirect democracy.
Gmrle W&SeTMLE WOMID WMDAPS W&ESHeTTLS GeuhHenm

CamILIBSE5.

Explain the features.of Parliamentary Government.

LINIMEBLDETTD HTEFNhRISSHS6T GUI6OL|SHE06IT 61078 ES.

Write anessay on the importance of Administrative Law.

Bieun&& &1 L sH6tT Wp&SWSg 6D LIHN @ LGOI 16DIs.

*k*k
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AF-1662 BPSA4

U.G. DEGREE EXAMINATION, APRIL2010
Political Science - Allied
DEVELOPMENTADMINISTRATION

(CBCS)
(2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
Part-A 10x2=20

Answer all Questions

1.  Written Constitution.

TURSLILILL SNTSLIEOEHLDLILY.

2. Rightto Equality.

&5 561 2_iflemLD.

3. Veto power.

6flGLm SiFsnyiD.

4. Centre-state Relations.

DSSW - B0 2_Mmeys6iT.



10.

Poverty.

6UMI6WLD.

Extension.

effleunssLb.

Cultural System.

SHEOMEF (LPEMDHEWLD

Local Democracy.

&6V LD&SHETTL .

Evils of Bureaucracy.

BN Q&S 5H 60T SeMIDS6T.

Spoils System.

sroLImulev. pemm.
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Part-B 5x5=25

Answer All Questions

11. (a) Whatare the emergency powers of the President of India ?
8w GRWISS Semevalfle ABmHEsY Baned HH&HMIMmISET

Wwimeme ?
(Or)
(b) What are the powers of the Speaker?

FUNBMWST6ET SHSSHMTHISET Wneney ?

12. (a) Write ashort note on States Reorgnisation.

omBeoraaeit FremipLiy LbhM Hm GMILIL| euewTs.

(©n)

(b) Write.ashort note on Advocate General.

DBV 56WEEMLD ULPSSMIEHIT LIDN HMI GILIL| euenrs.
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13. (a) Explainthe meaning of Development.

GLDLDUIML Q6T QWIMEBET LN 66 &s.

(On)

(b) Write ashort note on Political Development in'India.

Sdwnefled Sipdluied GLTE GNISS FMIGNILIL aleDTs.

14. (a) Describe the functions of SocialPolicy.

FeLp&H& E\&MeTemsHuleir e\FweoLImBaHemern efleurl.

(©n)

(b) What are.the factors of Growth ?

QUETIEHSSTEOT SMTETIGET WITemey ?
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15.

16.

17.

18.

(@ What is meant by Administrative Ability ?

Brieun&:s SMmeT e163TDIT6L 6T60TE0T ?

(©n)

(b) Write a short note on Bureaucracy vs Demaocracy.

Py eussd VS wasermidl upnl fn) Sl euenrs.

Part-C 3x10=30

Answer any three Questions

Describe the powers and functions of Ministry of Finance in India.
8ipdwinefleo B8 SiemDEF55S 60 ANSSMIThISBET LDHMILD C\&FWIEOLITBSH6IT

&Nsg sfeuflss.

Explain the role of. Governor in State Politics.

mBeo Spdlwedled S embiflesr Lmidene eflonsEs.

Distinguish between Public Administration and Development
Administration.

ewing) BrieunsLb HmLd Gobunt G Bireunsb Geubhsnm CaumiLIBS)s.
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19.

20.

Bring out the development role of Public Adminstration since
Independence.
sfBsemevsGL Lot a1Lng) Brieunssdesr GWLUMLGL LkiSeneot

euerfls 6\&memoTis.

Write an essay on the issue of Generalists vs Specialists in
Development Administration.
Guwwurt@ Brenssde aungll uenflwreriser VS oLyl

uewflwmenise LIg&FSlement GG R &L BEDT 6UDIS.

*k*k
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AF-1663 BCS1A1

U.G. DEGREE EXAMINATION, APRIL2010
Corporate Secretaryship
OFFICEAUTOMATION

(CBCS)
(2008 Onwards)
Duration : 3 Hours Maximum : 60 Marks
Part-A (10 x 1% = 15)

Answer all Questions:
All Questions carry equakmarks.

1.  Whatis Replacing text?

QUTSSUISEWS LDMHNNULIEHDLDESEHED ETEITMITED ETEITETT ?

2.  Define *‘Margins’.
sflerflbLs: Can(® euewmwimy.

3. Write about Tap Stops.

UL BOISELD LD 61LDE18.

4.  How do you create page breaks ?

LSS LW [ 6TeveuTM)| 2 (HeuTe@Seuil ?



10.

What is main document ?

(PSEITEMLD SH6UETITLD ETEITMITEL 6TETE0T ?

What do you mean by ‘toolbar’?

sefllLCenL L) 5 Sirleug) wing) ?

State the formula for computing SUM in Excel ?

Excel-6b garLed e\guieughaner &58156me 6156,

What is the use of arrange option’in excel ?

Excel -e8leo 2_eiterr gMie\su1560 E1&M@LILN6ST LILISSTUITE WiITg) ?

What is Power Point.?

LI6IT LIMUI6BTL. 6T63TMITED 6T60T60T 2

Define - ‘Slide’.

dlemeo(® - euenIWIm).
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Part-B (5% 3=15)

Answer All Questions.

11. (a) What are the differences between Creating and Opening a

document ?
RT SpeUeTT 2 [HAUNSHSID OHMID  Spelswr  SoLL

BreGsGLIenLGW 2_siter GeumiLIn® Wing| ?

(On)

(b) State the procedure for printing a Word document.

RAT DS SHEUEWTISHENS L6y s1B&HGSLD (pewmenwl sfleurfl.

12. (a) Write short note-on “Auto Correct tool”.

“gnGeor &fl LD Smell” LD Ay SMILIL euemrs.

(On)

(b) Listand explain the five type of charge case.

Eh| UHSILITET 6T(LDSE] LDMDM) (Lpewmuensor Litiou 1601 ® efleurfl.
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13. (a) Howtodraw atable in Word document ?

6T(LDE| DHEUCTITHSHE0 AT HLL CUETETITEMLI 6TEUEUTD) CUEHIEUMLI ?

(On)

(b) Write about the procedure for inserting/ Pictures in Word

document.

(LRSS SHEUTIHH6D LILSHEDS 615([HGSLD (LPEDMemIL LIHI 6T(LDEIS.

14. (a) Define “cell”. How will you.clear cells ?
[/ 600T6T0T6MT  6UEHTUIM). - [HI6TTTTENT6mW! B 6T6ueUTm) & &SLD

Qswieumul ?

(On)

(b) Drawthe steps to delete sheets in excel.

Excel-greaemen Ba@&6ug) O\SMLITLITE LIQS6werT 6u6mIs.
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15. (a)

(b)

16.

17.

18.

How to open an existing presentation file ?

&8 FDMNSSLILILL GaTLIEmLI eTeueumm) HoLILimil ?

(On)

Write the procedure for changing box colours.
e ieuiledt BN &ems; LDMHMILD LPeDMUTEWEDT 61(LDEIS.
Part-C (3x10=230)

Answer any three Questions.

Create a simple presentation in Power Point about your
achievements.

2 615 FMSEMEVSHEWENT LIGUT LIMTUIEITIQEN FMGHTIEWIDNS 2 (HeuTsHS

FoMi&&a)LD.

What are the calculations may be carried out in excel? Listand
explain.

Excel= 650 aisuiu@io sersSBa6T wng ? L ipuied @ efeurl.

How to merge the merge document and data source? Explain.
BOEWTLIL DhOUTMSEMSWLD, 6flLT ePLSEDSUILD 6eTeNEUTD)

Bemevoriumii ? efleurfl.
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19. Write short notes on the following:

(i) Cut. (i) Copy.

(i) Paste. (iv) Move

LfetT augpeueTTOUDMING FMI GSDILIL| 6uemTS.

()  setmesseo. (i)  meev:
(i)  erese (V) momsso.
20. Explain in brief, how te.perform calculations in a table at
Word document ?

TWDSS DHEUTIHHET DL L EUEnETTUTN6Dd SH6mTEHSBHEMET ETeUEUTM)]

E\FWIOLIBSSIOUTU! 6T6TTLIENS; Sr(H&SLDMS effleurfl.

*k*k
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AF-1664 BCS2A2

U.G. DEGREE EXAMINATION, APRIL2010
Corporate Secretaryship
PRINCIPLES OF INFORMATION TECHNOLOGY

(CBCS)
(2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
Part-A 10x2=20

Answer All Questions.

1. Whatis control unit ?
SLELIUMLG FNSHEDILD eT63TDITED 6T60T60T 2

2. Whatistechnology ?

E\FMLO6D [BILLILD 6T63TMED eTedTenT ?

3. Differentiate Software from Hardware.

G\LDESTEINIHEMET Slgeut EWLIMherfleOlBba CaumILIBGSSIs.

4. Whatis interpreter ?

GWDMLAEIWITLILY T63TMIT6L 6T65TE0T 2



10.

What do you mean by network ?

auemevWlenLDeY LD 1B Sinfeug wing) ?

Define ‘Database’.

‘ 53660 HATLD” - EUEDTUID).

What is Modem ?

GLDITLLD 6T63TMIT6D 6T6BTE0T 2

Define “Software Development”.

GIDESTEWIMIBEIT Db&E&LD 6TEITMITED, 6T63TE0T ?

What is Hard Click ?

SIQ6vT SL-(B ETEITMITEV 6T6dTET ?

What isArtificial Intelligence ?

E\FWINENS: [BI6TITETITNINEY ETEITMITEL 6T6TTENT 2
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Part-B 5x5=25

Answer all Questions.

11. (a) Explainthe components of information technology.

B&H6UEL EVFMLHED ML LIGS6IT 2_LissTetrmhisenern sfleurfl.

(On)

(b) What are the pre-requisites of information ?

SEEUDSHEHSHS (LPetTFaL 1B GeuetorL LILIB6euS) WINg) ?

12. (a) Explainthe conceptof Software installation.

GWDeSTOINH6T [BmiesensoLl LibnS) efleur].

(On)

(b) Describe the steps involved in creating new presentation.
Jdw swMAssme0 2 Baunrssh Gungh OSTLILenLW

LigrBemevsemer efleurflgaeyLb.
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13. (&) Whatiscommunication protocol? Explain.

B&H6ued O\SLITL 6fld) etesTmmev etedrent ? sfeurfl.

(©n)

(b) ExplainEDI.
EDI -efleurfi.

14. (a) Listand describe any three benefits of database system.
556160 e lenLilerr Luwlesefled CHenID eLpesTnieneot

uLipuieS® eNeT&@Gs.

(Or)

(b) What are the'functions of database management system ?

556160 G6IT BLDEVITETITENLD (LPemDUT6dT ListollgeiT wimg) ?
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15.

16.

17.

18.

19.

20.

(@ Explainvideo and voice communication.

eerflLLILLD IDHMILD GT6d H&H6ued QGTLITemL LipNI effleurf].
(On)

(b) What are the storage devices ?

G&LALIL| &(HEAS6T Wimene ?

Part-C 3x10=30

Answer any three Questions.

Discuss the various types of computers-in detail.
LIebBeum) euenswient semflesfllemwil LD eflemsawnns efleuns.

Explain the basic functions of Operating system.
SWkis (pemmulest Sl iemL. Listofls:emer efleurf].

Explain the three ‘basic switching techniques used in the
network.

6UEMEVLLIENLDENED - LILIGTLI(BLD CLP6IT)| 6UEHESUITENT HiQLILIENL. WIS
& MLled mILLisSHemenr efleurf].

Enumerate the architecture of database management system.
556160 S6IT GLDEVITETTENLD (LPeMUTEHT &1L ewipLienL efleurflg&ea)Lb.

Explain telephone related communication services.
65 MemeoBLE &MiThG S&6160 OGMLITL Gaemeugsener eflaur].

*k%x
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AF-1665 BCS3A3

U.G. DEGREE EXAMINATION, APRIL2010
CORPORATE SECRETARYSHIP
Laws for Common Man
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks
Part-A 10x2=20

Answer all Questions.
All Questions carry-equal marks.

1. What s single Citizenship ?
SHEDME Glew|MewLd ETETHITED ET60T6T 2

2. What is meant by flexible Constitution
BBLDEOYM| DHTFEOLDLIL| GTEITLISEST GIITIH6IT 6T63T60T 2

3. What is meant by State List ?
LDMTB60LI LI IQUI6D 6T60TLIGET EYIM(HEIT 6T60T60T 2

4. What is Concurrent List ?
EWLIMGILI LILIQUIED 6T63TMITED 6T6dTeuT 2

5. State the-qualifications for the President of India ?
BHIAWS GRUITES SENEOEUIHEHSHTE SEHHEWETE Sam).

6. Writeanote on: Council of Ministers ?
SNMDESFTHET S LD SMLIL| 6T(LDGIS.



7. What is meant by Bills of Exchange?
DTS S L_6TITIQUIED ET6ITLISEIT GILITH6IT 6T60T6DT 2

8. Whatisa Cheque?

STGFTENED 6TETTMITEV ETEITETT ?

9. What is meant by Consumer dispute?
HISTEEUTIT SSHIMM) 6TEITLISHES EIIM(HEIT 6T60T60T ?

10. Define service.
Goemel suemIWIM).

PART -B 5x5=25
Answer all Questions

11. (a) State the features of Indian Constitution.
BB STFemLDLILN6T &65TeWLDSHEMENTE: Far).
(On)

(b) Explain briefly the Right to freedom of religion.

FIDW &SHITSHSDEHTE 2_flemLDemiLl S (HSHSHLDNS 61aT8HE.

12. (a) Explainthefundamental duties.

SHQLILIEHLS SL6MLDEENET 6l61TES.
(On)

(b) Discuss briefly the Directive Principles of State policy.
Sipdlett O\FHMETEMHMW EUNOFNYSHID BN WM SHEW6IT

&(H&H&LDNS efleuns.

2 AF-1665




13.  (a) Write anoteon: Supreme Court.
2_g& (B insiipib LM GBI 61D
(Or)
(b) Write anote on: High Court.

2_wiit BHLoesTmLd LM GMILIL] 6TLDGI.

14. (a) Distinguish between a Bill of Exchange and a promissory note.
LDMDHMNE&8:8& 2_6ToTieu 160 LDHMILD eUNSHGNISE F1-(6 CaumiLIGsH)s.
(Or)
(b) What is Crossing of Cheque? Explain its types.

SNCEFTMeLENW SNETBSHE0 CTETTMDITEO GTEITEU ? HBHEIT EUDSHBEMENT

NeTs&.

15. (a) Writeanote on :Unfair trade practice.
GrBiTemLbwIHM eMITLINT 6up&&LD DN GBILIL| 6T(LD&).
(Or)
(b) Write anote on: District Forum.
LDTENL L [BUITLLI 610&60LD LIHNN GNIILIL| 616mTS.
Part-C 3x10=30
Answer any three Questions.

All questions carry equal marks.

16. Explainin detail the right to equality.
s glaussnane 2_flenw b efifleuns eflensa.
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17.

18.

19.

20.

Discuss briefly the Centre-State relations.
RTHWSSHGSID MBS HSSID SenLCUWWITET 6\STLITLSHEmerT

&(H&H&LDNS efleuns.

Explain the procedure of pasisng bills in Parliament.
[BTLITEBLDETNSH60 DBFNSMES6T [BewnEauDHMILD HEDLLPEDDHEDLLI

NeTs&.
What is a Promissory note? What are its essential elements?

QUNSHGEFLB eTETMTED 6T60Te0 ? 60T, BeMILIEDIDUING SHTTevoilge

wimemey ?

Write anote on ; Central Consumer Protection Council.

DS HISTEEUMT LIMGISTLIL| SpGeongensst semLI LIHNN GNIILIL| 6TLDS).

*k*k
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AF-1666 BMAA1

U.G: DEGREE EXAMINATION, APRIL 2010
Mathematics - Allied
ANCILLARY MATHEMATICS - 1
(CBCS /2008 Onwards)

Duration : 3 Hours Maximum.; 75 Marks

PART -A (10x2=20)
Answer ALL Questions

Evaluate [x3cosx dx

LIIRIGES fx3cosx dx
21 2
Evaluate |/ (x +2) dydx
00

21/
weies | | (x +2) dydx
00

2 0-14
Find the rank of the matrix (:ig % :i]

BLo@evusiterm SHemfllufledt SILD Smevors.

State Cayley-Hamilton theorem

615:1160l-CamLileoL 6T B5DHMEMSE Sam).
2 _

Solve (D —5D+6)y—0

& : (D2—5D+6)y=0



Find the particular Integral of (Dz +D+1) y =sin2x

(Dz +D+1) Y =sIin2x eebm SLETLTLIQEH ADLILS 1GNNS SHT6HTs.

Expand cos56 interms of sing and cosé

c0s56 -eflemest sin@ WwHMIb cos O eflew epeold efifés:

Find log(-1)

log(-1) -e28 smetrs.

1+3x
Find the coefficient of y» in the expansion of (1-3x)?

1+3x
(1—3x)2 -6t1 6fiflefled 77 -65T OGP HIT6TITS.

Sum the series to infinity log,e~logse+log, e-log e+..........

BGeow|siter OSTLITIEH Fal B E1BHTENS HT6EHs.

PART- B (5x5=25)
Answer ALL Questions choosing either (a) or (b)

Establish a reduction formula for 1 = [sin” xdx, (neN) and

G e g
hence find:-Jsin” xdx
0

I = [sin”xdx, 6& 9666 asd1sSmen Boeis. (1 € N ) igembel
%
jz sin” xdx
0

2 HIT6HOTS.

Or
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V4 .
b.  Evaluate I:f—xsm); dx
0l+cos™x

v/ .
. _ xsinx
wBLACS. I (I) 1+cosx "
12.a.  Solve or prove inconsistency of the system of equations

2x—y+3z=8
x-2y-z=-4
3x+y—4z=0

BLoB6v 2_6iTaNT FLDESTLIMBHEMENT SiTdhd HEVEVH] SHeme (LpIesrLIBEeiTment

eteut [BerpL.

Or

NS RN

21
34
1.0

~NJWw

b.  Find the rank of the matrix { ] using elementary

transformations.

4213
{g ? g ;] 16010 Siewoflufedt STSSemenT OHML&FHBemeo _HLombufleneot

LWeTLBSSE sneis.
13.a. Solve (D2+5D+6)y=ex giventhat y=0 and y’'=0 when
x=0
x =0 agubGing =0 wipi> y'=0 asteo| D2 +5D+6)y =¥ g
&,
Or

b.  Solve (D2 —6D +l3)y = 8¢5 ¥sin2x

& (D2 —6D +l3)y = 8¢3¥sin2x

3 AF-1666




14.a.

15.a.

16.a.

Prove : sin’¢ = —%[cos 64—6 cos 4¢g+15cos 2¢-10]

BerLa sin6¢ = —2%[005 6¢9—6 cos 4¢+15 cos 2¢—10]
Or

If ja+ib _ .., provethat 2 ;2 _ - (4ntl)ab

[9tib _ o aenfied 42, p2 o (41170 erenr Bepidl.

D S S O -2
Prove S 1.3+2.5-+-37+ ........ 2—-log?2
-, 1 1 A
BerbLa S_13+25+37+ ........ =2-log?2
Or
: 1+a 1+a+a2 e —e
Show thatif 4>1 S=1+F44itaxa . =€ —¢
2/ 3/ a-—1
a>1 eerfled S=l+l+—a+w+ ........ _l-e ereot [BerbLa.
2! 3/ a-—1
PART - C (3x10=30)
Answer.any THREE Questions
a aZ—XZ
Evaluate I f d;dy >
0 0 Vo
V(IZ*XZ

a
. dxd,
S NGs _[ I ™ 5 y2
0 o Vda
sinxdx=m -2

%2
[

%

BerpL I xZsinxdx =z -2
0

4 AF-1666




17.

18.a.

19.

Find the characteristic roots and characteristic vectors
corresponding to each characteristic root of the matrix

8 —6 2
-6 7 -4
2 -4 3

8 -6 2
[—26 _74 —34] 61601 SHevofluN6sT FMLIL| PLPEOIRIGENEITE SHITETUTE.

2 n ' _
Solve ¥ VF3w +y_(l—x)2

.. 2y 3xy'4y =
Siisa rymexyy (l—x)2

Solve (D2 —l)y = xe*

Stse (D' -1)y=xe

If log (@ —if)=x+1iy prove that

(a) x= %log[%(coshx +cosh2ﬁ):|

(b) ﬁ=%[log(sin(a+y)—logsin(a—y))]
log(ae—if)=x+iy eesfled

(a) x= %log[%(cosZa +cosh2ﬁ):|

(b) B :%[log(sin(a +y)—10g sin (a —y))]

5 AF-1666




20.  Find the sum to infinity ofthe series

1 1.3 1.3.5
24 24.32" 24.32.40

856516 sbsL euenILITes Fol B 6156m&HUNEn6T SHTewTs:

+

1 1.3
24 24.32

1.3.5

"2432.40

dkokok
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AF-1667 BMAA2

U.G. DEGREE EXAMINATION, APRIL 2010
Mathematics - Allied
ANCILLARY MATHEMATICS - 11

(CBCS /2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
Part-A (10x2=20)
Answer ALL Questions
1. The first two moments of distribution-about the value 3 ofthe
variable are 2, 10 respectively. Obtain the first two moments
about the mean.

X = 360 (p5ed QUG WpBESS ST WMDGW 2, 10 Sps BHHSTEL
Frnaflenw enLDWIDTSS 61&Teu0rL, (PS5O Br6iorB WPBHSS S ewerrs

5600155 ([B5.

2. Explain principle of least squares.

GBS U155 E\&TeTensenwl seur.

3. Define correlation coefficient
RGOS )\5(LDENE CUEHIUIM).
4. Express.correlation coefficient in terms ofregression coefficients

RGOS E)\G(DED6N 2_L 6TTEVSITLITLIS 618(LDESHET 6UMUNEOTES 6T(LDGIS.

5. Let U_=qab*. Determine AZUX

U, = ab®* eaefled AZUX SiinesfléseyLb.



10.

11.a.

Define ‘Edge-worth’s Index numbers’

L R6\6UMTH63T SMIUIL B 6T6T0THEM6IT EUEHIWIM).

Prove that L(x")= ]

xn+l

F[m)

xntl

L(x")= eT6eT [BembLAGSLD.

Define Inverse Laplace transformation.
EISITLDEBM EOITLIEOT6V 2_(HLOMDHESHENS EUEHIIM).

Define Fourier coefficients of a function.
(5 &mTLNedT SLpAWIT Q& (pSSHEDeT GlemIuin).

Give an example for even function and another example for odd
function.

SULenLE &L HMm| RDHEDDHE FML| SeUDBINEGS L_SNI6TILD HHS.

Part-B (5x5=25)
Answer ALL Questions
For the following data calculate the Karl Pearson’s coefficient
of skewness ;

x 10 11 12 13 14 15

¥ 2 4 10 8 51

OBTESHSLILILL 6MeuNThISEHHS SHMiTeo Lwimeresilett GHMLLSES(D HT6TTs.

(Or)
Explain how to fit a parabola to the given data.
QEMBSSLILILL 6MeUThISEBEE SXTH CUEHETELSHI EIMIHSSHIOUS] 6TLILIQ 63T

6Me&:&LDNS Sam)is.
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2 2 2
x+y_6x _Gy

ZGxGy

12.a. Show that v =

2 2 2
0%y —0;y—0,
ZGxGy

(Or)

b. Find o, and v fromthe following data. Regressionlines are

V= e165Tm) SMLB5.

3x=y; 4y=3x, and S.D. of x=2
2 L6t O\BMLITY Gan®aeT 3x = y; 4y =3x; wpmib X =2 aefleo O,

LOHMID V 606us SHeTTEHHBS.

13.a.  Estimate the missing term in the following table :—

X 0 1 2 3 4

8] 1 3 9 - 81

x

QBIBSELILIL L L euenerorulleSl g eNBLLLenSE Setor® LlipsaeaLb.
(Or)

b.  State and prove Newton’s formula for interpolation.
Bup'LevlletT BewLE 615 (HEH6D CUMLILITL6WL 6TDE [BerbLISS.

142 Find L{1=08)

L (g—l — (;0 sxj SITEHOTS.

b. Determine L ! {log(iiz ﬂ

ot {log ( ); i Z ﬂ 26 Sioneflssab.
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15.a. Find asine series for f(x)=k in O0<x<7m
f(x)=k in 0<Xx<7 samen sipfit swssit OSTEOTE Setns.

(Or)

b. Find a Fourier sine series for f(x)=ax+b, 0<x</

f( X ) =ax+b, 0<x</l &&6s SoLpfliT D6 O\SILEDIE HITETIIS.

Part- C (3x10=30)
Answer any THREE Questions.

16. Fit a curve y=b x“ to the following data :
X 1 2 3 4 5 6

v 1200 900~.-600 200 110 50

GHE6IL 6leUIThsERSS ) =hX" 6D uEDeTEIIWI OLIDIS.

17.  Three judges assign the ranks to 8 entries in a beauty contest.
Decide which'pair-of judges has the nearest approach to
common taste inbeauty ?

I I I v \Y% VI vl VI

JudgeX 1 2 4 3 7 6 5 8

JudgeY 3. 2 1 5 4 7 6 8

JudgeZ 1 2 3 4 5 7 8 6

epeiTmI BB6UTEH6T R SPpGSL GuMipuisd 8 GUMLIWINETTHEHHS Jlefles
SIhIs6T GG OETBSSLILILBeT6rent. 6bs (b EaUTSHET INSHSLD RHLGS

560601 2_6WLILIGUTE6IT 616018 STLDMevll&SLD.
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18.  Prove that the Lagrange’s formula can be put in the form

n  $(x)Ua; .
ZEIW where ¢(x)= 7 (x-¢;) and

i=1

19.  Using Laplace transform, solve
xy"—(2+x)y'+3y=x—1 when y(0)=0
eomLieomerdiledr 2 (5 LomHmieNBenuI LieT(BES SIS FLDGITLITLDLS

Sigsmeybd xy"—(2+x)y'+3y=x—1 when y(0)=0

20.  Find the Fourier series of /f(¥)= {77?_22); 1?{6[;;5?

2
Hence deducethat llz Jr?%2 +5% o = ”8

f(x)= {7[+2x if —r<x<0

T—2x if 0<x<yg S&ner Sl O5TLenIS HettT® NG 6o

Jogd L2 _n .
eLP6VLDITS TERT I IS g eteur BepLis&eaLD.
kot sk
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AF-1668 BMAA3

UG. DEGREE EXAMINATION, APRIL 2010
Allied - Maths
ANCILLARY MATHEMATICS - 111
(CBCS —2008 Onwards)

Duration : 3 Hours Maximum.; 75 Marks

PART - A (10x2=20)

Answer All Questions

1.  Solve (D2—1 0D+25) =0

Sias (1)2 1 0D+25) =0

2. Transform the differential equation‘y— ' cor x— y sin?x=0 into one

having Z as independent variable.

y”—y’cotx—ysinzxz() 60T CUEMSESHE\H(LP FLDOGTUML6HL &ngm wml 7.

6UEMBEHEGH(LD FLDESTLIMLME ©_([HLDMDOLD E\FUIS.

3. Formthe partial differential equation by eliminating the arbitrary

constants g,b from 2= (x+a)(y+b)

z:(x+a)(y+b) 6T60TD FLDEOTLIMLIQED 2 _6iTerT & 6576015 6m & Wi 6or

redlset -, b SHemer B LGS eUEnSHHESH(LD FLDETLINE 2 (HEUTSHESS.
4.  Define: Complete integral, particular integral
QUEDIUIN) : (LPLPEMLD E)HTEnS, GMILILILL O\STEns .
. t .2
5. Find L(e Sin t)

L (et sin® t) -22 &IT6TOT5.



10.

-1
L [(“:3)5] -23 G601,

Define halfrange sine series.
SHem6lis&: EHEFEHT E\HMLEDI CUEHIWIM).

Find the fourier coefficient a, for the function

-x, — m<x<0. .
f(x):{ Y 0<y<sg Intheinterval—z<x<g

) =x, —w<x<0 ) N .
f(x)= x, 0<x<7 a6 ~EMUSES  —7 < x < 77 €6
SevLeuaflufed SLyflwir Qs @, -& setrs.

If 7,, 7, aretwo complex numbers prove that
Z,+Z,|<|Z,|+|Z,]

71, 7 ,eetiLen Srevnt® fas60 ereuuraei erevfled |Z1 +Zz|§ |Zl|+|Zz|
6601 [BMI6 5.

Find an analyticfunction whose imaginary part is 3x°y — y°
3x? V- yz -22 SDHLENETT LIGSUITS E\HTEHITL. LIG PO FTTemLI SHIT650rs.

Part-B (5x5=25)
Answer All the questions choosing either (a) or (b)

11.a. Solve (D2 +1)y =cosx

(D2 - 1)y = COS X -3 &t
Or)

2 AF-1668




2
d d
b. Solve x’ —d§—4x—di+4y:x2
X

2
.. 2d%y dy 2
Bise. ?’4)‘%“'4)’—)5

12.a. Solve x(y—z)p+y(z—x)q =z(x—y)
Sies. x(y—z)p+y(z—x)q=z(x—y)

(Or)
b. Solve z =p)c+qy+p2 +q2
Siiés. z=px+qy+p2 +q2

13.a. Find L (1)
L (H%) -22 GT6H0TS:.

©r)

. -1 1
b. Find L ((s+1)(S+2)(s+3))

,1 1 .
L (W) 23 STETTS.

14.a. Expand.the function y=sinx in a series of cosines in the

interval ) < x < 1.

y=sinx eeip &niemu ()< x<.06D QevLeeueflufed
G\&nengellett OSMLINS eflifigs.

©r)
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b. If f(x)= {—xx —()ﬂg<xx<<”0 expand f (x) as a Fourier series
in (—7,7)

FE=F T aoto (mm)-6 £ (2) 0 st

QBILINS efifleun&eid O\Fis.

15.a. Find the bilinear transformation which maps (0, —i,—l) onto
(1,1,0) reepectively.
(0,—i,—1) a6tTD 6860 ETETTHENET WENMHGUL (i,l,O) e65Tm  Sl&&60
ET6TTTEBITTE _(HLOMDIMLD S\FUIULLD SIHRIHLIQ LDTHMESENS SHITETOTS.
Or)

b. Verify C - R equations for f¢z)=z’

f (z)= 73 st &miys& C - R swesiun@aever sfluniiss.

Part-C (3x10=30)
Answer any Three Questions

16. Solve (2x+1)? y"-2(2x+1)y'~12y=6x

8ies  (2x41)2y"-2(2x+1)y'~12y=6x
17.a) Solve ZZ(p2+q2+1)=02
Sieem 7 2(172 +q2+1)=02

b) Solve [p+q=1
8ise [p+q=1

4 AF-1668




18. Using Laplace transform solve (D2+4D+l)y=e_t , given that
»(0)=0 y'(0)=0
GevlieondletT 2 (BLMHMSHMS LWTLUESS S (D2+4D+1)y=e_t ,

»(0)=0  37(0)=0

19. Obtain the Fourier series to represent 2 from x=-/-to x=¢

x=—{ P60 x=/ 6uewI x2 & STt OSTLIT 6uigefled eTipss.
20. If f (z)=u +iv is an analytic function prove that
2 2 P p-2
(S+&)lr ) =plrcz) I )

(&5
V

o 9

‘2

‘2

) =1\ )

6601 [BMI6S.

2k 3 ok
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AF-1669 BMAA4

UG. DEGREE EXAMINATION, APRIL 2010
ALLIED COURSE
ANCILLARY MATHEMATICS - IV
(CBCS /2008 Onwards)

Duration : 3 Hours Maximum : 75 marks

1.

Part-A (10x2=20)
Answer all Questions
Write the formula for finding skewness and kurtosis using

moments.
SBLULS SpetTaemenLl LIWeTLGSS CHMLL leTea| bHMmID SLenLIeTe)]
STEYLD &GSITHISGED6I 6T(LDS|8.

What are the normal equations in fitting a parabola to the given
data.
CUEDEITEUEMT EIIM(BS&IeWaUTE0 61(HLD SISO FLDESTLIBEEIT WiTeney ?

Define rank correlation
sraufleng QU BMed 618 (Den6l eUenTIN).

If one of the regression coefficients is greater than unity, then
show that the other is less than unity.
2 | 6T O\BITLITLYS 6\8(LD&&6rTl60 6petTm] = 1 6Tevfled LDHEMESTMI < 1 6T6VTE

SMBs.

Show that |_y _g-!

1-V =E"! ete01s &M-G&



6. State the formula for Paache’s index number and Edge -
worth’s index number.
L6 DHMILD 611266UMTE GHIUILB 6TETTSHEBEHSHTEN GG BITRISET H([HS.

7. Define a cyclic group

QUL HG6056M3 EUEMTWIMN).

8. State Lagrange’s theorem.
eoT&NMEhS6T BHDHMSMS Sam).

9. Define feasible solution.
nsAwinrent Siiey euemIuim).

10. Give two basic feasible solutions.of
2x+3y+5z=10

x+2y-3z=17
GLhH&6TTL FLDETLINBSEHEHES TGS SB(H SlQLILIDL FTSSHWS SiieygeiT
505

Part-B (5x5=25)
Answer all Questions choosing either (a) or (b) fromeach

11.a. Explain the method of fitting a straight line to a given data.
QEMESHSULILL efleuNThisHEHeE @b CHIGSHTE OILIMHBSSI6US 6TLILIQ
eretTm) efleurfl.

Or
b. For a distribution the mean is 10, variance is 16. y, =1 and
B, =4.Find phubp’su'y
@ Lmeuedledt Fal'L6d &anal = 10, ommun® = 16 ¥, =1 erevfled

LU, U Seubhenms seursSGs.
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12.a. Prove that the correlation coefficient lies between -1 and 1
RGeS S\a(peflest LI -1, 1 Beubmleit SewLGW SieMLDU|LD eT6dTm)

BerbL.

Or
b. Derive the formula for rank correlation coefficient.

SUeflensd QLBMeys O\&(WeADHsTeT &5Sn56088 SetaTBLIQ.

13.a. Show that A(logUsx) = log(1+4%)

A(logUx) = log(l+AUlf) etor Berprd.

Or
b.  Find U, giventhat U, =4, U, =7, U, =13 and ; using
Lagrange’s formula
U =4U,=7 U, =13 wbmub eterllev, U 66T nSL1emLI eongnmenlett

&ESITSHST60 SHETEHSDBS.

14.a. Let A,Bbe two subgroups ofa group G. Isit necessary that
Au B asubgroup of G ? Justify your answer
A, B a6trp sewrmugeit G 61 21 @eomusem@p. 4 B G 6ir 2 @eoons:

Br5560 ST ? 2_65T LIHemed 2_Mid O1FUIS.

Or

3 AF-1669




15.a.

16.

17.

State and prove Lagrange’s theorem.
eon&IEhSleit CHHMGHEMSE Fanl Sews BerpLa.

Mark the feasible region of the L.P.P
Minimize Z =2x, +3x,
Subjectto  x,+x,<5
X —X,52, X,%,20
Gwiaetor L. P. Peir engguis ugdemws eHIii@s.
Or

Is if necessary that any feasible solution is a‘basic feasible
solution ? Justify your answer.

6bs @ Filwmen Siayb SigliLienL gfwmer Sreuns SmHes GCeuewriou g

SHUSILILDIT ? ©_ThiG6T Liemed &ifl LIMT&:s:

PART-C (3x10=30)
Answer any three Questions

Explain curve fitting by the method of least squares.
GDDHS QTS S\&T6TEnNs PeRMUIEITLIQ 6UeneTCSHT® CILIHSSICMNS
efleurllga.
Given the regression lines 5x—y =22 and 64x—45y =24 and
variance of X 1s25. Find the mean values of X and Y, the
coefficient.of correlation between X and Y and standard
deviationof Y.
Sx=y=22 eetiues S OSMLITLES CHMB&6T X 661 LMMILTG = 25 eT6vlled
L eBTE(HEUETTEUNEDM SHTETITS.

X wpmib Y -6t ggnarf odlisei

X, Y &6 BewLCuusier QU BMeYS 616w

Y -6t L eflevdsid

4 AF-1669




18. Discuss in detail the various index numbers.
LebGaum) GMUILB erstrraemens 6\Geleuna sfleurfléseLb.

19. Let G=R\{0} define * pn Gby a*b=a+b+ab show that
(G.*) isa group
G = R\{0} etetrp s6wwi&de0 b =a+b+ab 6605 O\SMeTE.

(G.*) er6trg) @@ @eold etetrmy BerbLa.

20.  Solve the following L.P.P. by Simplex method
Max Z=2x,+3x, subject to
X +x, 21 x-5x, £0;x, +x,<6, X,x,=20
Z =2x,+3x, eetiugetr LBLIOWITH LDSLImLI
X +x, 21 x-5x, <0, x, +x, <6,.X%, 20 eretip FOTLMN-BHS

2 LB SIDLIN60&6N (LPEMLILIRS HenTsEBs.

ok sk ok
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AF-1670

U.G. DEGREE EXAMINATION, APRIL 2010
Mathematics - Allied
STATISTICS -1

(CBCS /2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
PART-A (10 x2=20)
Answer ALL Questions
1. Define “Skewness” and “Kurtosis”

GHMLL SieTe) S 6mL 66y SaUHEHM EUEHIUIN)ES.

2. Give the normal equations for fitting a straight line to the given

data.
QEMESSLILILL efleuNmhisEehsE ChiT-CHMLeLL OILMBSSHID CUTE eHLD

BWeoLIT6T FLDESTLIMBSEIT WIMemed 2

3. When do you say that the correlation is perfect and negative ?

Give one example,
R BOE (LPPENLDUITET ETHITLISSH60 HeMDBNE) 67607 eTLIGLINGIGSMIGEUMLD ?

©_gNMewTLD Q65T - H(HS.

4. Express correlation coefficient in terms of regression coefficient
R BMES 615(LDED6N ©_L 65T OVSITLITLIE: 6\axLD&&6rlletT eumuieomns: ereueunm)]
SITEVOT6VILD ?

5. When do you say that two attribtes A and B are positively
associated ?

A , B etctruemeu Gmit SDLHSLD \GTERTLED6N 6687 61LIGLITG) Samieu ?



6. Give the formulae for (i) Yule’s coefficient (ii) coefficient of
colligation.
60 615 LDHMILD C&HTeNBHF6T O18LD BEUDMISHEHITEN G SHSITRISET UITEDEU ?

7. How do you define ‘Ideal index number”
©_§gLoLDest GMIUIL (B 6T650Tem6TIT eTev6UT) EUEDIUINISRCHLD ?

8. What is time reversal test ?

SMe0SSBLILIE BFTSHEM6T ETETTMITED 6T60TE0T 2

9. State multiplication theorem of probabilities.

1B&LDS&6M6T EILITHE:SH60 LISTITENLIS FoM)|s.

10. State Bayes theorem.
Guufev CHOHMEHMS Famis.

PART-B (5x5=25)
Answer-ALL The Questions.
11.a. The first four moments of a distribution about x =2 are

1 % , % and 1 6-calculate the first four central moments.

x =2 ereiim.LjéTerflemil emDWIDTS EISTEWIL (PSH6d BT & HHLILS
R D S ) . . . o
Bewasit 15 > 5 DHOID 16 eterfled emIDWIDTES OGTEHITL (WSO HEIES
SLILS SDESTSHEN6TE ST60TS.
Or
b.  Explain how to fit a second degree prabola to the given data.

QBMBSELILILL eNeUNTRISEDSE H LITEUHEITULISNSLI OILIMBSSI6US)] 6TLILIQ
er6tTm)| 6feurflaseLd.
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12.a.

13.a.

Prove that the correlation coefficient is independent of change
of origin and scale.

SpBLiLsiterl LDHMILD HHeTeyBaimed LDMHMIEUSTED QL BMES 618D LDMMDITE)
eT6uT [BerhLISSLD.

Or
Out of'the two lines of regression given by x+2y =5 =0 and
2x+3y—8=0 whichone is the regression line of XonY ?
x+2y-5=0,2x+3y—8 =0 eetruen 2_Leir O\SHILITL S CHTB 6T
etevfled e1Tb g8 FLOETLNTG X 6@ Y LBST60 2_L 6T O\SMLTenLIS: GMILILISTS
SlEmLDWLD.

In a class test in which 135 candidates were examined for
proficiency in English and Maths:. It was discovered that 75
students failed in English, 90 failed in Maths and 50 failed in both.
Find how many cadidates (i) have passed in Maths (ii) have passed
in English but failed in Maths (ii1) have passed in both.

R euGLILIeYeTer 135 mewreuiisefien Spmideod, sHewfllsb Geumaleo

2_eitermr Smemid UMGsNH&HLULGEDSI. 75 CUIT SphideosSab, 90

Buit sewflgs5Heyb, 50 LT Bretor® LML hiserfleyb G&mevefulbmeot.

(1) sewlgsd6 asgemen Guit Bsied Oubmet ? (11) prideosSHed

G gD s6uflE 8860 Cameelluib LB g gemen Guir ? (1i1)

&enflsID, Spmhifeold BIewrigeyId 6155 emest GUIT G5TEd QLDDEDTT ?
Or

Find the limits of (B C) for the following data:

N =.125; (A) =48; (B) = 62; (C) =45; (4)="Tand
(A;/) =18

G H&ETL 6fl U IS 6eTs 618666 (B C) 61637 67606160860 6115

5600155 ([B5.
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14.a.  Describe the important component of time series.

&meoLbaT O\SMLITeuflengulest (wpaSwiLbmest Simisener efeurfl.

Or
b.  Construct Fisher’s ideal index number for the following data.

Commodity | Price (inRs.) per unit | Number of Units
WIMB6IT 62(H DHeodetT 6flleme0 DHeo@a6rfledt eretoretuflgHemas
Base Current Base Current
Period | Period Period". | Period
SiplitenL| mLLIL SlplienL | mLLiL
SpTB | 6B BB | 6B
A 6 10 50 56
B 2 2 100 120
C 4 6 60 60
D 10 12 80 24
E 8 12 40 36

GLohaetorL efleunmhisessd Lagler &Mlui® ectrenetéd &6uorsSGsS.

15.a. If A, B, C are mutually independent events, then show that
AUB and C are independent events.

A, B, C estruen @eirenmelwnem mong Beapeyser eresfied, A B , C
eT6dTD [BaLDEY ST FMTLIDDEmE 6T6uT [BMI6YS.
Or
b. If Aand Bare'two events such that P(A) = % and P (B) = %
and P(AUB) =11 find P(A[B)and P(B|A)

P(A)=! and P(B)=},P(AUB)=1] aaficP(A[B),

P (B |A) BuHEnms: HETSRBS.
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16.

17.

18.

19.

20.

PART-C (3x10=30)
Answer any THREE Questions
Calculate the coefficient of skewness and kurtosis for the
following data.
Class 0-10 10-20 20-30 30-40
f 1 3 4 2

GLM36MTL 6MQUITEISEHSE CHITLL Di6IT6)s 18 (LDEYLD FL WL H6rTeyds
6\&(LDOYLD SHEToTHHBS.

Calculate the rank correlation coefficient for the following data.
X 10 12 18 18 15 40

y 12 18 25 25 50 25
G 36wTL 6NQUITEISEHSS STalflend L BMe)s 68LDen6ls S6tTeHBs.

From the following data compare the association between
marks in physics and chemistryin MKU and MSU.

MKU MSU
No. of Students 200 1600
Pass in Physics 80 320
Pass in Chemistry 40 90
Pass in Physics and Chemistry 20 30

GLoh&ETITL 6Ml6UTTRISHEMETTE 615MetuT(® 6)LIeMEaHLD LMD Ceududwiedleo a1Lbm
LDSLIELIETOTSETh &BemL-GUI BI6tor(® LIEDS6m608 SHLpshiserliay|d 2_efTer

FDLBS6mS RULIGS.

Discuss i detail various index numbers

LeoGaim) &MuiL B 6T650TEH6m6IT 65l6UTLDITE 6fl6M&:SHELD.

State and prove Baye’s theorem.-
Guulsihv GEHHMSGMSHE Fanl BIHLIETIILD &(H.

sk
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AF-1671 BMA SA2

U.G: DEGREE EXAMINATION, APRIL 2010
Mathematics - Allied
LINEAR PROGRAMMING
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum.; 75 Marks

PART -A (10x2=20)
Answer ALL Questions
Each Questions carries 2 marks

Write down the standard form of following L.P.P.
Maximize Z = 3x, +4x,
subject to 4x, +2x, <80, 2x,+5x, <180, x,,x, >0

GLD6L SHMTELD RIBLIQ S LS SH6VTSHEEHT [BEHEOWITET 6UIREUSENS 6TIDS-

Prove that the intersection of two convex set is a convex set.
Bren® G6efhg sevhige et 16Ul (B SH6wTLD (b G6fbg S6wTLD eTeuT
BerbL.

Define key element in the Simplex table.

SIDLIETE:610 SiLL QUEDETITUNED (LPSHETTEMLD 2_MILIL| SUEDTUIMI.

Define the net evaluation of the Simplex method.
SlbLienasi (LpenmUTeiT 6u6med LSLILNBS6m6e0 auenTwIm).

Explain the degenerate solution in T.P
GUTEGEUISE| HenTSHH6 HewaHS Siiewe efleurfl.



6.  Write the dual of the following :—
Maximize Z =5x, +3x,
subject to 3x, +5x, <15; 5x, +2x, <10, x,x,20
GLD6L SHMEMLD LIHLISL L SHETTSHHET BIHENLDEDW! 6T(DS-

7. What is the significance of duality
BmEmIDE CHMLLIMLIET (LPHSUSSIEUSHENS 6T(DG.

8. Explain North West Corner rule.
aULGLDM& eLpemed (LpemmeniL efeurfl.

State the difference between Assighment problem and
Transportation problem.
uenfl R815E6 HTSSNGSGLD CUTSHGNISSIS SE0TSHSDGLD 2_6ier

NGB UITFHISEDOTE Fom).

How would you deal with the assignment problem where the

objective functionsisto be maximized ?
uenfl 951556 sev1sde0T GMSESHT6T ML LSLIOLIHLOLD Spés Ceuetor®

10.

6\LD6BTMIT6D [ 6TLILIIQ G\F UGN ?

PART-B (5x5=25)
Answer the following questions choosing either (a) or (b) fromeach
Each Questions carries 5 marks
Prove that the dual of the dual is primal.

11.a.
B memuiledt GHEWLD (LPSESTENLD 6T60T [BMIeS.

Or
b.  Write Hungarian Assignment Algorithm
281680 SHeTeEShaTe aDHIGSHTLIET LPenMeDIL TIPS

AF-1671




12.a. Solve the Assignment problem
1 2 3 4

A 10 12 19 11
B 5 10 7 8
C 12 14 13 11

D 8 15 11
GLHSHETTL R5IHEB HEUSHDHS Si.
Or
b.  Use Dual Simplex method to solve

Maximize Z =3x, —x,
subjectto x, +x, =1
2x, +3x, 22

x,x, 20

Bmenid fbLieT&en (PedmEMILI LILGTLIGSS Si.

13.a.  Solve the LPP-graphically

Maximize z = 4x, +3x,

subjectto x, —x, <-1

-x,+x,<0 and

x,%x,20

CHSTEILD RIBLILS SLLE SH6WTEHSENEIT EUEDILILLD eLpeoLd St

Or
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b.

14.a.

b.

15.a.

Solve graphically, Maximize Z =3x, +2x,
subject to —2x, +x, <1, x, <2, x,+x, <3, x,,x, 20
CHSTEILD QB LIRSS L S6T018:S6m60T EUEDILILLD eLp6oLD Si.
Use simplex method to solve
Maximize z =10+ x, +x, + 2x,
subject to 14x, +x, —6x, +3x, =7
16x,+ 4x,—6x, <5
3%, —x,—x,<0
X,%y,%5,%x, 20
SbLiemg:en (LpemMmEDWILI LWLIETLIGSS Sit

Or
Solve the LPP by Big M Method

Minimize Z = 4x, +3x;

subject to 2X %, 210
-3x,+2x, <6
X, +x,26
x,x,20

ewufliu M wpempenw LweTu@ESSS Sii.

Find the initial basic feasible solutiion to the following TP by
VAM

Supply
1 2 6 7
0 4 2 12
3 1 5 11
Demand 10 10 10

Gh&eiTL CUTHGITSSI HeTHSMNE @660l60T GSMIMUI WPEDMDLILIQ (LPSHED

SHiQLILIDL OFUILISSHEHS STeMEUS SHTETOT5.

Or
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b. Find initial basic feasible solution to the following TP by North
West corner rule.
A B C D E  Supply
2 11 10 3 7 4
1 4 7 2 1 8
3 9 4 8 12 9
Demand 3 3 4 5 6
G hHa6tL BUNEGISHS SHenESMNE& QILGDMNEG eLPEweD, (LPEDMHEMUIL

LWeTUGSS (LPpSH6d SHQUILIEDL O\FUILIGEES STEn6Us: STeTurs.

PART-C (3x10=30)
Answer any THREE ofthe following
Each Question carries 10{marks
16. Solve the following TP :—

A B C D E F  Available
1 9 12 9 6 9 10 5
2 7 3 7 7 5 5 6
3 6 5 9 11 3 11 2
4 6 8 11 2 2 10 9
Demand 4 4 6 2 4 2

ChH&TEID CLUNSSEIISSIS HETEHDES SiT

17.  Solve the following LPP by Big M method
Minimize Z=12x, +20x,

subject to 6x, +8x, >100
7x, +12x, 2120
and  x,x,>0

oufiw: M apemmenwils LweTL@ESSS Sit.
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18.

19.

20.

Find the minimum optimal solution of the A. P

M M M M M

1 2 3 4 5

T, 9 22 58 11 19
T, 43 78 72 50 63
T, 41 28 91 37 45
T, 74 42 27 49 39
T, 36 11 57 22 25

5
uewfl ©515856 wenmuflsd &AM 2 G5Lb Siteneud; sretors.

Use duality to solve the following:—
Maximize Z=2x, +x,
subjectto  x, +2x, <10

X +x,<6

X —x3<2

x, —2x5<1
xXpx, 20

G STEILD &60018:608 BHEDLDENWIL LIWGTLGSSS Si.

Use two phase simplex method to solve
Maximize *Z = 5x, —4x, +3x,
Subject to 2x, +x, + 6x, =20
6x, +5x, +10x;, <76
8x, —3x, +6x, <50
X, %,,%, <0

Brewr(® s L AbLIeT&en (pepmenw LIWeTLGSHS Sit.

skkok
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AF-1673 BPHA2

U.G.COURSE DEGREE EXAMINATION, APRIL 2010
Physics - Allied

ELECTRICITY, ELECTRONICS, ATOMIC
AND NUCLEAR PHYSICS

(CBCS —2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks

Part-A (10 x 12 =15)
Answer All questions

State the principle of Potentiometer.
Ll6tT60T (LRSS LONETAUN6DT 55 8161856MSHE Famis:.

Two capacitors 0f 0.0003 pF.and 0.0006 uF are connected
in series. Find their effective.capacitance.

0.0003 pF womib “0.0006 puF e\snewr. @ueor® eiCsHa:SH6T
QSMLIT &hNied BenerrssLILGSENSI. Sieubme EIbngs WSLillenest
SIT6V0T.

Define mutual inductance between a pair of coils.
8 s&;HeTsEp&SSamLGWWTer LMDMHD) 6T SHTEwTL6d 6r6soremesor
EUEDIUIM)].

What do you mean by the ‘Q’ of the circuit?
@ shMlest ‘Q’ eretTmT6D 6T6tT6UT ?

State Bragg’s law.
Nos eflemwis samis.

Write any two applications of radio isotopes.
&8flwsss sesfllbmseflesr Srevor® LIULICTSHED6IT 6T(LDSIS.

1



10.

11.

12.

Why a zener diode is used in a voltage regulator ?

et pss SmSSuled grevt ewLBWTE o6t 2 LBWTSL
LESSUILGSDS!-

Define o .

Ol - 6W6) EUEMTWIM)].

Convert decimal number 25.6 into binary number.

LISS1Q 6T600T 25.6 &3 FJIQ 6T6T0T6T0TITE LDITHMIS.

Write a truth table for AND gate.

2_1D 6\5UIEOISHBHITET 2_6T0T6MLD DL’ L 6UEDETITEMILI 6T(LDEIS.

Part-B (5x3=15)
Answer All questions

a. Obtain an expression for coefficient of coupling between two
coils.

8® &SHTHEHHSMLBWITen QewewrLiys & weiihament
GaMEnEUEDILIS E1LIM)S.

(Or)

b. State and explain the law of Faraday for electromagnetic
induction.

63T HHSS STEUOTL Y &&HTerT LIMTGL 6HBemwws: san), 6flens:es.

a. State and explain Kirchoff’s laws.

BissnsLLleir 6fldsenens: san) sfeTsEs.

(Or)
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13.

14.

15.

a.

a.

a.

LOl6tT6DT(LDSS LDMevtl 2_sefe\ameton(® GeureoL” LEL'LewiT eTeueum) HermefiB

SHGSLD O\FUIeUMLI ?

Compare nuclear fission and nuclear fusion.

. How will you use potentiometer to calibrate voltmeter ?

Slew)i&&HL LaTey LDHMILD SHE)|&EH Beneuure) QUGS

(Or)

. Explain binding energy of the nucleus.

DIg)I5:8:H6l6T LilemeuoriLImbmened elema:ds:.

Find the value of B if o =0.99.

o =0.99 erevfled [3 -eflleir P iLNemetTS: BHiT6Tors:.

©r)

. Describe the transistor action in detail.

lerrettdleivLiledr O\FwIemed sfleurilgs.

What are NAND and NOR gates ?

ETSITLD 1606V LDHMILD ETHITLD _LD &H&H6SH6IT ETEIMITED 6T65T6uT ?

(Or)

Semrs sLALLTEsllen &hlenen auenIbHa HE C\FUOLIBGSened

NeT&G5.

. Explain the working of Half subtracter with a circuit diagram.
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16.

17.

18.

19.

20.

Part-C (3 x10=130)
Answer any Three questions
A series LCR circuithas L =1mH, C=0.1 uF andR=1 (.
Find the resonant frequency and bandwidth of the circuit.

ewm 6t LCR &pmy L = ImH, C = 0.1 puF womw R =10
QWLIDMI6TETS). SHMNET 6258586 LDHMILD LIL ML SHEH605SWET SHTEHT5.

Explain with necessary theory how a Carey-Foster bridge is used

to measure the specific resistance of the material of the wire.

@ SWLuller e HewL eTevoTemetor SiemeiBLD Caifl LMEVLT &HhHm)
(LPEDDEDIL SS[HS 6M6NTSHSHMISHEHLET 65l6NTESS.

Describe Frank - Hertz experiment for determining the critical
potentials.

LDTMIBED6D LSESTENT (DSSSDEM6uTs: SevorMu|d LT - Q\emiTL studlet
Gsngementemiul efleurflgs

With a neat sketch,explain the working of bridge rectifier.
LITe0& DM SHSS Q1FWEOLIBSHEM60 LILLD 6U6DITHE) 6H6TeHE&s.

Reduce the-expression Y = AB+AC + ABC (AB+C) using

Boolean algebra.

Y = AB+AC+ABC (AB + C) 1651 G MemeusmLLI LpeSlLIedT SHevofls D

O\&EMETT(D F(HHGSS.

skkok
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AF-1674

BPHSA1

U.G. DEGREE EXAMINATION, APRIL 2010

Physics - Allied

BASIC DISCRETE ELECTRONICS AND APPLICATIONS OF
ELECTRONICDEVICES

(CBCS)
(2008 Onwards)
Duration : 3 Hours

PART -A
Answer all Questions
1. State Kirchhoff laws.

BrenseL 6T flHHem6rT Famis.

Maximum : 60 Marks

(10 x 1% = 15)

2. Find the value of aresistor having colour code Red Red Green

feully feully LFewF B QUEHETWIMRISET S\&MTeL LetTgHenLUl6 SLienL

SIT6T0TS.

3. What is a photo diode?

eerfl LEWIN eT6dTMIT6D 6T6tTE0T ?

4. Defineloadline of a transistor.

Kb LenmettdleiL et LIeom&CHNE eTEvmITeD eTetTenT ?

5. State the principle of SCR.

SCR.- 67 g5 g10u8608 samis.




6. Whatisa TRIAC?

TRIAC eastrpmed eretrent ?

7. How do you convert a galvanometer into an ammeter?

(H SHITELEUSTTTLDMEBTEMILI ETEUEUMM) SHLDLEL L [TTT8 DM HmyeuU

8. What are magnetic recorders?

BNMhg LIPeASH6IT eresTmmed eT6dtedT ?

9. Write the principle of an electric fan.

WiiesteNSAnNulesr H55161560S 6T(LDEIS.

10. List out the different types of washing machines.

LI6O66mS> F6veme eThPBIdHement LILLouieNB

Part -B (5x3=15)
Answer all Questions
11. a) Withasuitableexample, determine power, frequency, time
period and phase difference of an a.c. signal.
Q@ bMMIHnE wsmsulen §58, HSTEGIETT ST6OLD DHMID SLL
GEUNILINL6DL SSHS 2_SMTEO0ISHSIL 63T SHT6T018.

(Or)

b)  Write about the signifance of RF and AF chokes.

GrieGwim  SiSMeeuetor  WHMID  OFeNujeori  ASTE6u6TIT
SletTIBemevLDMIG 66T (LPSHBUISEIULD LIHNN 6TLDEIS.
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12. a) Withaneat circuit diagram, brief the working of an L section
filter.

R L Uens eulesLpulslt 6\FWwened Oigeafleurmen &HMIL LILSSGIL 65T
eflerTe@s.

(Or)

b) Discuss the construction and working of a tunnel diode.

LemLp enLGWIT® HemLDLIL| LDHMILD S\FILIEN6D 656TEESS.

13. a) Explain how an SCR can be used asa voltage controller.

e® SCR Weenwss ampMwnesns eeueunm) e\FweoLGSSIeueu
61601 6Xl61TEHG5.

(Qn)

b) Explain how a DIAC isused as a controller.

DIAC - 2 eteusunmy e¥mpiluinesta; LILGSTLIGLD 671657 66188

14. a) Describe the'measurement of a resistance by aVTVM.

VTVM. - aisiteo® sreueunm) uil6trgenLulest oS HemgaLn@Ld ereor
sfeurfl.

(Or)

b) Enumerate the uses of ECG.

ECG.-6ir Lwisitaemer eflenns:&s.
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15. a) Give the construction and working of an airconditioner.

&6t FMEHEs15HS60T SeWIDLIL| LDDHMILD SEFWIENEd LD 6T(LDSIS.
(Or)

b) Elaborate the working of a tape recorder.

@6dBLIT Ligefl LD efifleuns erepa)s.

Part - C (3x10=230)
Answer any three Questions
16. Discuss about the construction and working of a thermistor.

R OSIMUSlEVL 6T SteWLDLIL| LDHMILD Q& UiEned efloTs:&s

17. Elaborate the working of MOSFET.

MOSFET.-etr e\swemev efifleunss sfend:&s.

18. Describe the recording-of electro-retinograph.

ERG - uléb udey eguiwb wemmenw efleurf.

19. Write anote onUJT and TRIAC.
UJT wipmid.- TRIAC upm iy euewrs.

20. Describe the working of a refrigerator with its principle.

&erflepLigs6rlesT O\FWIEmED SiS65T O\ TeTems L 60T sflurf].

*k*k
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AF-1675 BPHSAZ2

U.G.DEGREE EXAMINATION, APRIL 2010
Physics - Allied

IC’s, SIMPLE CONTROLSYSTEMSAND
COMMUNICATION ELECTRONICS

(CBCS — 2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks
Part-A (10 x 1% = 15)

Answer all Questions:.

1. Distinguish between thinand thick film technologies.

6\D6dT WMOMID 6ue UL «~QOHTNd HILLSSHHemL Guiwlmer
CaumIUMLeDL &(H&.

2. Whatare digital IC’s ?

erenrenflenss 1C saer eredimmed ertrenr ?

3. State the principle ofa thyratron.

OSTMLINET SHGHOUSWS FaM)s.

4. Mentionany two uses of Thermostat.

6\&TGLDIT 61VLITLIe63T LIWLI6TTE: 6T @Tetorenl. GMILILNBS.

5. What is a servo mechanism ?

Q15 TG6UT EYSMLAEDIBITLLILD ET6ITDITED eT6dTEDT 2



6. Givetheacronym of PID.

PID sir efifleunsasens &@hs.

7. Define Bandwidth.

LIL6DL 56085605 6UDIUIM).

8. What is a matrix network ?

Sievofl SDM) 6T63TMTED 6T6TETT 2

9. Write down the principle of RADAR.

grLrfledr H55I6U560S eTLDSIS.

10.List out the basic components ofa RADAR receiving system.

gLt eLudledt HpliLiewL SHeo@demer LI 1gu160l(B.

Part-B (5x3=15)
Answer all Questions

11.(a) Explain with suitable examples, the Medium scale
integrationof circuits.

BOGS5ST Slerefleonent OASTGLL LUDM SSHS 2_&IMTI6wrs gL 65T
NeNT& & 5.

(On)
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(b)

12.(a)

(b)

13.(a)

(b)

14.(a)

Discuss the logic of AND and OR gates.

SILD DHMILD 2_LD &56) STHSMS 606M&HES.

Give details about the construction and action of a photo
voltaic cell.

@6l IS6TEOTDSS SHeomiserfledr SlemIDLiL| HMID Slguled LHMIL
eflLITTRISEW6IT &([H.

(©n)

Describe the working of resistive type transducers.

LOETTSHEML 6U6MS SpHMeED LM Gerfledr e1FulIemed sfeurl.

Explain the function of an AC'servomotor.

AC s1iGeur G Lrflest \Fwiemed sflens&s.
(©r)

Elaborate the working of a synchro-power amplifier.

RSSWE §58 C1L[HSHBUNET O\FWemeD 66M5HES 5.

Write a:note on the general principles of image transmission
systems.

DL LSS0 RIHMHIGSHET6 ILTGeUTes O\&TeTensssT LhNi
SMILL 61(DEIS.

(©n)
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(b) Sketch the functioning of a TV camera.

TV snbgmefles Q\FWIemeD 61(D&15.

15.(a) Write on the operating characteristics of radar systems.

DML @BRISEIT 61FUI60 LISTITLS6IT LM 6T(LD&I5.
(On)

(b) What are the salient features of radar antennas?

OMLAT SpesTLevTnS&erflett SDLIL| HDFHBISET Wimene ?

Part-C (3x10=30)

Answer any three Questions

16. State and prove DeMorgan’s theorems.

le o evfledt GHMHMMIGEMeN 61(DS Hews BerpLil.

17. Discuss in detail aboutearbon, dynamic and crystal microphone
function.

SMIL6ET, BusHS DHMID LIgs euend Redleunmisefledr Fweosemer
Neé & s.

18. Describethe working of a stepper motor with a necessary theory

L@ L@ Sumield GwmrLmiler Oswened G emeuuwlmer
Q& meTemSHemIL 6\&mevor® efleurf].
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19.

20.

Explain about the colour TV reception system with a block
diagram.

euetorewor |V eyl ufedtt \5M@LIL LILLD euemnbg) 69618 &s.

Write a detailed notes on indicator unit and duplexer of a Radar
system.

OMLAT QHHRIS6 2_6WTSHSID SH60@ DMMILD 1QU|LIE0SE T HEWLDLIL|&HET
umbn efifleuns erpgIs.

*k*k
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AF-1676 BCHA1

U.G .COURSE DEGREE EXAMINATION, APRIL 2010
Chemistry- Allied
GENERAL CHEMISTRY -1
(CBCS - 2008 Onwards)

Duration : 3 Hours Maximum : 60 marks

Part-A (10 x 174=15)
Answer ALL Questions

Give the oxidizing properties of H,O,.
H, 0, sfieir Sps6r0lezGembmL LIETITLISEDETE &[S

Draw the shape of sp hybrid orbital.

Sp seoLileor ShTLILMTEN6IT 6UIPEUSEMS EUEDTS.
How is natural gas produced ?

Bwihens eurw] ereeunmy wmilssLILGSDS) ?

What are amalgams ?

T&F&BE0EDEUGET GT6TITED 6T6TTE0T 2

How is Freon prepared ?

SoLrflwinesr steueunmy SwinflssLILGSDS) ?

Define geometrical isomerism.

6u1Q6UeWLDLIL| LDMMILILD LiHns) efeurl.



Define order and molecularity of a reaction.

6flem6TLILIIQ LDHMILD LPELSSRM)] 6T630T SHBWIEUNEDD EUEDIUIM)] ?
What are zero order reactions?

Lp2RUW ST 6eMETTSHET 6TEITDITED 6TEDTENT ?

Give the mathematical expression for first law of
thermodynamics.

QLI WISSENUIEOIEIT (LPSH6D \BTETENSHEHSHTEI FLDETLINL ML \SMT(B.

. Define enthalpy.
61QULILILDUILDITS6WED CU6WITUIM)].
Part-B (5x3=15)
Answer ALL Questions
. a. Discuss sp? hybridization with.an example.
Sp* BeTTEHHE0LIEDLI ©_FTTTNESIL 6T 6Hl6TT&:GS.
(OR)
b. Give preparation.andproperties of H,O,.
H, O, -6flstr guinifiLiLy LobmiLd LIETITL|S606ME S5
. a. Give the preparation and applications of fuel gas.
el eurmuefiledr SwimflLiL) LDOHMILD LWLIGTUNBSHEMENTS S[HS.
(OR)
b. Whatare the characteristics of alloys of Copper ?

smLLfleT 2_Georms:s 606meus6riledT LIGTTLIGET WITeney ?

. a. Give the preparation and uses of BHC.
BHC-ufietr gwinrfiiy opmitd LWIESTLITBEHem6Nd &Hs.
(OR)
2 AF-1676




b. Discuss the optical isomerism in Tartaric acid.
Lmimile Siusleosdesr eerfl ombailwid LiHny efleurfl.
14. a. Write notes on Paper chromatography.
ST GGIMGLIGLISTMI LN GMILIL| uenIs.
(OR)

b. Write notes on Gas chromatography.
aunw GGrmELMELISIMLI uhn) GHILIL eueHIs.

15. a. Derive the relationship between C, and C .
C, wbmib C seflet pmLienu gmefl.
(OR)

b. Give the different forms of Second law of Thermodynamics.

Qallil Gussewedle «@uerLid a\&meTensulsi LisoGaum)

LIQEUMRISENEITS &([HS.
Part-C (3 x10=130)
Answer any THREE Questions.

16. Discuss in detail the VSEPR theory.
VSEPR - aamstenaenwis Lpm) efeur.

17. Give the synthesis, properties and uses of silicones.

&leflaCanettserflett SuinmmiliL, LI6TTL&6IT LDHMILD LIWGTLNBSHEM6ITS S(IHS.

3 AF-1676




18.

19.

20.

Give the preparation and uses of (i) Chloroform, (ii) CCl, and
(ii)) DDT.

Seubniett swimiLi) oHIILD LWISTLTGSE6TS HHS. (1) GGeTmEEmLITLD.
(i) CCl, wpmub (iii) DDT.

Derive an expression for half life period for a first order
reaction.

(LPS6V Ll 6l6menTsi S HEWIEUMLDEY HTE0SHDSTEI FLDCIILINL 6WLS &([H6Sl.
Derive an expression for Gibbs free energy change.

SL16r0l65T SL.196060IT DMHMED LDMHMNEH6EIT FLOGILITLEDLS H(HEA.
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AF-1677 BCHA?

U.G.COURSES DEGREE EXAMINATION, APRIL 2010
CBCS
Chemistry - Allied
GENREAL CHEMISTRY -1
(2008 Onwards)

Duration : 3 Hours Maximum : 60 marks

Part-A (10 x 1%2 = 15)
Answer All Questions.

What is chelation ?

&BE0F6T ETEITMITED 6T60T60T ?

Name the following compound as recommended by IUPAC,
Na,[SiF ].
EpsaeL Jlenewiald Gsiogdne |UPAC, ewuwi@s Na,[SiF ].

Give examples for antimalarials.

Op6OTIRLDBEVIILIELSEH S 2 FTTETTRISHET O\ST(B.

What is meant by chemotherapy ?

&G O\BILT 6T63TMITED 6T60TENT 2



10.

Write the chemical name of Vitamin C. Mention its sources.
emaulLiflesr C-ullesr GeudlieIwIenT 61(&I. g ereueunm)

SeoLsEDE).

What is a disaccharide? Give an example.

OLENSHHEDIB 6TITMITEL 6T6tT6nT ? RIT TBSHSHTLB STh.

What is phosphorescence ?

LIMETGLIMT6NV63TeNy 6T63TMITED 6T60T60r 2

What is photosensitization.?

R6flagHMevBSH60 ETETMITED. 6TEdTE0 2

What is meant by equivalent conductance ?

FLDMEV HLSHGIGBMET 61636V 6T60T60T ?

What is Ostwald’s dilution law ?

Speveureol [Biigged 6fld eT6tTMTED 6T60TERT ?

2 AF-1677




11. a.

12. a.

Part-B (5 x3=15)
Answer All Questions.

Discuss the postulates of Werner’s theory of coordination
compounds.

Slemeeys G&MDMmIGET LHM euTeurile O\&meTensgenen efleurl.

(Or)

Define ligands and coordination'number.

F6ull&6IT LDMHMILD HEWETITEY 6T6T0T DB BIIEUNEND EUEHTWI).

What are the applications’of anaesthetic ?

LDWIS& LDIHHES6IT LILIGTTSH6IT WITEmeY ?

(Or)

. What are antibacterials? Give any two examples.

SpeirigLInsIefLNsS6iT eT6sTMITeD 6eT6tTenT ? TGSHEMILD Brevor®

1BHEIS SHTLBH6T SHhH.

6+4)
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13. a. How will you convert glucose into fructose ?
GeeTH&CHTENEN SHLITEHBLITETS eTeNeUT M) DMHMIGUTUI ?

(6+4)

(Or)

b. What are vitamins? How are they classified ?

DAL L LSGTTSHET ETEITDITED 6TEITE0T? HEWEUSHEIT ET6NETM)

auemasL LGSSLILGSEDG ?

14. a. State and explain Einstein’s law'of photochemical
equivalence.

getrenvieesfledr @erfl GeuBuNuied FeTLINE eflHemuis: san eflens:Es.

(Or)

b. Compare.photochemical reactions with thermal reactions.

Re6fluE Caud sflenenssmer AauLiL Geud efleneraEpL 6T RLILNBS.
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15. a.

16. a.

What is pH of a solution ?

@ sewggedest PH Pl eretrg) wing) ?

(Or)

Explain the buffer action of a mixture of ammonium hydroxide
and ammonium chloride.
SIbBwneflwib ewapLgnsama®. SHibGwreflwb GGarmenr®

HENEVEN6Y C1GITETITL. SHeMTFE0l6T HMThIGHED, 6flemevTemul 66T &S 5.
Part-C (3% 10=230)
Answer any Three Questions.
Explain the biological functions of haemoglobin and
chlorophyill.

anfGor@Gsmmfer wWHmID GCern@rmlenueler 2 ulifiwed

Q\FILIELSHEmET 6561155

Describe any two important applications of EDTA.

EDTA -uletr ggneug Suetor® wpsswiomes Liwiesrsenern sfleur.
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17. What are analgesics? Give examples. What are its applications ?
Sleved ghldla6v 6T6ITMTED 6T6ITEN ? ©_FHMIEUIRISET O\ST(B. euhniesr

LIWLIGOT&H6IT WIT6m6 ?

18. Discuss the structures of the following :—

I. Fructose. ii. Sucrose.
(6+4)
LNesTeudneusTTODMIEIT SHemLDLIL|G6me efleurfls g 61Lpss :
©) SLpsLGLms. ©p &&Comen.
(6+4)
19. Write short notes on :
I.  Fluorescence.
ii.  Quantumyield.
iii.  Chemiluminesecence.
(3+4+3)
i GNILIL euewTs.
©) _@efiizeo.
(D) . GEUTETITLLLD 65l6merT& 6.
@ Geaud @efliey.
(3+4+23)
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20. Write anote on:

i. Common ion effect.
il. Henderson equation.

iii. Secondary cell.

(3+4+3)
SDILIL| 616WTS.
©) ewung Sweufl eflemerey.
&) O@meiiLTFetT FD6TLN(.

@ smeTTSSH6OLD.

(3+4+3)

*kk
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AF-1678 BBOA1

U.G. DEGREE EXAMINATION, APRIL 2010

CBCS
Botany - Allied
THALLOPHYTA, BRYOPHYTA AND PLANT PATHOLOGY
(2008 Onwards)
Duration : 3 Hours Maximum : 60 Marks

Draw diagrams wherever necessary.
Part-A (10 x 1%2 = 15)

Answer all Questions

1. Trichoblast

leer&GaT LiemmeivL.

2. Oogamy

QengmLs.

3. Dikaryotic mycelium

oL &GS ML 1es emDdlediLb.

4. Xanthomonas citrii

e Gsm@Lomevtmeny S il.



5. Perichaetial leaves

ewfGaaduied Gemev.

6. Ovwuliferous scales

eajedlaLiTev O\58e60.

7. Spurshoot

SMIBIBEmeT.

8. Annualrings

OLETUT(B CUETEITLIMRIGEIT.

9. Stonecells

560 61FEOH6IT.

10. Piliferous layer

emLeSILIOLITEN HBSHS.

Part-B (5x3=15)
Answer all Questions
11. a. Explainthe general characters of Algae.

undaserfledt O1LIME) LISGoTL|&6T LIDNS| 6 SL.[Bem 6U6nIs.

(©n)
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12.

13.

14.

a.

a.

a.

Describe the different types of lichens.

MEVSBHETTEHETEI EUemSBSHET LM 1 GSMIILIL 6TLDE).

Give an account on the structure of Polytrichum.

LIT6OIL6DI5&S5S60T ieMLDLIEML LIHN 6T(LDE-
(©n)

Explain the methods used to control Bunchy top disease of
banana.

anenpuied ghu@ usrtdLmi Grrnuienen &L GLUUGSSID
WPmDEERET LD 6T(LDSIS.

How are Pteridophytes classified according to K. R. Sporne ?

Gs.9p ev@ummett GLMBGsMeiTLE OLAGLT HewuLGserfleor
CUEDSLILITLL6m6DT 66T &S,

(©n)

Give an accounton the general characters of Pteridophytes.

OLAGLM. &-ewLLBaefleir O1LIMg s SenerLl Lhn) @ SLBenT

QUM 5.

Describe the ovule of Pinus.

emLievTerdledT 60 LS| efleurfl.
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15.

16.

17.

18.

(Or)
b. Write down the classification of Gymnosperms.

ZBILDB6DTITEND EILITLIIEIT EUEDESLILITL LQEWEDT 6T(LDE.

a. Explain the secondary growth in dicot root.

BmesSemeo Geuflett GuewrLmid Bemed alemigsemwl
NesG 5.

(Or)
b. Give anaccount on the meristematictissues.
Op5S SFEHEHMET LIDN R(H SLHBEDT 6UDTS.
Part-C (3x10=230)
Answer any three Questions

Explain the structure and life cycle of Polysiphonia.

uneSlensliGunefluimelledt SlewibliL WOMID EUMDPSHENS
&pHEenWw 6M6m&HES.

Describe the life cycle of Puccinia.

usSevflianefen eumpsHens sphdenw eflfleuns erwpgl.

Draw and describe the sporophyte of Polytrichum.

unedlLemrssgSesr evCUTCITEnLL SIEMDLIENL 66DTH S
efeurfl&&e)Lb.
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19. Describe the occurrence, structure and life cycle of Selaginella.

6\sevevnzdlareorevevmefiledt UL LD, SHEWLDLIL| LDHMILD CUTLDE:ENS
&LpMHEemul 611G

20. Write an essay on the classification of tissues.

B5:8:561165T eUemSLILITLIRE6TTLI LI (H SLBEWT 61(LDSIS.

*k*k
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AF-1679 BBOA?

U.G. DEGREE EXAMINATION, APRIL 2010
CBCS
Botany - Allied

TAXONOMY OFANGIOSPERMS, ECONOMIC BOTANY,
EMBRYOLOGY OF ANGIOSPERMS AND PLANT TISSUE
CULTURE

(2008 Onwards)
Duration : 3 Hours Maximum : 60 Marks

Draw diagrams wherever necessary.
Part-A (10 x 1% = 15)
Answer AL L= Questions

1. Bulb

SWLD H600r®.

2. Aggregate fruit
BreT s6vfl.

3. Pollinium

ewmedlesflwid

4. Trimerous flower

ELP6UIRI& LDEVIT.



10.

11.

Synergids

dleort L Se6iT.

Double fertilization

SULeL SHAIDISE0.

Totipotency

WPRSMEST O IIDHMIETOTEMLD.

Organogenesis

2_MILILSEMTEHSLD

RUBP Carboxylase

RUBP sniungerSi@eoen.

Cytokinin

&L BLTema60fl60T.

Part-B

Answer all Questions

a. Give anaccount on phyllotaxy.

BmeowB&sLD LD 6MeTSHELD S(Hs.

(5 x 3 = 15)
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12. a.

13. a.

14. a.

(Or)

. Explain placentation.

860 QL LemLpeflement efleurfl.

Write about the Androceium of Rutaceae.

el GLer0l LD&ITESSSTET 6ULLLD LIHN 6T(LD&1S.

(Or)

. Write note on spikelet of Poaceae.

GUTBWIH GBLDLISSET 6106MLISEEVLIQEDET 6T(LDSIS.

Describe the structure of Orthotropous ovule.

SHTSBHMIQIITLIEN &6 SiewLDLilNewenr efileurfl.
(Or)

State the significance of fertilization.

&(HEUM|SEVI60T (LPSHBUIH6USEDS 6T(LDS)IS.

Explain the protoplast isolation by enzyme method.

QIBMTBS6IT epsold LIGIGLMAermsivL SevflempLIBS 1560 (penmuienest
NeTsESs.
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(Or)
b. Give an account on somatic embryo.
G&MLDTIYS; &(TH LIHN 6T(LDEI5.
15. a. Describe seed dormancy.
sfllens 2_naasHemen eflaurfl.
(Or)

b. Write about Electron transport system.

6TEVSIQITITENT HL&G| FHIHE0 LD 61(LDSI5.

Part-C (3x10=230)

Answer any.three Questions
16. Write an essay on taxonemic characters of Annonaceae.

SiBeuGeuré] GBLDLISHH6IT 6UENSLITD LISTITL|SH6M6NT &L [BEDIUITS 6T(LDE)IS.

17. Describe racemose types and cymose types of inflorescence.

e GLéiv DHMILD emEBLDIMEN 6U6EMS: LDEhE fluNement eflerns:@s.

18. Explain the development of dicot embryo.

Bmsilsdemeo smeusisdluilement efeurfl.

4 AF-1679




19. Give an account on Anther culture.

LD&THS CUEITITLIL| (LPEDMUNEWEDT 6T(LDSIS.

20. Describe Dark reaction.
Bme Srilemwuws ubhn efeurfl.

*k%x
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AF-1680 BZOAl

U.G.DEGREE EXAMINATION, APRIL 2010
Zoology -Allied
BASIC AND GENERAL ZOOLOGY
(CBCS — 2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks
Section-A (10 x 1¥2 = 15)
Answer all Questions
1. Encystment

gl ® [Bemev.

2. Genera

GuiflesTriis6IT.

3. Budding
SI([HLDL|G60.
4. Spicules

[BI6TOT(LPL G:6IT.

5. Nursebee

6\g6fled Gaenf

6. Cocoon of silkworm

U GULLFAuTesT sal (G LiLpBenso.



7. Labeorohita

GeoLABGwi G Lm.

8. Fangs

efl&LIL6v.

9. Plymouthrock

LNemevLDEYS TS

10. Jersey cow

6\&d Ls.

Section - B (5x3=15)

Answer all Questions

11. a. Write down the salient features of Coelomata.

BeonGLoL L meflledT E1LIMGILILIETITL|SHE6IT 6T(LDE)-
(©n)

b. Enumerate the primary characters of phylum chordata.

WwaGHel asTGSulles Ws6sTemd GsTTHHAwmigemeT LH
S60015BB 5.
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12.

13.

14.

a.

a.

a.

Write short notes of Filarial worm.

emLIGeorfluim LypefemetLl LD & ([HESLDNS 6TLDE.

(©n)

Give an account on parasitic adaptation of Ascaris.

Slsivasilerdledr @1 Bevorevoll & euembLILNemesT LB OSTSSS 565

Give an account of the utilization of agricultural wastes for
vermicomposting.

el 2 b Swnisseded Gevenmewr sLfle &6 eTeuumm)
LWeTLBSSILGEME) eT6tTLIEmS LD O\ST&S58! STHS.

(@)

. Wirite briefly about the Sericulture.

UG SU6ITLIL| LD S(H&E&LDTS: 6T(LDE)-

Write short notes on catla catla.

&L 6o &L-60m Lbevflemest LD GMILIL| 6u6HTS.

(©n)

. Explain the biting mechanism of snake.

LIMDL Sle&@LD HILLILD LIDNS) eflerné:&s.
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15.

16.

17.

18.

19.

20.

a. Write notes on ‘Poultry production in India.’

Sipduwinsfiest GamLfl 2_hLigs Lbn GBILIL eTdps.
(&y

b. Describe the rearing technology of pig.

uesTleuemLILNedr Q\SMLAe ML Lirbigemert Ln) efeurfl.

Section-C (3x10=30)
Answer any three Questions
Give an account on the general classification-of animal kingdom.

sfleomient GBLOLISSET EILINEG)| 6UHSLINTLIQENET E\STSSH STH.

Write an essay on ‘Corals and its importance’.

LIGU6IT LITEMM&6IT LDHMILD D1SH6T (PSS GI6ULD LIHN &L BemIT 6T(DGI.

Describe the methods.of bee keeping.

Gaeof euaTTaGLD (Wpemmasit Lbl efleurfl.

Write an essay.on the “South Indian poisonous Snake”.

65 6tTerliBBUL 6leQLIMLDLIGEM6ITLI LIH &L BT 6T(LDE!.

Write an essay on Economic importance of animal husbandry.

SMeOBewL euemTILed QUMTHETTSTT WHBWSS 6D LD SLGenT
(D&

*k*k
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AF-1681

BZOA2

U.G. DEGREE EXAMINATION, APRIL 2010

CBCS
Zoology - Allied
CONCEPTUAL ZOOLOGY
(2008 Onwards)
Duration : 3 Hours Maximum : 60 marks
Part-A (10 x 1% = 15)

Answer All Questions:

Write short noteson

1. Nitrogenous base pairs.
6OIBL TER63T SITT ELPEOMRIGHEIT.

2. Prokaryotes.

YGomGaflGuimseit.
3. Tumour.
Lbm) SLIQ.
4. Placenta.
S Gl RemewTLIL|S S5

5. Turner’ssyndrome.

LiteorT Hevor Gmmb



6. Sexchromosomes.

uned &CrmGLMGEMLDS6IT.

7. Antigen
S PTLICWLITBHEIT.

8. CopperT.
STLILIT 1Q.

9. \ector.
SLSDS6IT.

10. Micro injection.

[Rj6v0T e,

Part-B (5x3=15)

Answer All Questions.

11. a. Writeashort note on meiosis |.

&60Te0 LiGLILTetT Bemev | Lib) @6 fmy GSMILIL 6uemrss.

(©n)
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12.

13.

a.

a.

Draw a neat sketch and label the parts of typical animal cell.
R(H 6MevmIG 61F606065T SHeWDLIEWL LILLD 6U6DIHE LIMSMhISemerT

&GS

Write a short note about chemical carcinogens.
Lbm) Cremulemens geworBLD Geudied smyevvilssir Libnl Hmy Gl

QUMD S.

(On)

Mention the importance of placenta in man.

weflsefledo  smewriu@d. T Gl  GeweurLiL|S S g6l 6dr

WPHEWGIUGMS, 66T SS.

Define Pedigree analysis.

&bsd euLbl sewred LIS euenTwIm).

(On)

. Write ashort note on Eugenics and Euthenics.

upe1zz6vflse HMID WSesllsen Hm) GHILIL 6TsIs.

3 AF-1681




14.

15.

16.

a.

a.

Discuss birth control in man.

wevllgeufled AL SIGLLTG LD sfeurs.

(On)

Give a brief note on fermentor.

BMPS6060T LIHN GNILIL| S([HS.

Write a short note on Gene cloning.

g6t @Benmevfiril LD Ay SO SHS:.

©n)

Define blood coagulation.
Br55LD 2_HMSHEM6VLILI LIDNS 6uenIuwim).
Part-C

Answer any THREE Questions.

Explain the structure and functions of DNA.

(3 x 10 = 30)

19.6760T. eT6flEn)IEML LI Si6WLDLIL| LDHDLD Listollemasar sfifleuns; erwpgis.
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17.

18.

19.

20.

Write an essay on test tube baby.

BEMSHEMEIT GLPMUI GLPIHEWS LIDN (H SL.(BEDT 6T(LDGIS.

Give adetailed account on sex determination in man.

Levflgevfled Limed BitevoruiLd LHN &h efifleunesr OFTGSLIL| S[HS.

Discuss antigen - antibody reaction.

SHETITIE1ZR60T D601l LM 6flemevtenil sleums.

Write an essay on Recombinant DNA technology.

DM BE06U0T6Y I9.6163T.6 Weu LDM (H SLBERIT CUMIS.

*k*k
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AF-1682 BZOA3

U.G.DEGREE EXAMINATION, APRIL 2010

CBCS
Zoology - Allied
CELLBIOLOGY, GENETICSAND EVOLUTION
(2008 Onwards)
Duration : 3 Hours Maximum : 60 Marks
Part-A (10 x 1% = 15)

Answer All Questions:

1. Differentiate prokaryote cell from eukaryote cell.

LGomGasifluin: e \s6bsemer uy,Gasflwim QlFsoserlled b Couml LGSSIS.

2. Nucleotides.

Buy BerflGuinenL GasiT.

3. Malignanttumor.

2_sdionesr &L

4. Listout the significance of mitosis.

LDEDMPSLI LIGLILNETT (SHBLSSI6186mS LIL 1Qu 16018



10.

Down’s syndrome.

Leyedtsiv dledti Gimib.

Write down the genetical reasons for syndrome in man.
el evfled smemrILGLD HedTGrmLShHasmest LDTLIUIED SHTTETIhISED6IT

61(LDSI5.

Y -linked inheritance.

Y- @ewevvibg LimgLbLfwiLD.

Iszihara chart.

SelpBHMm L.

Define abiogenesis.

2 _udifled eund @-u@smbmLD.

List out the reasons for extinction of animals.

6Ml60MIGSHET IHABSHHSTE SHTTETHISHENET LIL 1QU 1601BS.
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Part-B (5x3=15)

Answer All Questions.

11. a. Explainthe structure of E.Coli with neat diagram.
Bevgaflgdwm Cameneo 61560 HemLbLiL| LHM) Qg erfleurent LILS gL 651

eNens.

(©n)

b. Explain the ultrastructure of an animalcell.

6560rkIE 6)F6060163T Hl6VOTETOTEMLDLILY LIDNS) 6fl6rTeh@&s.

12. a. Write down the significances of meiosis.

GEBTMED LIGLIL|LPEDMUNEIT (LPSBILISSI6USEDS 6T(DSIS.

(©n)

b. Listoutthe reasons and treatment for cancer.

Ybm CreMULISSTE SMTEwIMhIS6IT LDHMILD G6TLILIBSHSILD (LPeDDE:EmnerT

L QuIeSI(Bs.

3 AF-1682




13.

14.

15.

a.

a.

a.

Give a brief account on pedigree analysis.

aubsnaul uGLLMLeNenest LD b Sml GMILIL SHS.

(©n)

Write a short note on Mendelian traits in man,
el evfled SmevoTILIBLD 6)LD6voTL 6l65T FMLIELSET LD SM) GNILIL|GET

QUMD S.

Write down the genetical reasons for albinism.

SisoLllesfllernsgShement LDTLNLIED SHTTETTHISHEDEIT 6T(LDS)IS.

(@)

Discuss about colour blindness.

B0&@®HE Lbm) éfleuns.

Explain Urey - Miller experiment.

upCr-Lilevevit &g ementLi LMY eflems@s.

(©n)
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16.

17.

18.

19.

20.

b. Give ashort note on geological time scale.
L6 &MeD euemILILILLD LIDNS) Sr(HEESLDITS 6T(LDE)-
Part-C (3x10=230)

Answer any Three Questions.

Explain the molecular structure of DNA with neat diagram.

19.6760T.67651163T eLPELS: TN SHEBLDLIEHLILI LIHM) LIL S8 IL 651 6161155

Describe the various theories of carcinogenesis.

ybm Grmi GgmhmLb Lbniiw GamLimGsemen efleurfl.

Discuss about the syndromes in man. Mention the genetical
reasons.
wesfllseufled smemrlILGLD. Aesti@mbd LbH efleund. GeYLD Sighssmeot

oL fied SMTeTTmhiISemen GNILILNBS.

Write a detail account on inborn errors of metabolism.
aueniidlems WwIHD LADell Gewpur® udn @ sfifleuner OgTESLL

TS5

Write an essay on the biological evolution of human.

wevflgesiletr 2 _ulfiwed LflewrmbgensLi LH &b S1BGewT 61(LSIS.

*k*k
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AF-1683 BZOA4

U.G.DEGREE EXAMINATION, APRIL 2010
CBCS
Zoology - Allied

DEVELOPMENTALBIOLOGY, PHYSIOLOGYAND
ENVIRONMENTAL BIOLOGY

(2008 Onwards)
Duration : 3 Hours Maximum : 60 Marks
Part-A (10 x 1% = 15)
Answer All Questions.

Write short noteson :

1. Puberty.
@e wdisa.

2. Classify - twins.

S MLITSET-6UDSLILIBESIS

3. Rickets.

f&sL 6.

4. Importance of water.

SEGOTETOT 60T (LpSSIGGHI6ULD.



10.

Arteriosclerosis.

SpiieiGuwimsroderfiGmdsiv.

Cerebral hemorrhage.

aFfleuTeo OsLETTE.

Pollutants.

LOMELIBSDS6T.

Bhopal tragedy.

@GUITLITEd LD,

Green bench.

LI&6mLD B(HEH6m.

Ozoneumbrella.

@GBFTeT GH6EWL.
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Part-B (5x3=15)
Answer All Questions.

11. a. Define and differentiate identical and non - identical twins.
RMOmienuwenLw CaunLT@enLW SILEDLIWITSHET 6T6dInTed 6T6oT6or

B55msW @I enLwisaer CaimiLIBSS 1S

(On)

b. Comment on human menstrual cycle.

oM 6ALML SpHElullement eTLDS:

12. a. Define and highlight the. importance of balance diet.
sfelds o ewre) (ereiimned etetreor ? gFifleflds 2 evorefletr

PEASSIOUSDS 6IDY)-

(©n)

b. Comment on malnutrition.

2ar1'| GemmeLIDI 61D
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13. a. Give short notes on Blood coagulation.

855D 2 dMGE LD 6T(RE-

(On)

b. Write short notes on Blood sugar.

B85 F1&5mMIL LN SHILLSET S(Hs.

14. a. Write the sources of water pollutants:.

BT LOMSLILIGSSILD eLPeORIG6IT LIDIT 61(LD&)-

(@)

b. Explain the adverse effects of air pollution.

&SMHM THLGEISTEd eIHLIGLD LUNSLIL|sener efleurf].

15. a. Discuss.the role of National Environment Movements in
environmental management.
&OMIF &\p6d GLpevmetoremipuilesr Gs&lw sHMIS: &ped B migerflest

UruBenet 66rms .

(On)
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16.

17.

18.

19.

20.

b. Brieftherole of pollution control boards.

&L GLUTLG eumflugdett QeweoLITB&HeneT sam).
Part-C (3x10=230)

Answer any Three Questions.

Describe in vitro fertilization in detail (test tube baby-production).

SpliejsaL SHSSHLILNen6u efeurfl.

Write an essay on vitamin deficiency diseases.

A L LS6TTSH6IT GEMMLIMLIQ6BTTED eTMLIBLD BBHMULIS6IT LD &L (B0 6U6mTs.

Write an essay on urine formation.

AmiBiT Garemieu LD SLBEOT 61LDSI.

Give a detailed account on Nitrogen cycle.

eobLIR6t sLphdlullenen eflifleuns sfenss.

Write an essay on global warming.

©_605LD 6)GULILILDUILDITGE0LINN &L (B6WI 6U6MTS.

*k%x
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AF-1684 BCESAl

U.G.DEGREE EXAMINATION, APRIL 2010
Computer Science - Allied
DIGITALELECTRONICS

(CBCS)
(2008 Onwards)
Duration : 3 Hours Maximum : 60 Marks
Part-A (10 x 1% = 15)

Answer All Questions.

1. Convert 1010.011 to decimal equivalent.

2. What is Karnaugh Map ?

3. Whatis a Full adder ?

4. What is a digitakmultiplexer ?

5. Draw theblock diagram of a sequential circuit.

6. What is trigger ?



7. What is propagation delay ?

8. WhatisECL?

9. Write the Millman's theorem.

10. What is a binary ladder ?
Part- B (5x3=15)

Answer All Questions.

11. a. Given two binary numbers X =:1010100 and Y = 1000011

Perform the subtraction X-Y using 2's complement.

Or

b. What is positive.and-negative logic ? Explain.

12. a. Write thesteps involved in design procedure of combinational
circuit,

Or

b. What is a magnitude comparator ? Explain.
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13. a. Explainthe function of RS flipflop with neat logic diagram.

Or

b. Explain the operation of Shift counter.

14.a. What is fan-out computation ? Explain.

Or

b. Explain the basic structure-of MOS transistor.

15. a. Write the criterias that-can be applied to resistive divider

Or

b. Explain the successive approximation counter.
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Part-C (3x10=230)
Answer any Three questions.

16. Explain the Don't Care conditions of boolean function with suitable
examples.

17. What is an encoder? Explain it's implementation in detail.

18. Explain the function of Schmitt trigger with neat diagram.

19. Explain the open-collector TTL: gates with neat diagram.

20. Explain the Dual slope A/D conversion in detail.

*k*k
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AF-1685 BCESA2

U.G. DEGREE EXAMINATION, APRIL2010
Computer Science
MICROPROCESSORS AND INTERFACING
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks

Part-A (10 x1% = 15)

Answer All questions.

1. Define address bus.

2. What is the purpose of WAI T state ?

3. List out any two addressing modes.

4. Define Subroutine.

5. What do:you mean by MAXCODE ?

6. Write about Decoder.



7. Distinguish between ROM and RAM.

8. State the purpose of Modem.

9. How many registers used in 8086 ? What are they ?

10. What isan Interrupt ?

Part-B (5%x3=15)

Answer All questions.

11. a. Write short notes on Controlbus.

(On)

b. Discuss about memory timing.

12. a. Write-a note on Assembler Directives.

(On)

2 AF-1685




b. Discuss about Stack and it's operations.

13. a. Write a note on 8284-clock generator.

(On)

b. Discuss about 8259 PIC

14. a. Describe about BIOS and system ROM.

(Qn)

b. Discuss about CRTand it's functions.

15. a. Explain about the registers of 80386

(On)

b. Draw the pinout diagram of 8086
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16.

17.

18.

19.

20.

Part-C (3x10=230)
Answer any Three questions.

Explain in detail about 8086 internal architecture with neat

diagram.

Describe the instruction set of 8088 in detail with'diagram.

Write short notes for the following' :-

@@ 8251 USART.

(b) 8253PIT.

Discuss in detail about ROM and RAM.

Explain indetail about addressing modes used in 8086

*k*k
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AF-1686 BCESA3

U.G. DEGREE EXAMINATION, APRIL 2010
Computer Science - Allied
MATHEMATICAL FOUNDATION FOR

COMPUTER SCIENCE
(CBCS—2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
Part-A (10 x2=20)
Answer all questions

1. Letpstand for ‘prices and high’ and q.for ‘wages are rising’.
Translate the value —(—p v —q).inte'verbal form.

2. Construct the truth table for (p— (p v q)).

3. Define Conjunctive normal form ofa formula.

4.  Show that (Vx) (P(x)).— (3) (P(x)) is a logically valid statement.
5. Define unilaterally connected graph.

6.  Define diagraph with an example.

7. Define cut-set.

8. Explain Hamilton path and Hamilton cycle.

9. Write down the minterm normal form of f(x,y) =X V¥.

10. Define Hasse diagrams.



11 a.

12 a.

13 a.

14 a.

Part-B (5x5=25)
Answer all questions
Show that (P A Q) = (P > Q).

(Or)

. Show that Q v (P A =Q) v (=P A —=Q) is a tautology.

Show that (Vx) (P(x)) v (Vx) (Q (x)) = (VX) (P(x) v Q(x)) is
logically valid.

(Or)

. Obtain the conjunctive normal form ofthe formula

P—((P—>Q)A—=(—=Qv—P))

Show that in a simple digraph.G = <V, E>, every node of the
diagraph lies in exactly one strong component.

(Or)

Prove that in any graph; the number of vertices of odd degree is
even.

Prove that a connected graph with n-vertices and (n—1) edges is a
tree.

(Or)

If'S isa-cut-set of a connected graph G. Prove that (G—S) contains
exactlytwo connected components.
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15 a. State and prove De Morgan’s laws in Boolean algebra.

16.

17.

18.

19.

20.

(Or)

b. Find the sum-of-products canonical forms ofthe Boolean function.

f(x, X, X)) = (X, VX ) A X, VX)A (X, VX).

Part-C (3.x'10 = 30)

Answer any three questions

(a) Show that (—=PA (—=Q AR)) v (QAR) v.(PAR) < R.

(b) Show that (P — Q) A(R — Q) and (P v R) — Q are equivalent
formulae.

Show that (Vx) (P(x) v Q(X)) = (VX)) P(x) v (Ix) Q(x).

Prove that a graph G is disconnected if and only if its vertex set V
can be partitioned into two nonempty subsets V and V, such that
there exist no edge in G, whose one end vertex is in V and the
otherin'V..

Prove that a connected graph G is Eulerian if and only if it can be
decomposed into cyeles.

Show that the direct product of any two distributive lattice is a
distributive lattice.
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AF-1687 BCESA4

U.G. DEGREE EXAMINATION, APRIL 2010
Computer Science - Allied
COMPUTER ORIENTED NUMERICAL METHODS

(CBCS—2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
Part-A (10 x2=20)
Answer all questions

1. What is the criterion for the convergence in Newton-Raphson
method ?

2. Findaniterative formula to find the reciprocal of a given number N.
3. Explain the principle of least.squares.

4. What do you mean by Rotation Matrix ?

5.  Find A’ f{x) if f{lx) =(3x+ 1) Bx+4) B3x+7)...(3x+ 19).

6.  Explain Linear interpolution.

7. Write the general quadrature formula for numerical integration.

8. Write'the Newton’s backward difference formula to compute the
first and second derivatives.



10.

11 a.

12 a.

What is the difference between Euler’s method and improved Euler’s
method ?

Write down the Runge-Kutta formula of fourth-order to solve

dy
KZ f(X7 y)7 y (Xo) =Y

Part-B (5 x5=25)

Answer all questions

Find a positive root of x — cosx = 0 using Netwon’s method.

(Or)
. Solve the system by Gauss - elimination method.
2x+3y—-z=5
4x+4y-32=3
2x —3y+2z=2.
251 2
Find the dominant eigenvalue of the matrixA= |1 3 0
2 0 4
(Or)
. Fit a straightline to the data given below. Also estimate the value of
yatx=2.5.
X =0 1 2 3 4
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13 a.

14 a.

15 a.

b.

Use Lagrange’s formula to fit a polynormial to the data.
x: -1 0 2 3
y: =8 3 1 12

(Or)

. Formthe divided difference table for the following data :-

Xx: =2 0 3 5 7 8
y: =792 108 72 48 —144 =252

Find the first and second derivative ofy = Vx at x = 15 from the

following data.
x : 15 17 19 21 23 25

Vx : 3.873 4.123 4.359 4.583.4.796 5.0

(Or)

14
. Evaluate : Dj | e dx by taking h = 0.1 using Simpson’s one-third

rule.

Using Taylor series method, find the value ofy(0.1),

d
given that d—y =x?+y’and y(0) = 1.
X

(Or)
Using Euler’s method, solve numerically the equation

d
?)}(] = x*y, y(0) = 1, for x= 0.0 (0.2) (1.0)
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16.

17.

18.

19.

20.

Part-C (3 x 10 = 30)

Answer any three questions

Solve the system of equations
8x—-3y+2z=20;4x +1ly—-z=33;6x+3y+ 12z=35
by Gauss - Seidel method.

By using the method of moments, obtain a straight line fit to the data

o1 2 3 4
y: 03 064 132 54

Using Newton’s divided difference formula, Find the values of f(2)
and f{(15) fromthe following table :

x 4 5 7 10 11 13
fix): 48 100 294. 900 1210 2028

1.4
Compute OAJ (sinx —logx + ¢e*) dx by taking h = 0.2 using
Trapezoidal rule.

Apply the fourth order Runge-Kutta method to find y(0.2),

d
given data sy + y,y (0)=1.
dx
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AF-1688 BCEAl

U.G. DEGREE EXAMINATION, APRIL 2010
Computer Science - Allied
OFFICEAUTOMATION

(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks

Part-A (10 x 1%, = 15)
Answer All Questions.

1. What is word processing ?

2. What is paragraph ?

3. How many points are equal to one inch in a character size ?

4. What is the purpose’of CTRL + H keys combination ?

5. How do youinsertarow inatable ?

6. What is WordArt ?



7. What is data source in mail merge ?

8. What s range ?

9. When the undo and redo memory are cleared ?

10. What do you mean by filtering records ?
Part-B (5x3=15)
Answer All.Questions.
11. a. Write anote on copying text.

(©n)

b.  Write about replacing text.

12. a. Whatdoyou mean by bullets? Explain.

(On)
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13.

14.

15.

b. Write about replacing text.

a.

What is table? How do you create it? Explain.

(©n)

. List the different graphics file formats supported by word with

their file extension.

How do you enter formula in‘Excel? Explain its advantages.

(©n)

Write note on-cell alignments.

Write-note on print area.

(©n)

List the different views in PowerPoint and explain.
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16.

17.

18.

19.

20.

Part-C (3x10=230)
Answer any Three Questions.

Discuss about editing a document.

Explain page set up in detail.

What is mail merge? Explain with examples.

With neat diagram explain the Excel structure.

Explain about reports inAccess.

*k*k
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AF-1689 BCEA2

U.G. DEGREE EXAMINATION, APRIL2010
Computer Science - Allied
PRINCIPLES OF INFORMATION TECHNOLOGY

(CBCS)
(2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
Part-A (10 x 2 =20)

Answer All questions.

1. What do you mean by technologieal convergence?

2. Define Communiations.

3. What do you mean.by-applications software?

4. Define word processor.

5. What do yeu:mean by teleconferencing?

6. What is modem?

7. Define Transfer rate.



8. Define Key field.

9. Define DSS.

10. What is a pseudo code?

Part -B (5x5=25)

Answer All Questions.

11.(a) Classify computers by its sizes and'explain about them.

Or

(b) What are the three developments in communications?
Explain.

12.(a) Explain some of.the editing features in MS word with ex-
amples.

Or

(b) Explainthe capabilities of communications software in detail.

13.(a) Writeanote on online services offered by internet.

Or
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(b)  Write about analog and digital signals with neat diagram.

14.(a) Write anote on compression and its techniques.

Or

(b)  Write a note on types of files.

15.(a) Listthe six phases of systems analysis and design.

Or

(b)  Explain the concept of OOP,

Part - C (3x10=230)
Answer any Three questions.

16. Explainthe ethics and.development of IT.

17. Explain the ethies and intellectual properties of copy rights.

18. Explainamicrocomputer communication with examples.

19. Explain about file management systems.

20. What are the five steps of programming? Explain with neat

diagram.

*k*k
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AF-1690 BCEA3

U.G. DEGREE EXAMINATION, APRIL 2010
Computer Science - Allied
PROGRAMMING IN C

(CBCS)
(2008 Onwards)
Duration : 3 Hours Maximum : 60 Marks
Part-A (10 x 1% =15)

Answer All questions.

1. How Variables are defined in C ?

2. Name any two Keywords in C.

3. DefineanArray.

4.  Howtoinitializethe string ?

5. Define-Recursion.

6. How to define structures?



10.

11.

12.

Give the purpose of using pointers.

How to increment the pointers?

Definea FILE.

Give the purpose of a Compiler.
Part-B

Answer All Questions.

How programming languages are classified ?

(@)

Explain the usage of IF.... THEN statement.

How to initialize a two dimensional array ?

(Or)

How to read strings from terminal ?

(5 x 3=12)
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13. a.

14.

15.

16.

17.

a.

a.

How to call a functionin C ?

(On)

Give examples for structures within structures.

How to access the address of a variable ?

(On)

Explain the usage of pointers in structures.

How to open afile ?
(@)
Give the purpose of preprocessor.

Part-C

Answer any Three questions.

(3 x 10 = 30)

Writeaprogram in C to calculate the average of N numbers

(where N is a non-negative integer).

With examples discuss on String handling functions.
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18.

19.

20.

Write a program in C to calculate the value of 4! where

41=4x 3 x 2 x 1 (using recursion technique).

How to access a variable through its pointer to pointer

expressions ?

Discuss on Command Line arguments.

*k%x
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AF-1691 BCEA4

U.G. DEGREE EXAMINATION, APRIL 2010
Computer Science - Allied
PROGRAMMING IN C++
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks

Part-A (10 x 1 =15)
Answer All questions:

1. Name any two principles of Object Oriented Programming.

2. What are the arithmetic operators allowed in C++ ?

3. Define Constructor.

4. How an arrayisdefined ?

5. What is meant by nesting of classes ?

6. Define Polymorphism.



7. How to detect the end of a file ?

8. Give the purpose of having templates.

9. What is meant by Exception Handling ?

10. List any two types of Exception.

11. (a)

(b)

12.(a)

(b)

Part -B (5x3=15)

Answer All questions.

What are the salient features of Object Oriented

Programming ?

(Or)

How to declare the functions in C++ ?

Explain the technique of memory allocation for objects.

(On)

How to declare multiple constructors inaclass ?
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13.(a@) Explainthe concept of Virtual Base Classes.

(On)

(b) How to manage the console I/O operations ?

14.(a) Howtoopenand close afile?

(On)

(b) Discuss on the nesting of function calls.

15.(a) Explainthe concept of Catch.all Exceptions.

(Qr)

(b) Discuss on Memory-allocation Failure Exception.

Part -C (3x10=230)
Answer any Three questions.

16. Discuss‘onthe control structures of C++.

17.  Write aprogram in C++ to arrange a set of numbers in

descending order.
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18.

19.

20.

Explain the following with examples - —
()  Multilevel Inheritance

(i)  Hierarchical Inheritance

Write a program in C++ to implement the concept of function over

loading.

Mention the fault tolerant design techniques and discuss the

software for it.

***k
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AF-1692 BIT/BSO/
BCASAL

U.G. DEGREE EXAMINATION, APRIL2010
IT and Software - Allied
DISCRETE MATHEMATICS
(CBCS—2008 Onwards)

Time : 3 Hours Maximum : 75 Marks
Part - A (10 x 2=20)

Answer the following

1. Wirite the negation of the statement p: 2+ 3> 1.

2. Formthe conjunction of p: It israining today.

g: Thereare 20 tables in the room.

3. Define Predicate logic.

4. Define open statement with example.

5. Define nuligraph.

6. Define bipartite graph.

7. Define cut - set ina connected graph G.



8. Define unicursal graph.

9. Define sublattice.

10. Draw the Hasse diagram for the lattice of all subgroup of A,

Part-B (5%5=25)

Answer the following

11. a. Write the rules for well - formed formula.

(On)

b. Showthat (P AQ) = (P.—>Q)

12. a. Showthat 1 Q,P)>0Q= |P

(On)

b. Obtain the PDNF for "1pv Q

13. a. Show that ina simple diagraph G =< V,E >, Every node of the

digraph lies in exactly one strong component.

(On)
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b. Prove that a bipartite graph G contains no odd cycle, if G is an

undirected graph.

14. a. Using matrix Tree theorem, find ¢ (Kn) , where Knis the

complete graph with n vertices.

(Or)
b. Write the Kruskal’s Algorithm.

15.a. Let<L, <>bealattice. For any a;b,c< L, the following holds:

a<co ad®(b*xc)<(a®h)=*c

(Or)

b. Provethat (aAb)"= a'vb'inaBooleanalgebra L.

Part-C (3x10=230)

Answer any Three questions

16. Showthat-Q v (P » 1Q)v (1P A 1Q) isatautology.

17. Showthat R — S can be derived fromthe premises

P>(Q-—S), I[IRvPandQ
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18. Let G be asimple graph and the min. degree §(G) >2.ThenG

containsa cycle of length > 5 +1

19. Aconnected graph G is Eularian iff it can be decomposed into

cycles.

20. Prove that any chain is modular.

*k*k
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AF -1693 BIT/BSOSA2

UG. DEGREE EXAMINATION, APRIL 2010
Software / Information Technology - Allied

OPERATIONS RESEARCH
(CBCS—2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
Part-A (10 x2=20)

Answer All questions

1. Mention different phases in an O.R. Study.

2. Write the limitations of Operations Research.

3. State the purpose of slack varaible.

4. Define feasible solution.

5. State the fundamental properties of duality.

6. Define All IPP

7. What is Assignment Problem ?

8. Give any two applications of Assignment Problem.



9.  Write the necessary and sufficient condition for the existence of

a feasible solution to a Transportation Problem.

10.  What is balanced Transportation Problem.

Part-B (5x5=25)
Answer All questions
11. a. What are the essential characteristics of OR ?
(Or)

b. Explain briefly the Analogue and Symbolic models.

12. a. Whatis degeneracy ? Discuss a method to resolve degeneracy

in LPP.
(Or)

b. Use graphical method to solve
Minimize-Z = —X, +2X,
subject to the constraints

=X+ 3x, <10
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13. a. Prove that the dual of dual ofa given primal is again primal.
(Or)

b. Describe the Gomory’s cutting plane all-integer algorithm of
anLPP

14. a. Describe the Hungarian Assignment Method.

(Or)
b. Solve the following Assignment Problem:
Machine
A B C D+ E
1 32 38 40 28 40
40 24 28 121 36
Job 41 27-.33 30 37

22 38, 41 36 36
29-.33 40 35 39

wm R~ W

15. a. Deseribe the matrix minimum method to solve the

Transportation Problem.

(Or)
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b. Find the initial solution using VAM:

D, D, D, D, D, Supply
o117 7 10 5 11 | 45
o,| 4 3 8 6 13 ] 90
o, 9 8 6 7 51095
o, 12 13 10 6 3175
O, 5 4 5 6 12 |05

Demand 20 80 50 75 &5

Part-C (3 x 10 = 30)

Answer any Three questions

16. Explain the applications of OR

17.  Solve:Maximize Z = 107x, +x, +2x,
subject to.the constraints :
14X 4 x, —6x, +3x, =7
1
lé6x, +5 X,— 06X, < 5
3x1 =X, —X; < 0

X, X% >0
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18.  Use Branch - and - Bound technique to solve the following IPP :

Maximize Z = X, + 9x2

subject to the constraints :

19.  Solve the folllowing Assignment Problem :

- VS BN\

-X,*+3x, <6

X, +x, < 35

X, < 7 and are integers.

A B C D E
62 78 50 101 (82
71 84 61 73 .59
&7 92 111 71~ 81
48 64 81 77 80

20. Obtain an optimumbasic feasible solution to the following T.P.

Factory F

2

Ware House
W. W W W,
19 30 50 10| 7
70 30 40 60 | 9
40 8 70 20 | 18
5 8 7 14
Warehouse requirements

skoskosk

Factory Capacity
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AF- 1694 BIT/BSO/BCA SA3

U.G: DEGREE EXAMINATION, APRIL 2010
Information Technology/Software/Computer Applications - Allied

ACCOUNTING PRINCIPLESAND COMPUTER
APPLICATIONS - TALLY

(CBCS —2008 Onwards)

Duration : 3 Hours Maximum : 60 marks

Part-A (10x1.5=15)
Answer ALL Questions

1.  Whatis Book - Keeping ?

2. What is separate Entity concept.?

3. What do you mean by Posting.?

4. What is Trail Balance ?

5. What is Purchase Book ?

6.  What is Journal Proper ?

7. What are Final Accounts ?

8. What is Balance Sheet ?

9.  What is Bank Reconcilation Statement ?

10. What are Nominal Accounts ?



Part-B (5x3=15)
Answer ALL Questions

11.a. What are the objectives of accounting ?

Or

b. Journalise the following transactions in Balan’s books.

2005 Jan

Jan
Jan
Jan
Jan

1

EENEVS I O]

5

Balan started business by investing cash
Rs.50,000.

He bought goods of Rs.4000 and
Furniture of Rs.500.

Purchased building for Rs.10,000
Purcahsed goods for.Cash Rs.3000
Purchased goods on eredit Rs.2,500
Paid Cartage Rs.20

12.a. Explain the meaning of Posting.and Balancing

Or

b. Prepare Trial Balance from the following:

13.a.

Capital

Rs.9000 . Rent Outstanding Rs.1000

Plant & Macinery Rs.12000 © Opening Stock ~ Rs. 2000

Purchases Rs.8000  Sales Returns Rs.4000
Sales Rs.12000 Investments Rs.14000
Sundry Creditors “Rs.8000  Debtors Rs.12000
Bank Loans Rs.22000

Enter the following transactions in the Purchases Book and Sales
Book of Mr. Pandian.

2000 Jan

1
2
4
12
19
21
30

Purchased goods from Babu Rs.30000
Sold goodsto Swamy  Rs.15,000
Bought goods from Gowri Rs.13,500
Sold goodsto Thenali  Rs.10,500
Sold goods to Jayaraman Rs.750
Bought goods from Rajesh Rs.9,000
Sold goods to Shanthi  Rs.900

Or
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b. Niveditha maintain a two columnar Cash Book which she
balances every week.

2000 Rs.
Mar 25 Her Cash Book showed Balance of 6900
26  Paid Cashto Kailash 1428
Discount Received 72
29  Paid Salaries 5025
30  Cash Sales 11370
30  Withdraw Cash for Private Expenses 1020
31  Received as Compensation from
Railway Authority 4380
Received Cash from ShanthiLal 3975
Allowed him Discount 75
14.a. Prepare Trading and Profit and Loss Account from the
information given below.
Rs. Rs.
Opening Stock 3600. Rent (Factory) 400
Purchases 18260 Rent (Office ) 500
Wages 3620 Sales Returns 700
Closing Stock 4420 Purchase Returns 900
Sales 32000 General Expenses 900

Carriage on Purchase 500  Discount to Customers 360
Carriage on Sales 400 Interest from Bank 200

Or

b.  The Trial Balance of Thiru Manian as on 31.12.1992 shows the
following (among others)
Debtors  Rs.80000; Bad Debts  Rs.1000;
(Provision for bad debts (1-1-92) Rs.2000/-)
You are required to provide for bad and doubtful debts at 5% on

debtors. Give the necessary Journal Entries and Show the
Bad debts A/C, Provision for bad debts A/c, Profit & Loss A/c and the

Balance Sheet.
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15.a. What is the need for preparation of Bank Reconcilation

16.

Statement ?

Or

. The Cash Book of Anbu showed a balance 0ofRs.2,500 on 23rd

Sep. 2006. This did not agree with the pass book. From the

following particulars ascertain the balance as per passbook:

)] Cheque paid in but not cleared by bank before 23.9.06
Rs.500.

i)  Cheque issued in favour of customers but not presented
prior to 23-9-2006 Rs. 675.

i)  Commission charged by bank but not entered in cash
book Rs.25.

iv)  Interest on government securities collected and credited
by bank not yet-entered in cash book Rs.400.

v)  No record hasbeen made in the Cash book relating to

a dishonour of a cheque for Rs.50.

PART-C (3x10=30)
Answer any THREE Questions

How-do you classify the accounting concepts ?
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17.

18.

Following are the ledger balances of Sri Rao. You are asked to
prepare trail balance as on 31.12.2000.

Rs.
Opening Stock 10000
Salaries 5000
Bills Payable 5000
Cash in Hand 12000
Bank Overdraft 4000
Debtors 15000
Cash at Bank 18000
Sales 80000
Wages 1000
Prepaid Insurance 2500

Depreciationonplant: 8000

Rs.
Capital 60000
Creditors 10000

Loan from Krishna. 25000
Discount Allowed 700

Accrued interest
payable 5000

Purchases 30000
Reserve for bad debts 1200
Trade expenses 500
Outstanding Salaries 2000
Plant & Machinery =~ 90000

Outstanding interest on
Over draft 500

Enter the following transactions in a three column Cash Book.

Rs.
2009 Jan 1 Cash in hand 410
Balance at Bank 8920
2 Cash Sales 4500
3 Paid into Bank 4000
5 AF -1694




12

15

18

20

21

25

31

Purchased Stationery 100
Paid Mahesh by Cheque 280
Discount Received 20

Gave a cheque for Cash

purchases 1500
Drew for personal use 500
Received from Suresh, a cheque

for Rs.1970 in full settlement of account
for Rs.2000 and deposited it in bank.

Drew from Bank 1000
Paid Wages 800

Bank returned cheque of Suresh

dishonoured

Bank charges as per pass book 10

6 AF -1694




19.  Fromthe followig Trial Balance of Ravi, prepare Trading and Profit
and Loss Account for the year ended Dec 31, 2003 and
a Balance Sheet as on that date.

TRIAL BALANCE

Debit Credit
Particulars Rs. Rs.
Capital 40,000
Sales 25,000
Purchases 15,000
Salaries 2,000
Rent 1,500
Insurance 300
Drawings 5,000
Machinery 28,000
Bank Balance 4,500
Cash 2,000
Stock 1:1.03 5,200
Debtors 2,500
Creditors 1,000
66,000 66,000

Adjustments required :
a)  Stockon31.12.03 Rs. 4900
b)  Salaries unpaid Rs. 300
c)  Rent paid inadvance Rs. 200
d)  Insurance prepaid Rs. 90
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20.

Prepare a bank reconcilation statement from the following data
ason31.12.1995.

a)
b)
¢)
d)
€)
f)
g

Balance as per Cash Book

Cheques issued but not presented for payment
Cheques deposited in bank but not collected
Bank paid insurance premium

Direct deposit by a customer

Interest on Investment collected by bank

Bank Charges

sk

Rs.
12500
900
1200
500
800
200
100
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AF-1695 BIT/BSO/BCASA4

U.G. DEGREE EXAMINATION, APRIL 2010
Information Technology / Software / Computer Application - Allied
COSTAND MANAGEMENT ACCOUNTING
(CBCS—2008 Onwards)

Duration: 3 Hours Maximum : 75 Marks

Part-A (10 x 2=20)
Answer All questions.

1.  Define Management Accounting.

2. What is Statement of Cost ?

3. What do you mean by EOQ ?

4.  What is Base Stock ?

5. What do you mean by Multi Piece Rate System ?
6.  What is LabourCost ?

7. What do youmean by C.V.P. Analysis ?

8.  WhatisContribution Ratio ?

9.  What is Budgetary Control ?

10. What do you mean by Functional Budget ?



Part-B (5%5=25)

Answer all questions

11 a. Explain the objectives of Management Accounting.
(Or)

b. Classify the cost accounting to functions.

12 a. Calculate Minimum Stock Level, Maximum~Stock Level and

Reorder Levels.

I.  Minimum consumption - 100 units per day
il. Maximum consumption - 150 units per day
iii. Normal consumption - 120 units per day
Iv. Re-order period - 10 to 15 days

V. Re-order quantity - 1500 units

vi. Normal Reorder Period 12 days.
(Or)

b. Prepare stores ledger under weighted average method of pricing
Materials issues fromthe following transaction.

Date Receipts Rate Issue
Quantity Per kg Quantity
inkgs iNRs. inkgs.

2-3-06 200 2.00 -

10-3-06 300 2.40 -

15-3-06 - - 250

18-3-06 250 2.60 -

20-3-06 - - 200
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13 a.

14 a.

15a.

From the following ascertain the earnings of worker X and Y under
Taylor’s Differential Piece Rate system of wage payment :—

Standard time 15 minutes per unit

Time worked 8 Hours

Units produced X : 28,Y: 35

Normal piece rate per unit Rs. 2.

(Or)

Calculate the earnings of a worker from the following as per Halsey
Plan.
Hourly Rate of Wages Rs. 10
Standard time for production of a dozen.units of product - 2 hours
Actual time taken by the worker to-produce 25 dozens 40 hours.

Find out the actual sales for the-year from the following details.
Margin of safety 20%, PV Ratio 60%, Fixed Cost Rs. 60,000.

(Or)

Calculate BEP from the following informations.
2004 : Sals Rs;6,00,000,  Profit : Rs. 1,00,000
2005 : SalesRs. 10,00,000, Profit:Rs. 1,80,000

Write a note on ZERO BASE BUDGET.

(Or)
From the following details compute the material consumption during
December 2005.
Estimate Sales 5,000 units
Estimated closing and opening stock 2,000 unitsand 1,000 units.
Materials requirement is 60 kgs for an output of 100 units.
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16.

17.

Part-C

(3 x 10 = 30)

Answer any three questions

The following data relate to the manufacture ofa standard product
during the four weeks ended 26th March 2005 :-

Raw Materials Consumed
Direct Wages

Machine hours worked
Machine hour Rate

Office on Cost

Selling on Cost

Units produced

Units sold

Rs. 15,000

Rs. 9,800

2,300 hours

Re. 0.50

10% of waorks cost
Re. 010 per unit
19030

11418 @ Rs. 2 each

You are required to prepare.a Cost Sheet from the above data.

Prepare Stores Ledger-under LIFO from the following

transactions :-
2005 1 OpeningBalance
Feb 2 Received

3 Received

4 Issued

6-Issued

7 Received

10 Issued

12 Received

17 Issued

100 units at Rs. 10 each
200 units at Rs. 10.50 each
300 units at Rs. 10.60 each
400 units

120 units

400 units at Rs. 11 each
200 units

400 units at Rs. 11.50 each
300 units
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18.

19.

20.

The following information has been proved :-
Sales 50,000 units @ Rs. 10 per unit
Variable Costs Rs. 5 per unit

Fixed Cost Rs. 50,000

With a view to increase the sales volume the management proposes
to reduce the present selling price by 20%. What is the'sales in units
and value to be achieved to maintain the present level of profit ?

From the following particulars work out the earnings for the week
ofaworker under

) Straight piece Rate

ii.  TimeRate

iii. RowanPlan
No. of working hours per week 48
Wages per hour Rs. 3.75
Normal time per piece - 20 minutes
Rate per piece Rs. 1.50
Normal output per week 120 pieces
Actual output for the week 150 pieces.

A company at present operating at 80% capacity produces and
sells 40,000 units. Given below are the expenses per unit.

Particulars Rs. per Unit
Direct Materials 15
Direct l-abour 10
Factory Overhead (30% Fixed) 5
Selling Overhead (50% Fixed) 2
Office Overhead (60% variable) 3
Selling Price 45

Prepare a budget at 60% capacity and 90% capacity.

*k*k
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AF - 1696 BCASA2

UG. DEGREE EXAMINATION, APRIL 2010
Computer Applications - Allied
RESOURCE MANAGEMENT TECHNIQUES
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks

Part-A (10 x2=20)
Answer All questions

1. State the different types of models used in Operations Research

2. Give any two applications of OR

3. Write the standard form of LPP in matrix form.

4.  State the purpose of artificial variable.

5. What do youunderstand by ‘duality’ in linear programming ?

6. Define Mixed IPP

7. What do you mean by Assignment Problem ?



10.

11.

12.

How can you maximize an objective function in the assignment

problem ?

Write the mathematical form of Transportation problem.

Define degenerate solution.

Part-B (5x5=25)

Answer All questions

a.  Describe the steps involved in Operations Research

(Or)

b. Describe the characteristic features of O. R

a. A firm manufactures two products A and B on which the
profits earned per unit are Rs.3 and Rs.4 respectively.
Each product is processed on two machines M, and M,.
Product A requires one minute of processing time on M, and
two-minutes on M,, while B requires one minute on M, and
one minute on M,. Machine M , is available for not more
than 7 hours and 30 minutes, while machine M, is available
for 10 hours during any working day. Formulate the

problem as an LPP.

(Or)
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b.

13.

14.

Use graphical method to solve.
Maximize Z =2x+3y
subject to the constraints :

X+y <30
y=3
0<y<l12
x-y=0
0<x<20

a.  Show that dual of dual is primal

(On)

b.  How canyou determine the Gomory’s constraint ?

a.  Consider the problem of assigning five jobs to five persons.

The assignment-costs are given as follows:

Job
1 2 3 4 5
Al 8 4 2 6 1
B O 9 5 5 4
Person Cl| 3 8 9 2 6
D| 4 3 1 0 3
E| 9 5 8 9 5

Determine the optimum assignment schedule.

(Or)
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b.  Solve the following assignment problem.

Job

m g O © »

Employee

I I uma v v

10 5 13 15 16
3 9 I8 13 6
10 7 2 2 2
7 11 9 7 12
7 9 10 4 12

15. a.  Describe the Vogel’s approximation method.

On

b. Use North - West corner rule to solve.

Source

2

Destination

| 2 3 4

21 16 25 13| 11
17 18 14 23 | 13 Availability
32 27 18 41| 19

6 10 12 15

4 AF -1696




Part-C (3 x 10 = 30)

Answer any Three questions

16. Explain the different phases of Operations Research.

17. Use simplex method to
Maximize Z = 3x1 + Sx,
subject to the constraints :

3x, +2x, <18

18.  Use duality to solve

Maximize . Z'=2x + x,
subject to the constraints :

x1+2x2 < 10
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19. A company is faced with the problem of assigning six different

machines to five different jobs. The costs are estimated as follows:

Job

1 2 3 4 5

1 25 5 1 6 1

2 2 5 1.5 7 3

Machine 3| 3 65 2 8 /3
41 35 7 2 9. 45

50 4 7 3.9 6

6f 6 9 4 10 6

Solve the problem assuming that the objective is to minimize

total cost.

20. Solve the following transportation problem :

D +«D, D, D, D

1 2 3 4 5

O, (4 7 3 8 2 4

skkok
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AF-1697 BELAI1

U.G. DEGREE EXAMINATION, APRIL 2010
Electronics - Allied
PRINCIPLES OF ELECTRONICS (ANALOGAND DIGITAL)

(CBCS—2008 Onwards)
Duration : 3 Hours Maximum : 60 Marks
Section - A (10 x 172 =15)

Answer All the questions

1. What is voltage regulator?

LS\6BTEuT DS SLI LIGLILITEIT 6T63TMIT6D 6T6tTE0T 2

2. What isa pn junction?

pn &b eredTpTED 6T6tTERT ?

3. What is meant by JEET? Why it is called so?

JFET etetimmed erettent ? a6t Sig Sisueunn) HewpassiLGSng) ?

4. What is atransistor? Name the two types of transistor.

LIEBTE1STOLIT ETE3TMITED 6T60T60T ? S(H 616wS; lpmmedTdletvLledr LIWITHEETE Fom).

5. What is virtual ground in an Op - Amp?

QFWIHLIMB SLIBSSUTNed Gambmefiluieomest Lisf eneuorLiL] e163TMITeD 6T6dT6T ?



10.

11.

Give some applications of IC 555.

IC 555 -6t LwettUN@ a6 SeveunHenns Shs.

State De - Morgan’s theorems.

1@ LDMT&63T GHMHMIHISEMEIT Fom).

What is a multiplexer?

LD6VIQLIETSEIT 6TEBTMITED 6TETTETT ?

Give the number of states that can be counted by a ripple counter.
BU6TOTLIQLDIT6T SIPLIL| 6T6t0T600f ER6EITMGBITED eTEToT6TOTLILIL & Farloul [Bemevgserflest

6T6TOT6T0T S6DSHEML & ([HS.

Define modulus of a counter.

eTevoTenntUTN6sT LDL (B DL 1ML DTN

Section - B (5x3=15)
Answer All the questions

a. How voltage regulation is achieved using zener diode?

eBeuTiT eWLGUIN(D eLP6OLDITS LBI6OTEDT (LRSS STEMLDLIL| eTeveumm)] OLDLILIBSDE! ?
(On)

b. Write note on extrinsic semiconductor.

LD LDM&6MLI GeDMELSSS6T DM GMLIL| e16nIs.
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12.

13.

14.

a.

a.

a.

Explain the construction and working of FET.

FET-6t1 SieminLienLiib Sig) ©\5wedLIBLD 6A5S6ns LD 6fl6mé@s.
(Or)

Describe about the load line.

LeBa8aT® LhM) eflend:&s.

How an operational amplifier can be used as.a comparator ?
eTEVAUMM)| (FH Q\FWIHLIM B SLih&Swmes g RLUILNESHe0ms OFWHLGSDE

eT6dTLIEmS, flleurfl.

(Or)

Explain the working of Bistable multivibrator.

BmBemev LisveodieNulest QFWIHLIM snL efeurfl.

Explain J - K flip - flop.

J - K ero-efip axbemm efeurf.

(Or)

. Show that: ABC + ABC+ABC+ABC=A

sm®s: ABC+ABC+ABC+ABC=A
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15. a. Describe up counter.

6T eTevorevvflemu effleurfl.

(Or)

b. Explain the principles of binary ladder conversion.

SuevorLipu et e1etofl LoOMDSlU6ir 5 g 6us56ma eeurfl.

Section - C (3x10=30)

Answer any Three questions

16. Describe the behaviour of charge carrier when a pn junction diode is
formed. Discuss the forward and reverse biasing of the pn junction
diode with diagrams.

QG PN 63 oLCWIG 2 Gangh Gung WeTem L carrier-sefer
aFwpLm enL efleurl. PN &H8 L GWIMEST (LPtTBETTTEE LDHMILD LT6TE6ITES

LO\6BTEF ML [Beme0semerT LIS SIL 65T 656TaG .

17. How would you draw the input and output characteristics of a
transistor in Common Emitter configuration.
R st et 2_sierf(® HmID S euerlui® ListTwed GEnBaemern

ETEVGUMM)] EILIME ©_LSLPLILIMEST SHemLDLILN6D SetorLpieuriL.
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18.

19.

20.

Explain how the OP - AMP function as integrator and differentiator.
QFWHUMTLG QUmHSSWTeTS eTeuaumn) O5Tensul@aumernaea|b, HMILD

aensLIBaITaTTSEaLD QFWDHLIGSDE eTeiTLens efleurl.

Why NAND and NOR gates are called Universal gates ? Explain.
gesit NAND wpmib NOR anuleast, eoungienuleossr eres

SNMPESLILGHDE ? efeTsE&s.

Describe how a mod - 7 counter can be constructed. Explain its
truth table.
mod - 7 erstorenil @etremm eTeuGUTM) O (HEUTESHE0MLD 6T6eT sfleurflggl, g ebr

GIDUI HHL L 6UEDETUTENIL 6516118 5.

skokok
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AF-1698 BELA2

UG DEGREE EXAMINATION, APRIL 2010

Electronics—Allied
PRINCIPLES OF COMMUNICATION SYSTEMS
(CBCS—2008 Onwards)
Time : 3 Hours Maximum : 60 Marks
Section - A (10 x 172 =15)
Answer All the questions

1. What is meant by communication?

6\SITLITL| ET6BTMITED 6T6DT6NT 2

2. Whyto usea carrier?

2enTHemi LIWLGTLIGSSHI6US)] 61601 ?

3. Expand: SSB, ISB, VSB, FDM.
SSB, ISB, VSB, FDM efifleunssib sms.

4. What is meant by amplitude modulation?

6lig&: LEEIGLIHMLD 6T63TMITED 6T6dTENT ?

5. How do you classify modulator?

LesoTGLIDNNeMIL eTeueum)] euenSLILIBGSSHIeumL ?



10.

11.

What is demodulation?

SHWEOLITITLNDE LD ETEITMITED 6T60T6NT ?

What is meant by pulse modulation?

SllpUIL| LIstorGLIDMLD 6T6TMMeD 6T6dToRT ?

Define multiplexing.

LpevleL Neo& &I euemIIM).

What is meant by amplitude shift keying?

eliga1 ewiey Sufr eTesTDT6D 6T60TEDT ?

Compare frequency shift keying and pulse shift keying.
SiFieeuetor LLIOLILITeY LDHMILD SilptiL] L LIGWLIwITey Sufim eubnfemeot

QULIBS.

Section - B (5x3=15)

Answer All the questions

a. Define modulation. Explain why it is necessary.

UetorGUDHMLD eUEDIWIM]. 1T 67651 SiaudlisSement eflensEs.

(Or)

b. Describe the communication process.

6\SITLITL| (pemmaemer effieurfl.
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12.

13.

14.

a.

a.

a.

Define modulation index. Explain the percentage of modulation.

LIeGoTGLIMM 6T6vor euemIwLIM). LIr@LUDM F56is56ma ellens&s.

(Or)

. Write a note on envelope detector.

GLeyemM SetoTelsTuTiTeUTeT LIHM) GMILIL| UEDTS.

Explain the principles of frequency modulation.

SiFe16uetor LstorGLIDME C\&TeTenaeniLl sfeurfl.

(Or)

. Describe FM transmitter and explain its working.

Sifiereuetor LgLifluflenent erdeuementiL| LissorGLbmluflements: 6\&metor®

eflerTés.

Compare TDM-and FDM.
TDM wipmitb FDM-g2 @(19Gs.

(Or)

. Explain Pulse Time Modulation.

SlipLIL| &mev LissorGLhmLD efMeurfl.
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15. a. Explain amplitude shift keying.

sfiga LU Lweflufenest efeurl.

(On)

b. Describe multiplexing pulse coded modulation.

&lieli] GHIUIE LetorGLD LisoeunsBemiwt 6flemé@s.

Section - C (3x10=30)

Answer any Three questions

16. Describe basic element of communication.

QS TLALPEDMEE CHeMEULITETT SHIRLILIEDL LiGSeHemen sfeurfl.

17. Define division multiplexing. Explain frequency division multiplexing.

LGS Levauiss euenmuim). SHBT616uetr LGS Lieveuis:d efleneds.

18. Describe ratio detector.

685, sevorBevoriteMemiut efeurf].

19. Explainthe processes of time division multiplexing and name two
common applications.
& eflds LievauaBulett O\FwieoLIm ipenent sfleurfl. Goay)d CHemILD Sretor®

6IIME) LILIESTLIML LQ6WEDT 6T(LDSIS.
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20. Write notes on:

1. Frequency shift keying
i.. Phase shift keying
GSMILY euenTs.

1. SiFTereustor GG
1. sLL @LL6uwires

skkok
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AF-1699 BELA3

U.G. COURSE DEGREE EXAMINATION, APRIL 2010
Electronics - Allied
ANALOG ELECTRONICS
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks
Part-A (10x1y =15)

Answer All Questions
1. What isa semiconductor?

GO HLG 6T6TTMIT6D 6T6TE0T 2

2. When does Zener breakdownoeccur?
&etr (Wniley eTIOLIML & BaHDLD 2

3. What is meant by biasing a transistor?

R LpIesTHlsivLemT FMIL| LIBGSSISH60 6T65TMITeD 6T6TenT ?

4. Mention the use of voltage divider network.
WletTenT (WSS LIGLIL| Shmledt Liwiewest GBILLNBS.

5. Whenafeedback is said to be positive?
ELIOLINARS| R LNeiTenmi’L6d GrbiT LeiTenIT L 6dom@LD ?

6. Distinguish between anamplifier and an oscillator.
OILBHSESHULLD Stemeoufbplenid CaumLGSSIs.



7. Sketchthe configuration of MOSFET.
MOSFET -6t Siemeoufwibn) eretrmnmev eretrent ?

8. What is a relaxation oscillator?

U6 [Bemev SHemeouTwinm) eTesTmMeD eTedTEDT ?

9. Define CMMR.
CMMR - euemgwimy.

10. Draw the circuit diagram of a differentiator.
UGLILN6BT SDNNETT SHHMILILIL LD 6U6HTS.
Part-B (5x3=15)
Answer All Questions

11. a. Explainthe actionofa PN junction.
8® PN abgenLGuimesst 61516m60 686115:@6.

(OR)

b. Discuss the clipping action.

i imesfletr O\FuLeme0 eflod:&s.

12. a. How atransistor can be used as a switch?

(b netTélevLemT FTeMWING 6T6UEUMD) LDMTHMIGUTUI?

(OR)

b. Draw the circuit diagram of a transistor in CE configuration.
Explain its action.
CE Siemworidied enmebralsivLit LeGriwied euenILILLD 61enrs. g6t

a\Fwemev efleurfl.
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13. a. Discuss under which criteria the amplifiers are classified.
OLmESSuTeT eis6T SipliLiewLuled HIwb LflssLILGSetTmenT ?

(OR)

b. Describe the working of current feedback amplifier.
WlesT@eorL L 1NedTemmiL6d ALIh&Bullest OFuisnen efleur.

14. a. Analyze the characteristics of a UJT.

UJT - 6t uistorwiemed Spmmiis.

(OR)

b. Write down the important features ofan enhancement
MOSFET.

vwiett sar Lt MOSFET -eir éipliLiberusener e1@pg)s.

15. a. Discussabout the integrating amplifier.
OBTGSHGLD E\LIHS:BUll6 O\FILIemed LD eMené@s.

(OR)

b. Explain the action.ofa triangular wave generator.
WPpa&BaTenr HeweouTwiluilesr O\FuIemed 6flomd:e&s.

Part-C (3x10=230)
Answer any Three Questions

16. With-aneat circuit diagram, explain the working of a bridge recti-
fier.
(1 LImev eulgey Sps HuNest Q1FWed SHMILILILSSHIL 65T 6Mené&Ss.
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17.

18.

19.

20.

Study the input and output characteristics ofa NPN transistor in
CC configuration and derive the expression for its parameters.
ewng) enpumett eugeuenioLiNed m NPN enmesrélsvoflstr igwismeo Spuis.
Sig 61 sMrevviigeflesr Camenelsmil O1LIMIS.

Discuss the working of a phase shift oscillator.
SLL haT6)] Semeouwbniulesr \Fwiened eMensEs.

Analyze the action of a JFET by studying its characteristics.
JFET - 6ir ListoremL Sprmiibg) Sig et 615Weneo 6lerd:@s.

Describe the action of a Schmidt trigger using 1C - 555.
IC - 555 -l gesor® e\Fswaulisi O\ewIames eeTs:@s.

*k*k
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AF-1700

BEL A4

UG DEGREE EXAMINATION, APRIL 2010

Electronics—Allied

DIGITAL ELECTRONICS AND LOGIC DESIGN

(CBCS—2008 Onwards)
Time : 3 Hours Maximum : 60 Marks
Part-A (10 x 1'2=15)
Answer ALL Questions

1. Convert (3FD),, into binary.
(3FD) ;-2 rpionew erssorewora; Lombm).

2. List out the various types of Binary codes.
riTgLoest GMIUIGaerfetr LisoGeun) suenasEemer LILpu160l®.

3. Define: “Half subtractor” and “Full subtractor”.
euewmIm) : ‘e SPILTET DHMID “wpep SPLILIMEDT

4. Whatis a decoder?

&M [£6:3 er6dTmITED 6T60TEDT ?

5. What is the difference between a latch and a flip - flop?

Geor & (latch) whmid efw-6rwp sHmIGSeOLGWIwTET CeumLIn® wing| ?

6. What is a counter?

“eretorevtil” eT6dTMTED 6T6BTENT 2



10.

11.

12.

Draw a discrete circuit for DTL NAND gate.
DTL NAND amuieyése gesflgs shenm cuengs.

What are the most widely used MOSFET logic families?
QGbLNeTenLWNS LWeTLBSSS dalgu MOSFET gités @@bueismsass

6T6M6Y 6T6M6YU 7

Expand “PROM”.
“PROM” -g2 éfifleunéss.

What is the advantage of CD ROMs?
CD ROM -serflstr uwietraseit wimeneu ?

Part-B (5 x3=15)
Answer ALL/Questions
a. State and explain De Morgan’s theorems.
le LoMT&6ull6tT B MMMISBEN6TS o eflend:es.
(Or)

b. Rewrite the expression Y = (A+ B) (B +C) (A+ C) in canonical
POS form.
Y =(A +B) (B+ C) (A + C) aetrp Ganemeusmwws POS euigefied

LDIDNS) 6T(LD&IS.

a. Drawafull adder circuit and describe its working.
R P FalL'lg SHHNNWET UMTHSI, AHS65T E\&WeoLIML igenedt eflurfl.

(Or)
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13.

14.

15.

a.

a.

a.

. With a neat diagram, explain the function of a magnitude

comparator.
(1B 6T6v0T LDSLIL| RUIL|GHTEGEUNEDfl65T S\ ILIOLIML ML )5 6rileurent euenILILS

SiL601 sfleurfl.

Draw and explain the working of a JK flip - flop.
o JK siw-6wp-2 ausmnbal, Siget OweoLinpeneot efleurf.

(Or)

. Write a note on the different types of shift registers.

wpaiT Lfeflaerfetr LebGaum) euenasaarL LMD @b GILIL| e1enTs.

Discuss the characteristics of ECL family:
ECL &@busdsit AplifweoLgener shleurs.

(Or)

. Discuss the characteristics 0of CMOS family.

CMOS &®busdeit ApLifweoLsemer efleurs.

Write anote on “ROM”.
“ROM”-gati uhn) @ SMILIY S®:.
(Or)

Write a note on optical memories.
erflufluied [BemetTeusmisens Ll LIHN & SMILIL| &HsS.
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16.

17.

18.

19.

20.

Part-C (3 x10=30)
Answer any THREE Questions

Simplify by Karnaugh map method:

Y = ABCD + ABCD + ABCD + ABCD + ABCD + ABCD
SMTGEDTIT LIL. (LPEMD eLP6OLD

Y = ABCD + ABCD + ABCD + ABCD + ABCD +ABCD &t
GHMEDEUDUI S ([HEGSS.

Draw the circuits for half adder and full adder and explain their
operation.

SiemI Falle HMID WP Fallp SHSWaDMISSITE SHNISHEN6T CUEHIHS
Q\FwieoLITBaemer efleur].

With a neat diagram, describe the working ofa AD converter.
8® AD wrhmluflsst egwedLIn igenerr e\Gerfleures suenrLL &L 6T efleurfl.

Give the comparison betweenTTL and CMOS families.
TTL wimu> CMOS arhLiisEsssmrtuune QUi enLs &ms.

Write notes on magnetic bubble and magnetic core memories.
SMHSE G LDHMID HHS 2_61T6rs: [Benevteusmisenenti DM GMILILIGET SHs.
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AF-1701 BHFA1

U.G. DEGREE EXAMINATION, APRIL 2010

Home Science

BASIC CHEMISTRY
(CBCS—2008 Onwards)
Duration : 3 Hours Maximum : 60 Marks
Part-A (10 x 12 =15)
Answer all the Questions

1. Define Nucleophiles.

BupserfiBuwimemLIsds eT6TMITED 6T6dTE0T 2

2. What is the difference between Hofimann and sayzteff’s rule.

QDSLIGIDET LDHMILD OFUIL LT 6flHApemmaErhasTen GoumiLIMBS6IT WITeney ?

3. How will you estimate the hardness of water.
seenfier sefiwsgsnewbeow (Hardness of Water) esueunm
SevorLpeumu ?

4. List the properties of Ozone.

@& metT 6uMU6fl60T SETTEMLDSHEWET ET(LDSIS.

5.  What is.a coordination compound ?

GBHIT-pITQBEBIF6IT HITLDLIEYETOTL. ETEITDITED 6TETTE0T ?



10.

What is Calcination ?

SHMe0SBeUTF6IT ETEITMITEL 6T6DTENT ?

List any three factors influencing adsorption.

2erBmeyd getremwenw (Adsorption) ungsesib 3 smremllsenerT eWais.

What is enzyme Kinetics ?
6T60TEMEFLD EWBHEVTIREHETD ETEITDITED GT60TE0T ?
What is ostwalds law of dilution ?

SpsvLameoL efPHemuis: Fam).

What is glavanization ?

SHITE0EUEMEBTIGFFETT ETEIMITED ETEITET ?

Part-B (5x3=15)

Answer allthe Questions

11 a. How will you classifyalkaloids ?

SHE0SHE0MULIBHEDEIT 6T6UGUTM) CUHSHLILIBSHGHI6UTUI ?
(Or)

How terpenoids are isolated ?

LM Aeormii@aer ereveumy) LN fE05G&HSILGSDE ?
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12 a.

13 a.

14 a.

15 a.

How will you remove the hardness of water by reverse osmosis ?

m ol 55
Bea@ag ?

(Or)
Give the uses of Hydrogen peroxide ?
EMEUDL 26T EIITITEEMEIQ65T LILIGTLITB&6IT LDh&asamn).
Explain the Werner ’s theory.
6\6UITEBTITEN E1B6MEmSEMUILI LIDNS) 6516 @S,
(Or)
Outline the V.B. Theory.
V.B. efigemwis upn erwpgis.
Write about the different types of catalysts.
efleneoruysd (Catalyst) eusnaseneri Lb awais.
(Or)
Write a note on langmuri isotherm
GevorkpulliT 2BFMAOSITLD LD 6TLD&Is.
Explain the'Ostwalds Law and its applications.
SpsvLaumedLt 6N Semu i b SHgedt LiwestLIm enLu LD eflfleuns; eflens:d enipgis.

(Or)
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b.

16.

17.

18.

19.

20.

What are primary and secondary cells ?

SHSMT LDHMILD GTETOTLIMLD LISEQLDITET 6161060&6IT 6T6ITMDITED 6T63T60T 2

Part-C (3 x 10 = 30)

Answer any three Questions

What is Terpenoids ? How will you classify the Terpenoids ?

OLMeImIB&H6T eTedipmed eTetiensr ?  GILALleormuiBaEeneT eredeumm)
QUEDSLILIBSSHIOUMLL

Explain the structure and properties of Ozone.

@6t 6uMLeNesT HeMLDLIL| LDHMILD LictoTL|gHemeaTL Ln) eflens&s.

Discuss in detail about the various steps involved in metal extraction.

2_Geonaib LIMGEBBSS60 (Metal extraction) eufpenmaemen L) efifieurs
efers:@s.

Write short notes on adsotption.

2en(B(BeLd Festemid LiHN efifleuna eflerd:&s.

Describe the principles and methods of Electro Plating.

160G LNGaTLIQMHIB6N Q\&MeTengs6T HMID 6fldpenmaeneart: Lpm)
sfifleuns; eflens@ 5.
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AF-1703 BHFA3

U.G.COURSE DEGREE EXAMINATION, APRIL 2010
CBCS
Allied - Home Science
NUTRITIONALBIOCHEMISTRY
(2008 Onwards)

Duration : 3 Hours Maximum : 60 marks

Part-A (10 x 1% = 15)

Answer All Questions.

What are monosaccharides? Give examples.
@fleneuure sngaemnset (Monosaccharides) erstimmed erstreor ?

2 _SMIEWIMhISHET S(hH5.

Define the term Glycolysis.

BenenGaefledlervery (Glycolysis) - efleng@s.

What are Essential fatty Acids ?
Gaemeuwinest AamuLL Ssleomser (Essential Fatty Acids) erssimmed

6T60T60T ?

What is lipid peroxidation ?
QLI sbubsiLrL eugnéd GLeages (lipid peroxidation) erssimrmed

6T60T60T ?



10.

Mention any three properties of proteins.

Lusmiserlleir gGHEnILD eLpeiTm) GeTTTSILIMISED6TS GSDILILILYLD.

What is transamination ?

‘lpnmetTeiy SHsIGeragedt” (transamination) ereimmev eredrent ?

What are enzymes ?

‘OBndaet - efleng@s. (ENZymes)

What are nucleic acids ?

Bupserfis SHfleoruser (nucleic acids ) erstrpmed eretresr 2

What is active transport ?

aifls a®sgIs 6\F6veb (active transport) - eflens@s.

Definephosphorylation.

Ssumeivs: GumfiGeoagsst (Phosphorylation) - efleng@e.
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Part-B (5x3=15)
Answer All the Questions.

. What are the objectives of the study of biochemistry ?

2_uii GeuBuiluled sevefludisst GM&GsMeTs6i Wimemey ?

(On)

. What is Gluconeogenesis ?
&eBGaT BeWT e\gzesfidleiv (Gluconeogenesis) eresrugy wing ?

SNS6ET (LPSHBUISGI6USMSS SMILILIBS:

. What is Saponification value ? Bring out its significance.

sGunesNICsagstt Sieey (Saponification value) ersirmmed eretrest 2

(On)

. Whatare lipoproteins ?

‘60BN YISrhiH6T 61606 6T63T60T 2
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13. a.

14. a.

What are Essential Amino Acids ?
‘Gaemeu LB’ AHiGem Sidleoruser (Essential Amino Acids)

6T63TMITED 6T6T6T 2

(©n)

Outline the events in tyrosine metabolism.
e Grrdlett ueridlems; ombmib (tyrosine metabolism) Amiemitiy

QUM S.

What is enzyme inhibition ?

ewBnd Bnigaib (enzyme inhibition) erstrmrmeb eretrenr?

(On)

What are the types of co-enzymes ?

Swemi-6MEdaeiett (CO-ENZYMES) 6uenaHEDETLI LHI 6LDE18.
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15. a. Distinguish between passive diffusion and facilitated diffusion.
kgL ugeued (Passive diffusion) erefigmens LiTeygays@LD

(facilitated diffusion) o_eier GeummiewLoae wineney ?

(©n)

b. What is Electron Transport Chain?
eTe\e08 QN6 eT(BSEIE e\F6veo ‘Electron Transport Chain’ smuded

6T63TMITED 6T6T6T 2
Part-C (3x10=230)

Answer any Three Questions.
16. Explain the events, enzymes; co-factors and energy tally in
Glycolysis.
Bewer Ganmedleveriled (Glycolysis) LruGsmh@Ld emBndser, sngewfaer,

B&LD6YS61T, F&HBUN6HT HETTSHGLI LILIQUIEO ShSBUleunenn 6M6T&E&s.

17. Commentonbiosynthesis of fatty acids.

2_1 60160 Q\&BMpLIL| SHLSle0s SWIMILIL] (pedmEEmET 66NTEESS.

18. Trace the events and significance of Urea cycle.

upfiwir sphé BaLpeys6it LDHMILD WpsSwisgieuD ub GHILILIGS.
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19. Describe the biological role of pancreas in the body.

sewewngdett (Pan creas) esuwiun ipenent efleuflsaaLb.

20. Explain Oxidative Phosphorylation.

DEeOIGLIgEY SLImenuss GuiGeoagsst (Oxidative Phosphorylation)

UbN &1 GewT 6UEDTS.

*k%x
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AF-1704 BHFA4

U.G.DEGREE EXAMINATION, APRIL 2010
CBCS
Homescience - Allied
INFORMATION AND COMMUNICATION TECHNOLOGY
(2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks
Part-A (10 x 1% = 15)
Answer all the Questions
1. Write any two characteristics of Computers.

asneug Suevor® sevofiIOLMmuNesT LITeSTemnLDSEmET 6T(LDSIS.

2. Name the Generation of Computers.

sevoflLiEImmufedT Semevdpenmaerfledr QILILITSHEDET 61(LDS)I5.

3. Who is the Father of Computer ?

S6uotILIOLITMIUIETT SHEWS, 6T60TM] HEWLPSSLILIBLIEUT WIT 2

4. Definedntegers.

(WP(LD 6T6TTT EUEHTLIM).

5. What do you mean by the term binary numbers ?

B eT6vo1 LHN SMILILNBS:.



6. Whatare the input units of computer ?

sevflLIOWmpufetT 2_efTerfl L SRIGET Wimeme ?

7. Define Hardware.

EUEBTELIM(HEIT 6UEDIUIM).

8. Listany two functions of operation system.

BW58 SHEMLDLILNET 61560 Fam) J5T6US) RTeturenL LILIQuIeNBs:.

9. Whatis MS Word ?

MS Word erettLig, etedrest ?

10. Define Powerpoint.

Powerpoint euempuim).

Part-B (5x 3=15)
Answer ALL Questions
11. a. Draw.the block diagram of Computers.

SewflLeIMIufedT SL°L 6UEDILILLD 616WIS.

(Or)
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12.

13.

14.

a.

a.

a.

Describe the computering methods.

&emflLIL| euLflsemertLl LiHNS| 61(LD&I5.

Brief the function of operating system.

BW&S SHEMLDLILN6EIT O\FWEOLITBSHEMEIT S (HEHSHLDTS 6T(LDSIS.
(Or)

Classification of operating system.

Bw&s AHewwLifesr Lfleysener 61L&

Narrate Powerpoint.
Powerpoint galiumm) 6\5M@&S8 6TLp&1s.

(0r)

Explain the Internet Explorer.

Internet Explorer galiumns) efeurfl.

Write notes on accessories in MS Office.

MS Office &leb 2_eterr accessories upn GlLIL| eT(L&IS.
(Or)

Explain the windows features.

WiINAOWS - 63T LI6T0TL| &M &:6merT 61(LDS)5.
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15. a. Explainthe Hardware and Software.

6U6BTELIMT(R6IT LDMMILD GILDESTEIIM(B6IT LD eflleurfl.
(Or)

b. How data is collected using Internet.

Bl 5605560 efleurid ereueunm) CH&SL LGS ?

Part-C (3 x 10 = 30)

Answer any three Questions

16. Explain the fundamentals of computers.

sewflLiemmudesr SHieuiLiewL L) 65l6uTibns: 61(psIs.

17. Explain any two number-system used in computers.

asmeug) et 6T630r HemLDLiL|g:emer LiH) sfeurfl.

18. Briefly explainthe'components of computers.

semflemmludest 2_miLiLjsemer LIHN & (@HS&LDs efleurfl.

19. Explainthe following in operating documents :-
() Creativity shortcuts to folders on the desktop.

(i) Foldersand files - copying moving and deleting files.
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&1 eupLIEmEusBEmeLI LiHN efleurfl.

() sewfluawm wpesr Sempuiled SiemLey GSMISES UL
LIEDLS860

(il) StewLey HMID CHMILSET [BHEO [HSHITSHSIHE0 LDHMILD
Sifs60

20. Give adetailed account of working with MS Office,

MS Office - etr e\gweoLITBsemear efleurfl.

*k*k
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AF-1705 BBCAl1

U.G.DEGREE EXAMINATION, APRIL 2010
CBCS
Biochemistry - Allied
GENERAL CHEMISTRY
(2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks
Part-A (10x 1% =15)

Answer ALL the Questions

1. Whatisatomic number ?

SIETY)| GTET0T GTEBTMITED GTEITET 2

2. Define oxidation.

Op&6r01z2CevTHMLD EuIWIM).

3'. How AG isrelatedto AH and AS ? What is the meaning of
AG=
AG eteuaunm) AH b AS 2_1 65T O\SMLITL
e\anesr®eitengl? AG = 0 er6dTLIENS 686155

4. Whatis Gibbs free energy ?

Sl SHHMED 6163TLIG] WING] ?
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10.

Define Normality of the solution.

&emae0lest HTLDTEOIL Ipemul effeurfl.

Mention the types of solution names.

SHEMIF60 U BH6rfl6tT OLILITHEDET SHILILIBS.

What are lyophilic colloids ?

SEDILILITEST SH6UIT SQLDLDIBISHET 6T63TMITEV 6T63T6T 2

Define electrophoresis.

LSI63TEUTTDLIGLIL| — 6UEDTWIM).

Ethers should not be heated upto dryness. Why?

RSITSHE06IT 2_60(HLD 6uT OULILILILIGESS FaLITg) 6165T 2

Why glycol is more viscous than ethanol?

E15S60TEN6V 66l BDETEETE0 NP LINGSSHET6WLD 61&T6T0TL S

er60T ?
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Part-B (5x3=15)
Answer All the Questions.

11. a. Giveabriefnoteon Isotopes.

2CenGLMILs6T L) sflfleuns efleurl.
(Or)

b. Write the difference between oxidizing and reducing agents.
Op&eIRGetThD LOMHMILD BSS SHNewilsener
CanLGS5SIs.

12. a. Write the importance of H-bonding or hydrogen bonding.

DD T2R65T LINGHETTLILNEST (LS SISSHIOUSHENS 6T(LDG).
(Or)

b. Explain the Internal energy.
2_eiTenmiihs ShHmeo L efleurfl.
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13. a. Differentiate the Ideal and Non ideal solution.
1BEm6EOUINEDT LDMHMILD [BEDEOWIDD SHEDTFEOSHED6IT

CamLIBG5g1%

(Or)

b. Explain the Molarity.
GuomeommiLig ugbgf)i 66N &:&5.

14. a. Write anote on Dialysis.

&Ll LMLy uD) GNILIL EueDTS.

(Or)

b. Write the classification of colloids.

FaLpLomISerledt euensLILITLemL sfleurfl.

4 AF-1705




15. a. Describe the principles of UV - spectroscopy.

Lmeen gt 6061 B GamLiulesr e\smerenaenw efleurl.

Or)

b. Explain the identification of Methyl amine.

5&emae0 SiLbevflest SemLwimen wpenmenws sfleurfl.

Part-C (3x10=30)
Answer any Three Questions.

16. Elaborately discuss the hybridization.
BenrgaeoLi) L) efifleuns sfeurfl.

17. What are the limitations of First law of thermodynamics? State the
various statements of second law of thermodynamics.
aalu Busseilwedest wpsed eflSufesr eugbL|S6T 6TEneu?
eau Susselledesr @uewrLmd eflSufeir LIOGeumM)

&DMISEENT 6T(LDSIS.
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18.

19.

20.

Explain the osmotic pressure and its application.

&616), B S(SSLD LDHMLD LILGTLIGLPEDD LD 656186

Discuss the preparation of colloids.

saLpmiserflest swnfliy wewmaener efleurl.

Explain NMR spectroscopy.
NMR BpiBgeo Crnadenw ubn) eflerns@s.

kkk
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AF-1706 BBCA?

U.G.DEGREE EXAMINATION, APRIL 2010
CBCS
Biochemistry - Allied
ORGANIC CHEMISTRY

(2008 Onwards)
Duration : 3 Hours Maximum : 60 marks
Part-A (10 x 1% = 15)
Answer ALL the Questions.

1. What are chelates? Give one examgple:
QBTG5S LNeW6TLIL| DIeWETTEYSH6T 6T60TMITED 6T60T60 ? 6(H

2 _SMI6wILD &([Hs.

2. Define tautomerism.

L GLI enLDiflerotd. @GIILIL| 6uemIss.

3. Definemononuclear coordination compounds.

RMEDM &(H HeWET6) CHTLDIHISEMET CUEDIUIM).



Mention the name of the following complex :—
a. [Co(NH,), (H,0)]cCl,.
b. Na[B(NO,), .

etreu(hHLd GaTLDMmISE 6T QILIWITSHEMENT 6T(LDSISH :—
a. | Co(NH,), (H,0)]cCl,.

b. Na[B(NO,),].

Define ionization isomerism.

Slwefl oD LD SMHILIL| DTS

What are racemic mixture?

&LOILDIT61VE &606M6Y 6T6ITLIS)| 6T60TE0T 2

Define Metallic bond.

2_ Qoo LiemevorLiL] sfleurfl

Why He, is not formed?

He, eretr 2 (peumeug) Seoeneo ?
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9. Write note on chromogen.

Bo&CambmI efLiLimetTaeT efleurfl.
10. Define Buna.S.
Hugpeorm -S euewwimy.

Part-B (5x3=15)
Answer All the Questions.

11. a. Write note on empirical formula of Isemerism.

LomHMLIMTISETl60T &) SHeWLDLIL SSSTLD efleurfl.

(On)

b. Explain paper chromatography.
&g BoLfiggseo ubns efleurf.

12. a. Explainthe trival names.

LWL wpenmemwt sfileurfl.

(©n)
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13.

14.

a.

a.

Discuss the nomenclature of aromatic compounds.

SIBymGLoLies Gambmiserflett YLWMBLD wpewmemut efleurfl.

Write note on Chiral center.

EMET6V EWLDWILD LD GSMILIL| 6u6mTs.

(On)

Differentiate between cis and trans Isomerism.

&letv LDOHMILD leTTedTeN LDMDMlIMbIGEmeT CouMLIBS SIS

Explain hyper conjugation:

aLIT &reiTe8aep6dT efleur..

(©n)

. Discussthe intramolecular forces of hydrogen bonding.

eLpeOSFNIEDI6T [BS(LPLD emamL a6t LlemerrLisnL sfeurfl.
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15. a. Explainthe classification of dyes.

Fmurkigerflesr euemaLLmLipuismeo efleurfl.

(On)

b. Describe the colour of dyes.
Fmumiserfledt Bomisemear efleurfl.
Part-C (3x10=230)
Answer any THREE Questions

16. Describe the purification of crystallization.

LIlpS> LDT&:&60160T &)U IeMLDLIGSSILD (Lpewmenw sfeurfl.

17. Explainthe rules of IUPAC nomenclature.

IUPAC ewuwrfi@d ¢penmpuileit sfldsener efeurfl.

18. Discuss in‘detail about Geometrical Isomerism.

g6l LbmMlwirkisemer efifleura efeurf].
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19. Describe the covalent bonding.

gaLiflemeorLi] ubn) efifleura efeurfl.

20. Write the properties and functions of polymers.

LieoLIpsserfledT ListorL|s6iT LDMMILD Lisvflgemert effeurfl.

*k*k
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AF-1707 BBCA3

U.G.COURSE DEGREE EXAMINATION, APRIL 2010
CBCS
Biochemistry - Allied
GENERAL BIOLOGY
(2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks
Part-A (10 x 1% = 15)
Answer All Questions.
1. Whatisartificial classification?

E\FWINHENS (LPEDM EUEHSLILITH 6T0TMITED 6T60T60T 2

2. Write short notes on nomenclature.

ewflghpsmm LD ANISHILIL| 6uemTs:.

3. Whatare the.main groups of starch storing algae?

61TbS LINE) QU6D&S61T LDITYFE56mS CFLAGGLD ?

4. Define Selaginella.

6r0l60MZL63TE16TTELEVIT ETEITLIENS, EUEHIUIM)].



10.

Brief about Amoeba.

Sibur upn)) SHILIIGS:.

Write the uses of Cilia.

feSwimeedT LILIEH6TT 6T(LDGIS.

Comments on tricuspid valve.

eLpeflgLD aurmeve] LM eflens&s.

Write short notes on RBC.

8155 falliL| Sig)|sa6T LN ANISNILIL a1enTs:.

Define muscle fatigue:

Sem&sBiTey LHM euenIuwim).

What are the stages in menstrual cycle?

rgefiLmu sph&luflest BemevseiT sTemeu ?
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Part-B (5x3=15)
Answer All the Questions.

11. a. Explainthe Phylogenetic classification.

LDIL6ULH EUEDSLILITL 6L 65161T8:E&8.

(On)

b. Explainthe experimental classification.

LIfGENE6menT EUEHSLILITL QU IEMED 61611 ES8.

12. a. Write the morphological classification of fungi and explain it.
L& TevtletT n&CHTMM <SHigL il iemLuleoment suensLILITBEHmerT
effeurfl.

(On)

b. Draw thestructure of Monocot flower - Allum cepa and
explainit.

RHENSSEME0 L} SHGSLD SH6DSYILD 6r6ILIT LILLD 616D S.
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13.

14.

15.

sfleomiGaerfledn euemSLILITL(B SSSHIEUSEWS 61(LDSIS.

(On)

. Brief notes on paramecium.

GuSAwd LM ANIGHILIL| CUEDTS.

. Write about the composition of bloeod.

BU555S60T Fal LeBLDLIL| LIHNS 6T(LDSIS.

©n)

. Describe about smallintestine.

dmiLeo L) efeurfl.

. Explainthe contraction of muscles.

SHMEFEFHSHSLD LIDN 6M6Né&s.

(On)

. Write short notes on principles of animal classification.
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16.

17.

18.

19.

20.

b. Mention the functions of hypothalamus.

emamELINSTevLD6 LiswfllsemerT GMILILNBS.
Part-C (3x10=230)
Answer any Three Questions.

Discuss in detail the Bentham and Hookers of classification.

6ILIMBSLD LDHMILD eN)SSIT euemaLILIMLemL efleurf].

Explain the economic uses of gymnosperms:

2JDBEBTITEIVEILIITLD LILIGITHEWET 6161T8:EGH8.

Discuss about subkingdom Protozoa classification.

LGom-CLnGameur euemsLINL lgensot LM eflifleuns e1wpgis.

Explain the structure, composition and functions of kidney.
fAnBrasdetr;. eulgeusmIDLIL| LDHMID Licwll&ener LLLD euenIhg
Ners&s.

Describe the male reproductive system of human.

Loevflgevfledr Db 6v0T GETTLICILIHE:S LDETITL 6086m8 6fleurfl.

*k*k
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AF-1708 BBCA4

U.G.DEGREE EXAMINATION, APRIL 2010
CBCS
Biochemistry - Allied
CELLBIOLOGYAND GENETICS

(2008 Onwards)
Duration : 3 Hours Maximum : 60 Marks
Part-A (10 x 1% = 15)
Answer ALL Questions

1. Whatare microtubules?

6MLD&GIT 1QULI6D6D 6TEBTMITED 6T6BTE0T 2

2. Write short notes on Mitochondria.

emwL GLrgmedTierilwim LiH) AMIGMHLIL| 6uemrs.

3. Definesuicidalbags.

SDESTE060 EWLIEHWI LIHN 6u6mTWIM)).

4. What are plastids? Write the types.

LISITITETVIQL" 610 6T63TMITED 6T63TEDT 2 HSH60T 6UEMSHHEWENT 6T(LDEIS.



10.

Brief note on lodine test.

SICwimeedT eflewent LD 6T(LDEIS.

Mention the name of centrifuge types.

ezstmerfililup e euemsseflett OLIWITHEmET Sam).

Write Mendel law.

6\LD6vOTL 65163T 651H6MILI 61(LDS)IS-

Brief notes on Gene.

gletr LD SMILILY 6110E)5.

Short notes on mutation.

SleiT LomHmLD LMYl AMIGHLIL] 6uenIs.

Define. Genomic library.

2BevTLD S&H6u60 GFafiLIL LD euemTwm).
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Part-B (5x3=15)
Answer All the Questions.

. Explain the structure and functions of Chloroplast.

SBeamGrmLIlemeivL 1e63T SHeWLDLIL| LDHMILD Liewflsensr flems:@s:.

(On)

. Differentiate between plantand animal cells.
Sneuy WOHMID efleomE OFVHEHSHS ewLBWwmes

GaumILTBSHED6ITS ).

. Explain the structure and functions of nucleus.

BupserfiierSlest SiemLbLiL| LDMILD Listofllsener sMens@s.

(On)

. Describethe Ribosomes.

emrGLNG&Mbaemer L) efeurfl.
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13. a. Discuss the mercuric bromophenol blue method of proteins.

14.

15.

a.

a.

LISmisensasnes e LGImGLmLiermed Liesrh eflemestemul
Ners&s.

(©n)

Given an account on Electron microscope.

6T60ELTTEDT [BI6TTGEmTES LD 6(H SH600TEHED SHT6v0Ts.

Explain non - allelic gene interaction.

Si6560 Sisbe0 g2etTaeTTletT PLBHE0 (PEDMEMIL 6561TEGSS.

(On)

Explain the duplicating genes.

BT BHGSLD Betis6iT LD 66 s.

Discuss in detail chromosome linkages.

&GIGLon@ambaerfledt NemeworLiL| LD eflifleuns sfleund.

(©n)
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16.

17.

18.

19.

20.

b. Explain the genes crossing over theory.

LDTLIsYISS6rT6tT GMISEEHHMLD LD 6M6T&:ESS:.

Part-C (3x10=230)

Answer any Three Questions.

Give an account on the Fluid mosaic model of membrane structure.

geleflledT LIMLILDIT L&+ LDITL6D H6WLDLISHLI LD 61(LDS)IS-

Explain the various stages of Mitosis.

eoLDL L merblerdledT LIsoeems: - [Bensos:emert slerns:&s.

Discuss in detail about staining.procedures.

FMUGLOHMILD S\FWwedpenm LD efifleuns eflens@s.

Describe the Mendel’s works and principles.

6WLD6TOTL 60160T S FLDLI GHMLLIT(BHEMETULLD Db U16YSH6meTLD efleurfl.

Explainchromosome mapping.

&CunGLNGEMD&6rfl6sT LDIL| UemTLIL G608 66 @& 8.

*k%x
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AF-1709 BMIA1

U.G.DEGREE EXAMINATION, APRIL 2010
CBCS
Microbiology - Allied
GENERALBIOLOGY AND CELLBIOLOGY

(2008 Onwards)
Duration : 3 Hours Maximum : 60 Marks
Part-A (10 x 1% = 15)
Answer ALL the Questions

Write short noteson :
1. Name the book written by Bentham and Hooker.

6\LI63TELD LDHMILD QNSESIT 61LRSI HTeNedT EWIIIT

2. Gemma.

6\g3LbLDIT

3. Spike.

6106MLIS

4. Operculum.

6UITG6ITLD



10.

Rhizoid.

sorsmi®

Condenser lens system.

aerfl@ef eflevemen

Microtome.

6mLD&GIMTGLITLD.

Basic stain.

SIBmLAlEeT

Carotenoid.

&G LeevTmLIB

Trisomy.

leemIGETLY.

AF-1709




Part-B (5x3=15)
Answer ALL Questions

11. a. Whatare the principles followed in Bessey’s classification?
6WisverbludledT Seu eUEDSLITL Q6D HEMLLNQSS 6\HTETENSHS6IT

6160T60T ?

(©n)

b. Outline the Linnaeus system of artificial classification.

60163TBEDTULIENL SHITEUT EUEDSHLITLLEWL: Sr((H&E EUEDTS.

12. a. Mention the general.characters of Arthropods.

SpTSHTCLITQEIT 6 INGIS S6vorhisemer effleurfl.

(©n)

b. Summarize the life cycle of Funaria.

Liuw|GevrrflwimefledT 6uMmpa6mas (Lpewm LIHN Si(H&E 61(LDS)IS.
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13. a. Briefly explain the reproduction system in Human.

L6l S 60fl65T BEUTLIOITHES: SHEBLDLIL| LD &(HS&LDTS efeurf].

(©n)

b. Describe briefly the life cycle of Prawn.
SDITev QUMLPEENS (LPewM LD &(H&LDNS efleurf].

14. a. Draw asimple microscope and explain the important parts.
SNSMI600T [HIGTCHTES LILLD 6U6BIHS!. (PHSW 2_MLIL|SH6en6rT

eNers&s

(On)

b. Comment.on resolving power.

L&SSmetT LM GMILIL| 616w
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15. a. Write the structure and functions of nucleus.

2 _1'5(H 6U1Q6UEMLDLIL| LDHMLD GEUEDEOSHEMEIT 6T(LDE IS

(On)

b. Explain briefly the light reaction of photosynthesis.
sneur eeflFGaisamauiled @erfl Sflemiubn) efeurfl.

Part-C (3% 10=130)
Answer any THREE Questions

16. Outline the Bentham - Hooker classification of seed plants.
61LI6tTHLD-au) 836t 65160S HTEUT EUEDSLITL LQEWEDT Sr((HSHSBLDTS

efleurfl.
17. Discussthe life cyele of Pinus.

EOLIETT6D 6UITLDEE0E: (LpemM LIHN efleurs.

18. Describethe nervous system in humans.

LD6vfl& MBLDL LD6TITL 60 SHewLDLIL| LD 6fle&:&8.

5 AF-1709




19. Explain the squash technique.
suG6uTe E\STLHEL MHIETD&ELD LI efeurfl.

20. With suitable diagram, write down the various stages of meiosis.

G616V LIGLIL| (pemmuiled a1g6v Liflsemen LIL &g L 6ot effeurfl.

*k%x
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AF-1710 BMIA2

U.G.DEGREE EXAMINATION, APRIL 2010
CBCS
Microbiology - Allied
GENETICS, BIOSTATISTICSAND ECOLOGY
(2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks

Part-A (10 x 1% = 15)

Answer All the Questions.

1. Backcross.
NbaseoLIL

2. Biofertilizer.

2 uifl &_gruseir.

3. Methyl isocyanide.

615 P60 BCFMEILENE(H.

4. Primary producer.

P60 [Bemev 2_HLsHuimernt



10.

Food web.

D_6u0T6)] 6UEMED.

Variance.

GCeumiun(®.

Standard error.

Bemeowimesr seum).

Mutagen.

Sl DMHD&&MTewullS6i

Autosome.

Db GLTGEMD

Renewable energy.

HEIINSSLD Sbbmed

AF-1710




Part-B (5 x3=15)
Answer All Questions.

1. a What are complementary genes ? Explain with
suitable examples.

LTSS OSSN LDILIET)| ET6TMNED ET65T60T ? 2 STTEUTSSIL 65T
Ners:Gs.

(Or)

b. Define supplementary genes. Explain with suitable
example.
NHG&T66WS DILIG)ETEIMITED ETEIT60 ? 2 & T 6U0TS &I 65T
NeTsGs.
12.  a. Writeshortnoteson:
i. Standard deviation ; and
i Standard error
&) ML euemrs; :
. Beweowiesr 6M60&6b ; LOHMILD
Il Beweowimenr LemLp

(Or)
3 AF-1710




b.

13. a.

14. a.

Comment on simple and bar diagram.
&MSMI6sor DHMILD HBSHS LLMHISH6T 6uennbg| LieTerfluliuied Libas

SDILIL| 6U6DTS.

Illustrate the biogeochemical cycle of phosphorous.

umsroLirdlest 2_wirefll spmh&sl Lbm) efleurfl.

(Or)

What are the components of-ecosystem ?

&OHMILULLP GsDBemeouflett 2_eiten LiGS&H6IT wimemeu ?

Discuss the chemistry of pollutants.

n&&aefler Gauduilieo SemibLiL L efleurd

(Or)

Giveashort account on environmental pollution management.

&HOILLD r&UTE UbHN Q0 ISTSLIL| U6DTS.

4 AF-1710




15. a. Describe shortly the reproductive effect of population.
D&SLOSTENSUNE0 BETLIOLI(HES eflemereysst LD Hm GSHILIL

QUM G,

(Or)

b. With suitable example, explain the law of independent
assortment.

S6eullsgIL 1fls60 efld LM 2_snrenTsgILeir 66 s.

Part=C (3 x 10 = 30)

Answer any THREE Questions

16. Give an account on chromosomal and molecular mutation.
&GIMGLTGEMDS6IT HMILD mHietTenuiit Slert mHMLD LIHI @6 OSTSLIL

QUMD .

17. Explain thesmethods of collecting data.

S&6u6d GgaiflLiLNeT LebGaum) (pemmaemer effeurfl.

18. Describe the different kinds of ecological pyramids.

&LpiBemed GaMLTSH60T LIsoGaum) Uen&E:6T LIS s m)s.
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19.

20.

What is air pollution? Discuss its importance on plants, animals
and human beings.
SMOM| LDTELING 6T63TMITED 6T63T60T 2 LDTELITLIQETTITED STEUTTRIS6T,

6fl6omIG 61T, LD6W1lS G605SDS TMLIGLD (LPSSWISZHI6UD LD efleurs.

Write an essay on population growth models.
&L 615N S ILIHSESLD LDMlL LsdGeum) onifleemer b &L GewT

QUM .

*k%x
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AF-1711 BCOA1
U.G. DEGREE EXAMINATION, APRIL 2010
Commerce - Allied
FINANCIAL ACCOUNTING - 1

(CBCS /2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks

Part-A (10 x 2=20)
Answer All the questions
1.  What do you mean by Nominal Account ? Explain with
Example.

EIIWLIT6IT6) SH6MTEE STEITMITED 6T6IT6N ? 2-GHMITISHGHIL 65T 6M61TEHESS.

2. Explain Compound Entry with.example

&aL.( LS6ilemert 2_sMIeis gL 65T 6flensd.

3.  Write short note on Imprest system.

PpsiTLIETITLEL B (LPEDD GMSS! UEnTS:.

4. Whatis ‘Contra Entry’ ?

‘elper T L6y ETETMITED 6T6T6DT ?

5.  What is meant by Bank Reconcilation Statement ?

6urhld FflaL(BLD LILIQUI6L 6T63TMITED 6T60T60T 2



10.

11.

Mention any two importance in preparing the Bank
Reconcilation Statement.
amsg sflsLGD uLipuwed swmfiliugs aCGsenib Sdw

WPEBWGZIeUS5SHement GMILILALYLD.

What do you mean by ‘Suspense Account’ ?

SIEVTMDE G| HEWT8E ETEIMDITED ETEIT6T ?

Mention any four Errors not shown by the Trial Balance.

8oL QaueflaTLLT LNenpseT aCSHeID HeTHeneGMILILILaD.

Explain Depreciation with example:

G5 \ILDTENTSHeWeT 2_SMTeTTSSIL60T eflemgeeLb.

What do you mean by Final Accounts ?

BM|S [BemeD &610T8:GSH6IT ETEIITED 6T65TEuT 2

Part-B (5x5=25)
Answer All the questions.
What are the’Advantages of Double Entry System ?

SrreniLl L6y (PpedMUTl6IT [HEITENLDSET WiTewe ?

©r)

From the following balances of accounts, prepare a Trial

Balance :—

2 AF-1711




12.

a.

Capital A/c.Rs.40,000; Buildings A/c.Rs.6,000;Bank A/c.
Rs.4,000 ; Interest paid A/c. Rs.350; Bills Receivable
A/c.Rs.8,000; Debtors A/c. Rs.30,000 ; Bills Payable A/c
Rs.15,000; Furnitures A/c. Rs.65,000 ; Discount Received
A/c.Rs.1,200;DiscountAllowed A/c.Rs.2,100;Machineries
A/c.Rs.8,000;and Creditors A/c.Rs.7,850.

L9631 CUEBLD &H6W0TES BBLLSEDENS: ST (B BB BHLIL SpuwieyL
LILIQUI6D ST E1FUIS.

W60 &/ 6. 40,000, SLIQL 8/ eb. 6,000, aukid 8/& em. 4,000
al'lp OFNSLG &/ ob. 350, aNbiGSaHGTIL LIHNEFSLG &/
¢h. 8,000. sLemeflaeT &/@ (@B.. 30,000. AFuSHSHGMW
LOMHMIFEL B &/ e 15,000. SHempulenllseT &/& eb. 65,000, S6TerpLip

QLIDME &/ eb. 1,200, S6iTEpLIQ QIS &/& ab. 2,100, SWbSIs
0O51&S 8/ eb. 8,000, &L HESHT &/ eb. 7,850.

What are the differences between Trade Discount and Cash
Discount ?
eMLIMLINT S6MEBLILSSGLD E\IT&:S S6TEBLIREGLD _6iTem GaumILITBS6T

Wwimemey 2

©r)

3 AF-1711




b. Record the following transaction in the petty cash book :(—
2009 Rs.

October 1  Received for petty payment 500

2 Postage 40
5  Stationery 25
8  Advertising 50
12 Wages paid 20
16  Carriage 15
20  Travelling expenses 80
25  Conveyance 22
27  Postage 50

28  Wages paid for office cleaning 10

30 Telegram 20
31 .Registered Post 15
LNetTaUBHLD HLEUIQEHMSHHEDHS (LPEITLISTOTLEL L] (pemmulsd LMGLGSSLILLL
&levevemM Q\TMEHS ETL IQEWET SUWIMT E1FUI :
2009 (W3R

SUSCLIUM._ 1 fFFemm 61F606sHEnssTs OUDLILLLE 500

2 SiEhTF60 615606) 40
5 erdpg 6L (BT 25
8 eflenmbur 615606 50
12 506 O&ME555! 20
16 euewITIE §55LD 15

4 AF-1711




13.

a.

20 UWemrF 615606 80
25 GUMLEN&S ST SLLET0TLD 22
27 SiehFeo 615606) 50
28 SigyeuesID FSHHID OFIL OETBSS Facdl 10
30 sBd 20

31 udeys sumed 15

How would you prepare a Bank Reconcilation Statement ?
Draw a proforma for that.

aude a1 Led LI ipuisneo [BiT erliLig swimfilis;/ Sishares @

orSifl Ligeusems uems.

©r)

On March 31, 2009, the cash book of Parameswaran showed
balance of Rs.4,580. While verifying with the Pass Book, the

following facts were noted —

(D)

(ii)

(iif)

()

Cheques sent in for collection before March 31, 2009,

and not credited by the amounted in all to Rs.845.
Cheque issued before March 31, 2009, but not
presented for payment amounted to Rs.885

The banker has charged a sum of Rs. 100 towards Bank
Charges and credited interest Rs.250.

The Bankers have given a wrong credit for Rs.200

Lomiig 31, 2009 Sietim) LTGLsveuTesiiedt OImas 61 &L eI @(BLILSE\S TN

oh 4,580. QiFeoBevLligenent FfluMi@ GuNg LNeiTeupld eNLINMHIG6T

&euoTBLILIQSHSLILILL &)

5 AF-1711




14.

(D)

(ii)

(iif)

()

OUMISOHEHHHTSH amSHS Mg 31, 2009&& w6
Slg@iuliu’L  &sresneneser @eTID eumSWne  aure)
OEUSSLILTSEmE ¢Ih 845,

g 31, 20096@ P65 QUPMIGLLLL &HTEFTewed, B6iTenID
615605515605 aUmIBUTed FIDMILNGSILTSEN6 oh. 885.

aImid &HSW auhd SLLEwID eh 100 auIe| MeIsHsLULLL QLR
ep 250.

6UMhIE [BLDE)| SH6WT5HHE0 Q\&HTBSS SeuUnen aife] eb 200.

List down the errors disclosed @and not disclosed by Trial
Balance.
Smly Spule] Aelaflam@Em LHMID QeuefsasmiLr 19 enpsener

uLwedL® sT®G ?

©r)

Abook-keeper finds that the debit side ofthe Trial balance is

(1)

(ii)

short 0f Rs.308 and the amount is placed in suspense account,

subsequentlythe following errors were disclosed:

An‘entry for sale of goods for Rs.102 to Madhavan

was posted to his account as Rs.120.

Rs.100 being the monthly total of discount allowed to
customers was credited to Discount account in the

ledger.

6 AF-1711




15.a.

(iif)

(iv)

Rs.275 paid by Madhavan was credited to Mahadevan
account.
Rs.26 appearing in the cash book as paid for stationery

has not been posted to ledger.

Make necessary Journal Entries

R HEVSHSHIT SIBLILITLIEY 6T 1965 LIHM) eh. 308 Gewpheins SapLiLeng

&S60T BLI IS &1 NS WU N UMD S 5| H6MWI5H:H60 BMISS CWEUSSITT, S5 60T

QGTLIESLINS LN65T QUIBLD LN6MLp&6IT SH6torBLIIQSSLILILL 5.

(D)

(ii)

(iif)

()

SMUGLILIQED DMSEUENIHS EWILILILILL oh. 102 sTen eflhLeneot
SiaUg)| SHenTEHS60 oh. 120 Db LS6] OSUWILILILILLS).

QTS DS ITATTHEHSHGS UPBISLILLL SN6| HL6|SHSHT60 s S
GUIGHLIEL AuT6e)| EHEUSELILILLLE] QIDNSSLD erb. 100

DIGEUET QEHTBSHS O\STENS ¢1h.275-5G LDaDTECSEU6HT 560018860
6U6Y EMEUSSBLILILL G

6WIN&& 6111960 LISWILILILL eTDGIOLIMIBET eh. 26 HGesr GUITML Ig6d
uBwiLL efleoemev.

GaemeULILBLD. LPSHSMILIGLIEG &(Hs.

Mention various Adjusting entries with examples.

LeoBaum) SIGLBS60 LIS SH6meIT 2_STTersgIL 65T eflenésa]ib.

©r)
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b.  From the following details,
Year ended 31-3-2009 :—
Rs.
Opening Stock 2,000
Purchases 15,000
Sales 26,000
Closing Stock 3,000
Advertisement 3,000
Carriage Outward 500

Spsneyib  eflurmisefelmnbsl

Prepare Trading Account for the

Rs.
Returns Outwards 200
Returns Inwards 700
Wages 1,000
Salaries 2,000
Interest 500
Carriage Inward 300

3148-2009 Gs8 WeumLUW|D

SHETTIRNSHTETT 6UIT5,58 SHET0TSHBEDETT 6T(LDSHEYLD.

¢rb.
OBTL&ES FISSIBLIL 2,000
C\ETETAPSH60 15,000
eflhLiement 26,000
BmB&FsIsSHLIIL 3,000
eflembLmid 3,000
Geuerflgned saedl 500

¢Ib.

Geusrlls LD 200

© eTpLILLD 700

&660] 1,000

FLDLI6ILD 2,000

6uLlQ 500

2 615168 Fa6dl 300
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Part-C (3 x 10 =30)

Anwer any Three questions.

16. Journalise the following transactions, post them in the ledger and
prepare Trial balance as on 31st March 2009 :—
March 1 Rajini started business with a capital of Rs.50,000
2 He purchased furniture for Rs.5,000
3 Hebought goods on credit from Vinod for Rs.8,000
14 He sold goods to Suresh for Rs.5,000
15 Hereceived cash from Suresh Rs:3;000
18 He purchased goods for cash Rs.12,000
27 Hesold goods for cash Rs.8,000
28 Hepaid Rent Rs.1,200
31 Hepaid Vinod Rs.3,000 on account
LN68T 6U(BHLD [BLOUIRSMSSEHEHE GSMILICLEG suenibg CLIGTL IO LISe Q&S|
wmité 31, 2009 CadsaTenn @MmLUILMIL SWIMT & :
g 1 pedlesfl e6.50,000.6\&M6t01(B MWITLIMTLD Q\GTLrhiewTT
2 b 5,000-6G HDMSE06IT QUhIS6TT
3 NGMBLSBHS €. 8,000-6@ HLEDISE OLINH6T a6t
14 SeieCIarsd op. 5,000-6@ eWLNsT efhHmm.
15 &Cref lmmbE eb. 3,000 LT eWibpt
18 Sieui e 12,000 OIESSSHES OLNGET eurrhideomit
27  Sle . 8,000 ONESESEHS OUTHET eNbmmit
28 aLens ab. 1,200 e\FaysHeorit

31 efiGeums sevursdent L5g) eb. 3,000 \&TESSMT
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17. Enter the following in three column Cash Book and Balance the

same :\—
2009 1 Cash Balance - Rs.2,200 and Bank Balance Rs. 6,000
October2  Cash Sales Rs.4,800
4 Paid to GuruRs.1,800 by a cheque, Discount received Rs.20
8 Cashpurchases Rs.3,100
10 Cheques deposited into bank Rs.9,500
15  Withdrew Rs.2,500 from bank for personal expenses
20  Purchased furniture and issued cheque for Rs.3,000
28 Received from Gopu Rs. 2,100, Discount allowed Rs.30.
30 Sold goods for cash Rs.8,000
31 Deposited into bank Rs.3,800

Spsnayueanenn apeiin LSS OINEs gliged ude aFg Uy

SMLB&:

2009

ASELTLIT

1 anés LY eb. 2,200 auniul@Liy eh. 6,000.
2 eunss efibLenest ¢p. 4,800.
4 GHEUSHS HTCSTEM6L eLPeVLD O1FSHBUIS) eh. 1,800 S6TErHLIQ
Qb emH. 20.
8 QWN&s O\BTETLP6D erb. 3,100.
10 amiduied OsaysHw sMBaTemeDd ob. 9,500.
15-0&MBs 2 LBWNss5SMH& aumsulelmns sG558! eb. 2,500.
20 Siempwenilgst aunmid sTC&Tawed O&ETBSSSI erh. 3,000.
28 GamyeflLd OLbDME) eb. 2,100, FeMEbLIQ epriBwig) eh. 30
30 N&&ss3NE eMhLeneT ¢h.8,000

31 amduie aFas3us) eb. 3,800

10 AF-1711




18.

From the following particulars prepare a Bank Recocilation
Statement as on 31-03-2009 :—
(1 Overdraft balance as per Pass Book Rs.8,000

(i) Cheques issued but not encashed Rs.3,100

@) Cheques deposited into bank but yet collected
Rs. 1,800

(iv)  The debit 0fRs.950 in Pass Book for interest is not entered
in cash book

(v)  Rs.1,750 paid into bank by a customer directly is not
entered in the cash book.

(vi)  Dividend collected by the bank Rs.500

etTeuBD HoHeucosHenen A\&Tew (B, 31-03-200965M60T GUHISL LIS

&fl&aL G LLIQUISO SWITT Q\FUIS -~

(1) eurd maGeoLpebTLIe GedeuemILILIHM) 6. 8,000

(i) euprdw &TEETEDESET LIGTTLD OILDLILIL 65l606m6v erh. 3,100

(i) euraBuled OFaSSW STCETENEOSET GETEILD CUGHENSHTSS]
¢(.1,800

(Iv) emd BeGoLrgsd alpsster uHnil udey b.950 Geanb
68 eTL 160 LIS ILILIL 6fl6b6m60

(V) eumesemawTen @meuned CBIQUITE eurhids: &6uTad60
QFQYSFLILILLE) eh. 1,750 B6IEQILD C\IME:S 6TL 16D
uBuIILL 6fl6bemev.

(V)  @eonu Reys O\5Mens: EURIBITED eug6d&aELILLLE) orb. 500.

1 AF-1711




19.  You are presented with a Trial Balance showing a difference

which has been carried to Suspense account and the following

errors are revealed :

()

(ii)

()

V)

(Vi)

Rs.1,700 paid in cash for a Typewriter was.charged to

Office Expenses Account.

A Cash sale of Rs.5,000 to Black, correctly entered in
the Cash Book, was posted to the credit of Black’s Account

mstead of Sales Account.

Goods amounting to Rs.800, returned by Blue, were
entered in the Sales Book and posted there from to the

credit of Blue’s Account:

Bills Receivable from White for Rs.3,000, posted to the
credit of Bills Payable Account and credited to White’s

Account.

Goods amounting to Rs.10,000 sold to Red were
correctly entered in the Sales Book but posted to Red’s
Account for Rs.18,000.

Sales Returns Books was Overcast by Rs.100.

12 AF-1711




5s1b &M@ SmLumie) @6t 2 risefLd sIiuGang. Smliumiey

S iew! LE&LD SHeUMDGF HETSHDGS TBSEIF 1F6060LILLG, OSMLIFAUITS

19651 QUEBLD LNeWLD&H6IT SH6voT(B LNLIQSSLILILL 5.

()

(ii)

(iii)

()

V)

(Vi)

¢h 1,700 QIM&ELD 015658 QUMMRISLILILL SLLES:, DIEY61608 615606

SHETESE0 STDLILL ).

SHLINDEG OFUIS \Mas efhLEn6T erh. 5,000. QIMSaLILIEGEIL 1960
giflwne udey QewiILLLG), eflbLeneor GLGTLIQEL a6 DeIILISDS

uBeo sBLILT6T GLIGTL Q6D 6uT6) ENEUSHBLILILL S

eargm SHULN SienLifw en. 800 sient EWIMHET, eflDHLIEHEIT eIL 16D

uBWILL G BN HEI 2ensm eflest GLGTBLD 6ure) eDEUSHSLILLLE.

Gleusitemen BLLSHHS! EILMD (B 3,000 QMMhGSNSHSMIW LDAHNIE
.6 OF5z5aHG I MDnIE F6 S6mTeSed aure) naussLILIL (S,

E6u6TEm6ITUTIEHT SHETTTES 6UIE) EMEUHSLILILL G

erh. 10,000 ‘&mevr LINBeT fAsLDe sfbhaiur@ efbLiemes
ariiged . sflwmasliuSwliLurLg Sbeormed SAsLIN6lT  SHevorsde0

¢h. 18,0008 LSWILILLLE)

sfipuemesr 2 6T HHBLUUD eh 100 WEDSHWITEH FalLLLLLE.

Bxemeuwient FlsLLED LIBeUS6T OIS HEVTIDSS| SHETTEES SHWIT

OFUIS.
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20. From the following Trial Balance and additional information,
prepare Trading and Profit and Loss Account for the year ended

31-03-2009 and the balance sheet as on that date.

Debit Credit
Rs. Rs.

Capital and Drawings 10,000 1,00,000
Bank A/c 24,000 --
Machinery A/c 25,000 --
Bills Receivable 7,500 --
Bills Payable 6,500
Purchases 1,05,500 --
Sales 1,75,000
Returns inwards and outwards 2,000 2,500
Wages 10,000
Bad Debts 3,000
Stock (1-4-2008) 15,000 --
Carriage Inwards 1,000 --
Discount A/c 500 1,000
Salaries.A/c 15,000
Sundry Debtors and Creditors 22,500 25,000
Commission 2,000
Fixed Assets 61,000 --
Rent A/c 8,000
CashA/c 5,000
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Adjustments:
(a) Closing Stock on 31-03-2009 Rs.4,000
(b) Depreciate Fixed Asset by 10%
(c)  Wages to be paid Rs.1,000
(d) Write offbad debts Rs.500
(e) Charge 5% interest on capitals
&b sramIb BEULS CETSeT UULipWe HDIb uThseie Smbel
31-03-2009 1b G58uf6d LDIEIEDL U|LD Db 65T ETEuT SMWLITLITE, 60MLI [BL'L 8

&60015608 SMUTGSD, HesTempul CaSulled @bl [Benevs: GLIeDLILID

SwifgeeayLb.
Lbo) eure]
e, o,

eT(BLIL|LD (LPSEYILD 10,000 1,00,000
amnd &/& 24,000 -
BB &/& 25,000 -
QINMTEIGSE15H@& Ml MOMIFEL B 7,500 -
0\F581560165@ 2l FTHNIFELG - 6,500
C\EMETAPS60 &/& 1,05,500 -
sflbLement &/& - 1,75,000
2_6iT Qeuerfl SapLILID 2,000 2,500
5660 5/& 10,000 -
QUIMEEL 66T 3,000 -
&§185% (1-4-2008) 15,000 -
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Den6iTE15:& F660! 1,000

SETEBLIQ &/& 500
&LDLIET &/ 15,000
sLeverliaEnBLD SLevTHLEST(HLD 22,500
SIS &/& -
1Bemev Q\&F MG 5|886iT 61,000
QUTLEWS &/S 8,000
nnés &/& 5,000
&il&1 L &H6056iT

©) 31-3-2009 6 sr&dELL em. 4,000

) Beweo O\FNSZISE6IT 55 GHUILDMERILD 10%.

@ 6say55 Geuetoriow a6l I 1,000.
M eurn&sLed . 500 61(WEIs.

®) wsaeo 155 alllp 5% &eTsSBsS.

k ok ok

16

1,000

25,000

2,000
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AF-1712 BCO A2

U.G. DEGREE EXAMINATION, APRIL 2010
Commerce - Allied
FINANCIAL ACCOUNTING - 11

(CBCS /2008 Onwards)
Duration : 3 Hours Maximum.; 75 Marks

PART -A (10x2=20)
Answer ALL Questions

1. What is Red ink interest?

dleuliL 6mLD GULIQ 6TEBTMITED ET6dTET ?

2. State the different methods of calculating interest in “Account
Current”.

[BLLIL| $60016:& ULl H60TSHSBLD LISOEAIM)] (PEDMEMIL Sarbis.

3. Define * Consignment’.
NILILIB S60SHHETLD CUEHTE.

4. Define  Joint Venture’.

Bewemrelenet Ge0&SHEILD &([HS.

5. What is meant by sectional Balancing ?
Wrflefh&iiw FlsLES6d (wpemb eT6dTIT6d 6T6dTERT 2

6.  What are ‘Contra Balances’ in selfbalancing system ?
SnGeur &flaLBLD CLBTL G (LPewDUTN6D 6IHTLDEDN G(IBLILISEIT ETETTMITEL 6T60TEDT 2

7. Explam ‘Single entry System’
ROEDD LSS (LD 661TEHSS.

8. State any two merits of Single entry System.
RDEm LIS LPePMUTET [B6iTenLDS6T TCSEDILD BI6TITIQemenT Famis.



9.  What is consequential loss ?
& 6flugsmed erMLIEBLD BLL STLILSE LImedl& eTedTmimed eredTewt ?

10.  State the formula to calculate claims under average clause.
e sgsHeit S1b CaLLMlemid SeuursSBausnHaHNeT &SHSILD H([hHsS.

PART - B (5x5=25)
Answer ALL Questions
Choosing either (a) and (b) in 250 words each.

11.a. A Merchant has purchased goods on different dates and has

accepted the following bills.

1998 June 15, Rs.25,000 duedate 18th August
July 10, Rs.7,000 due date 13th September
July 20, Rs.8,000 due date 23rd October

August 4,  Rs.10,000 due 7th November

He wishes to accept a bill for the full amount payable on the
average due date determine the date.

1998 gzttt 15 @h. 25,000 geuenewr G585 SpseivL 18
26me0 10 eh. 7,000  Feuswenor G5 Q\FLILLDLIT 13
Zeme0-20  ¢ob. 8,000  seuemenr G5d SN&GLMLIT 23
Sp&6L 4 eh. 10,000  Seuemenr G558 HeULDLIT 7

SH6UIT ST ST CEUETITIQU ETEV6VITS E\STENSHEGSLD B&TSHS)I &6U6m6ToT
Berflsb @ MbmIE &G enhs NS, b [HTEH6T &650TB
Nipsa6yLD.

Or
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b. From the following particulars, prepare the account current to
be rended by Raman to Gopalan as on 31st August 1998.

Interest must be calculated at 10 % p.a. Rs.
1998 June 11  Goods stock to Gopalan 1,020
June 15  Cashreceived from Gopalan 500
June 20  Goods sent to Gopalan 650
July 7 Goods sent to Gopalan 700

August 8  Cashreceived from Gopalan 1,100
S1paevoL efleuprhiserfled b SIMDetT GHTLITEOENISHS 1998 SpaeivL. 31-60
SHILILI GoUETITIQLI [HEDL(LPEDME> HETIMEHSEMEVIS SHUIMTTEHSELD. UL IR DheTTBSHS

10% 61601 HEWTEHSL6YLD.

b
1998  eser 11 GaMLTLEIHE 516G Jleniwg 1,020
efetr 15 GanuTeosdfiLLBI(BHE E\IM&eLD
OubDE 500
et 20 GHTLIMLENISS FTSHS
Sl wig 650
eg%eme0 1 GaMLTeIHS 516G JHendwg 700
SpseiL 8 GamumeveslILLONBBS! E\IT&ESLD
QubHDE) 1,100

12.a. What arethe differences between Consignment and joint venture
il 1@ LD, Seveturelenent SeuoTSRNGLD 2616 CoumILITBESIT WTeney ?

Or
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b. Kannan and Balaji entered into a joint venture. They agreed to
share profit and losses in the ratio 2 : 1. They are transaction
are as follows:

Kannan Balaji

Rs. Rs.
Goods 20,000 25,000
Expenses 1,000 750
Sales ---- 62000
Commission on Sales ~ ---- 6 %

Balaji send the balance to Kannan. Givejournal entries in both
parties books.

S6U0T6TOT60T LDMHMILD LimeviTes) ShSBWI SHeUIHLD R Senevorefenestuied FBLILLeDTIT.
SHEUTEH6IT GEOTLI-[BLLMISED6T (LpendDEW 2 : 161651 601855860 LNls 516 O\smemen
RIS 6)SHITEVOTLMIT.

Sleuiaserlei HLeUISHENSS6IT LN6tTalIHLDTM) ©

5>600T 600T60T umeomgdl
erb. erb.
FIES 20,000 25,000
615606)&H6IT 1,000 750
eflhLiemest - 62,000
slPley eflhLienevTUIED - 6%

umeongd 1588 QS TEnSHEMIL HETTETTENISHE 61F6S5SeuTIT. SBeult
a@sefleyid GHLICLLG LSe &6 5Hs.
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13.a. Fromthe folllowing information prepare

1. Total Debtor’s a/c Rs.
Debtor’s Balance 1.1.98 32,000
Creditor’s Balance 1.1.98 37,000
Credit purchase 30.06.1998 9,000
Credit Sales @ 19,600
Cash purchase © 1,000
Cash sales @ 1,500
Return inwards 1,750
Return outwards 1,200
Bad debts 900
B/P accepted 3,000
B/R received 6,000
Discount allowed by them 650
Discount allowed to customers 550

LNebTauIHLD &56160&HEMEIT STEIT(D 6)LDMSS HLETTTa ST &/ SWIMi&s.

o1B

1.1.98-6b sLevimerilg6i 32,000

sLevt GBI 37,000
30.6.98-60

SL6IT E\SIT6ITLPS6D 9,000

&Le6t1 eflHLIEmeEDT 19,600

C\ITTE:S C\GTETAPSE0 1,000

s efhLIenesT 1,500

2 6T HrpLILILD 1,750

eeuerfl HepLiLd 1,200

QIS &L 60T 9200
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OFSgIeSHSTW wrhn F-G

eUMHDG!

augefh@w ombmiss G
S6TEBLIQ [HLDES GULDIBIBUIG
QUTQSHEMSILINATIHEHS Nerll5s SemEpLIQ

Or

b.  State the advantages of self balancing ledger.

3,000
6,000
650

550

SnGeur &flaLigs S\ameTEnLD CLGTBS6r6i HetTenLb&6iT sfeurfl.

14.a.  Fromthe following details find out the Credit sales.

Bills receivable 1.1.98
Debtors

B/R encashed during 98
cash received from.Dr’s
Bad debts

Return Inwards

B/R dishonoured

B/R 31.12.98

Debtors 31.12.98

Rs.
7,250

22,500
15,000
18,000
300
500
1,500
6,800
17,000

LN6tT6U(HLD & &HEUEOSHEN6ITE E\BHTETT(B SL6IT 6MMHLIEHETTEHIL S600TSS B8 :

6. o, &6 1.1.98

sLevterflae6r

6. . &6 pLLIumesr® 98

sLenmeflserfILLOBHHE \IM&SLD QUDDE

CUTTESHL 60T

(W)

7,250

22,500

15,000
18,000

300
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2 6T HrpLILILD 500

6\, 1om. & mISSLILLLE) 1,500

6. om. & 31.12.98 6,800

sLevmerflaer 31.12.98 17,000
Or

b.  What are the demerits of Single entry System ?
RDemD LIHe)] PemDUN6d GeDDLITBS6IT WiTeme ?

15.a. Afire occurred on 15th March 95 in the premises of a company,.
From the following find out the amount of ¢laim to be lodged in
case of the loss of stock which was insured

Rs.
Stock 1.1.95 2,50,000
Purchase from 1.1.95t015.3.95 10,00,000
Wages 2,00,000
Manufacturing expenses 1,00,000
Sales from1.1.95to 15.3.95 15,00,000

The gross profittatio is 15 %. The stock salvaged was
Rs.50,000. The insurance policy was for Rs.2,00,000.

Qb s6ellufletr auenssHed 1995 & 15 b C58 eLLLGI.

efhLeneLTaNg srsdenen sTULNG O\FuigieTeng) SMLISE Ganged Geuetor@LD.
erh.
Fr&dmUY 1.1.95 2,50,000

Q\EMETAPSH6D 1.1.95 (&6 15.3.95 10,00,000
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a6 2,00,000
2_HLISSHSSHTETT E\F6)S:6iT 1,00,000

sflhLiement 1.1.95 Wpsed 15.3.95 15,00,000
6IWNss @eomLid 15% & elusPed CFLISGE epausSLILIL FIsdetT DSLIL
. 50,000. &M @S O\5Tems eb. 2,00,000.
Or
b. Explian: a Average clause
b.  Indemnity period

c.  Consequential loss.

o

Short sales.

6feT&&LD &[Hs : gnna s1g6g)

FLBMIES STeOLD

& efluggmed e mLL sMIIG

&6 eflhLIemet

PART - C (3x10=30)
Answer ‘any THREE Questions

16. The due dates for the payment of certain amounts are as
follows,

Jan 1 Rs.4000 due feb 4
Feb 4 Rs.5000 due Apr 7
Apr. 1 Rs.8000 due May 4
May 10  Rs.7000 due June 13
May 17  Rs.10000 due June 20

Suggest a date on which all the amount may be paid without any
loss of interest to either party assuming that the year of transactions
is a leap year.
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17.

ueoGaum) Cadaerleo ey ss Geustmowl O\HMems LIDMIW! efleurid &G
SIULLGETOT6T. O1ETBSHBLILILL U(BLLD 6011 UIBLLD 616018 E\SHTETTB 6T6U(HEES
auLIQ B L LTI 61560158 Geustorigl SOTE Se6u6neuor [HTewers: &6vur® LILQ :

evreurf] 1 e5.4000 apditey mreir 1Nigeurii4

Niyeurfl 4 5.5000 apdirey mreT grlimed 7

LDITIT& 1 e.8000 apditey mreir Go 4
gLiged 10 e5.7000 wéivey mrsir ezseor. 13
Gw 17  e.10000 wpdivey mreir gzfetr 20

Mr. Saamy consigned 100 cycles costing Rs.1500 each to

Mr. Raja. He incurred an expenses of' Rs.2000 for sending the
consignment. During consignment transit, 5 cycles were damaged
and a claim of Rs.7000 was received from the insurance
company. Mr.Raja took possession of the remaining cycles and
out of them, sold 80 cycles at Rs.2000 each. He incurred a direct
expenditure of Rs.3800 and on Indirect expenditure of Rs.1500 as
the consignment. He is allowed a commission of

5 % on gross sales.

Prepare consignment a/c and consignee a/c in the
books if consignor.

B® Fmol eretruei, AHeWLITB Wewpuled S TR ET6TLOIBHSS
QEIOIMETMID oF. 1,500 SiL&s6leneouleo 100 enssdet Sayilifleormi.
SNEFTEHBMET- AL FMUS QFUIS CIDSS 615606y eih. 2,000. BewLuled 5
FSHH6IT LIPS HewLBG! 6L 60T INBHS SHTLIIB HLp&HSBe0NBbSI [HeigL FLTS
eb. 7,000 aupliL@smgl. 58 Frédenen OLMIBT OUDNIS O\&HTewT®
Dleweuserileo 80 enaadBeTaeme erh. 2,000 6figib sflHLEneT OFUISTIT. OLIMBIT
B85 FI16G5HEH5G GhflewLwing ¢p. 3,800, WMMHUPSHE CFWIEONS
¢h. 1,500 LD O\&TBSFIeTereii. SHau[HSHS 61Dnss efbLemenuied 5% sifle)
SIULLLE|. HQILBT aTBSH6rfed HHeIB DHMID EWIMIBIT SHETTEHESHEDET

SWITIT O\FUIS.
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18. S.M & Co. keep bought and sold ledgers on self balancing
prinicples. From the following prepare necessary adjustment
accounts in these two ledgers for the year 1999.

Rs.
Sundry debtors on 1.1.99 6,200
Acceptances given 4,000
Sundry creditorson 1.1.99 2,500
Return outwards 250
Credit purchases 10,300
Cash received from debtors 7,800
Dr’s acceptances dishonoured 500
Discount allowed 100
Credit sales 13,400
Bad debts 200
Return inwards 300
Creditors on 31.12.99 1,050

eT61 67LD. [Bmieu6nTLD HMGeT EFMSHLBLD WemDUTED HETTHGSSHET EDOUSSI6TENTE.
6 eTLpaev eflhLIemen CLIGHL 1e6d 1999-1D JhetoTieNE GoHemeulLiTent FiflaL BLD

SHETEGSHEM6IT S\LIMTHISSHELD.

erb.
sLevmmerflseT 6,200
LGS 2,500
SL6IT E\SIT6ITLPS6D 10,300
&Le6t1 eflHLIEmeDT 13,400
sLemerfuiLLSIBES QLD EOIT&SLD 7,800
2 6T HrpLILILD 300

Gleuerll SpLILID 250
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sLedHGHMT 31.12.99 1,050
SemepLIe Saflssg 100
CUITTEHSHL 60T 200
SIDMIS E\SHITEHITL. ©_6TITIQUIEDSHEWENT
3 GETES 4,000
SLevTrerflS6iT 2_6ToTIQUIDSET
LDNISSLILILLG 500
19. Karthik is a Merchant. He is his books by the single entry

method. His opening capital was Rs.59,200. At the end of the
first year his position was as follows.

Rs.

Cash in hand 2100
Cash in bank 27500
Stock 31500
Debtors 21850
Prepaid insurance 200
Furniture 5450
Machinery 4750
Creditors 20000
Bills payable 5200

Other transactions:

Goods taken for personal use by the proprietor
Rs.1500, Drawings by the proprietor Rs.2000. Further capital
intrduced Rs.10000. Ascertained the profit.
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20.

SIS eI eueTvilaT H6vTg [BMICIETTSESE0 RMHEMD L6 LpemmemIL
NeTLIHMISONT. SQUTSI OSTLES (LPSEV eb. 59,250. (Pps6d eudbL SniSudled
Slaurg) [Beneo LetTaurnHIDmm) :

eI
emaUIHLIL E\TS&LID 2,100
arkiBulpLIY OIT&eLD 27,500
sLevmmerflsei 21,850
Fr&&mLUIY 31,500
we OFaySHw STLITE 200
SIEDMSHE0EITSH6IT 5,450
TBSTRIG6T 4,750
sLest GBI 20,000

6156155 GeueToTioul 2_6ToTieUIe0deT +5,200
I BLONRSEDSSET (WpSevTer O\FMHS 2-LIGWNSSSNE 61BSS SIS b.
1,500 QI&&LD er. 2,000 FaBs60:(WP&6d SLLF) ¢h. 10,000 SeorLISms
5600155 ([B.
A fire occurred on 15th September 1999 in the business

premises. From the following figures ascertain the claim to be
lodged.

Rs.
Stock on 1st April 99 108300
Purchase from 1st April to the date
offire 350000
Manufacturing expenses 260000

Sales from 1st April to the date of fire 676000
Goods used by the partners privately
(Cost) 20500
The rate of gross profit is 30 % on cost

The stock slavaged is Rs.36,000
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1999 Q\FLILIbLIT 15 Sietin) euetolls eueasHenist & efiLISE) Q6T

BaDHSGI. SLDHEWIL E\STENSHED6IT E\SHT6trT® GaHT Govswrioul SHLILIS

B TENSHEMIL H6T0TSHBBS.

Frsdmly  1.4.99

E\BITENTLPS 6D ETLIT6D 1(LPS60 6ALIGE)

[BIT6IT GUEDT

2_MLISS 615606 SH6IT

efihLIEnesT TLIT6D 1 (60 6lLiG g

[BIT6IT 6UEDIT

ol LTefl&erT ShigEnae\sHeorLl
LWeTLIBSSW FT&HESSH6IT

61DITE5 6oLl 6flBS1D JiLSaeflemeoudled 30%

FISEBLIY SMUILITDHOLILIL )

kkok

13

erp.

1,08,300

3,50,000

2,60,000

6,76,000

20,500

36,000.
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U.G. DEGREE EXAMINATION, APRIL 2010
Commerce - Allied
COST ACCOUNTS -1
(CBCS /2008 Onwards)

Time - 3 Hours Maximum : 75 Marks

PART-A (10x2=20)
Answer All questions

1. What is meant by Cost Accounting ?

SILES HEVTEHBLIEO 6T60TITED 6T6TTE0T ?

2. Mention any five expenses shown in financial accounts only.
B8 sevrédiLiedled Lo BLD &ML LG TGS &g 615606 SHemert
SOINGBS.

3. What is continuous stock taking ?

QBLITBemed FfLIMITLIL| 6T6dTMIT6D 6T6tT6NT ?

4. Mention any four merits of stock level

&I&HGLDLLSIE e1ST6US)| BT6ITE [HETENLDSHENOT Sarl)is.

5. What s purchase requesition form ?

C\ETEMLPS6D BEU6TIT(BS6D LIQAULD 6TETTINITED 6T60T60T 2

6. What is incentive ?

D61 8,856\ T6NE 6TETTMITEV 6T65TENT 2



10.

11.a.

What is labour turnover ?

G\SMLOI6OITEITIT 6T6U0T600115618 LDTMHMLD 6T63TMITED 6T65T60T ?
%

What is meant by fixed over heads ?

IBEmEOILITETT 61606 ETEITMITED 6T65TERT 2

What is under absorption of over heads ?

GLohegeveflstt Gemm LEIL| eT63TMITED 6T6bT6RT 2

Write the formula for Merrick wage payment
G\iTifl&E60T FLDLIOTLD S6TTSSLLILIBLD &:5SI5608 6T(LDE)IsS.

PART -B (5x5=25)
Answer All Questionseither (a) or (b)
What are the differences between cost accounts and financial
accounts ?
SILES SHenTsSed DHMILD BHGs6mwI5HII0E6E BenL G _sitar Gaun)

LIT@&SIT Wimemey ?

Or

Opening raw material Rs.2,000, purchases Rs.10,000; Closing
balance Rs.6,000; Wages Rs.9,000; Factory cost 50% of wages.
Administrative cost 20% of Factory cost. Selling expenses 10%
of works cost. Calculate the sale price assuming 10% of cost as
profit.

BEOLNHBET O\STLES BLIL eh. 2,000 ; O\&T6Tps6D eh. 10,000 ; Bmid
Sl eh. 6,000 ; a6l ¢b. 9,000 ; OFMAHEnL & O\Fe06 s6lT saedlufed
50% ; [Brieuns:s 65606 OSMAMHIaLE QFeveyserfled 20% ; efihLieneors
615606 OIFMID Sal & O1Feaserled 10% , HL&a6Mlemeouled 10%

Be0NLIDTS:S 8 (hS) 6MemevenLIs: SH6mTS:BBS.
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12.a. Whatis EO Q ? How is it calculated ?
SSHHE DLEWETT D66 ETEITMITED ETEITEN ? H&| ITRIMBIENLD SHetoredLLI
uGSmg ?
Or

b. Calculate the earning of workers A and B under Taylor’s
differentials price rate systems.Normal rate P.L is Rs.1.80
Standard time per unit : 20 seconds. 80% of pricerateto below
standard 120% of price rate to standard and above standard. A
produces 1,300 units and B completes 1,500 units per day.

A pmib B @euirserietr 2o Bu 16608 6L Wie0fT6iw LOTMILIBLD ©_(BLILIRE F62.60]
Wpempuled sevorsHBsS.

& Lpewofl GrIs: a6l ¢, 1.80.

SioresllsalLLL G : 2 (BLILIQ Q6TMiS& 20 efBiedeT 80% 2_(BLILIYS
&a60 SioneflsaliLLL Coalenensd 6L AFUISAITHEHSHSLD 120% 2_[BLILIYS
ga6ll SineflssliurL GaemensED. 5NHES GLAID OFUISaITEEHESESD
FIEITLII E\EMTETENa. Qb HIewaTsE A OFg 2 mlLessT 1,300. B asls
© (mLILIeS6T 1,500.

13.a. What are the advantages and disadvantages of simple average
price method ?

sevfl gnnel eflewed LPeHDUT6IT [BEITENLD SHEMLDSEIT LMY ?

Or
b. Januaryl Opening Balance 500 Units @ Rs.4.00
January5 Purchases 200 Units @ Rs.4.25
January 12 Purchases 150 Units @ Rs.4.10
January 20 Purchases 300 Units @ Rs.4.50
January 25 Purchases 400 Units @ Rs.4.00
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Details of issues in units; January 4 - 200; January 10 - 400;
January 15 - 100; January 19 - 100; January 25 - 200; January
30 -250

Prepare stores ledger under LIFO method.

LietoTL &&memed GLIGTL 65T ILIMLILILL emeu LiSSufled 2_siterr sfleunid

gzeureurf] 1 OBMLES SMBLLY 500 SHeoGS6iT Q6i1m) ¢b. 4.00 6fi51D
mevteufl 5 O\BT6MLPSHE0 200 Sieo@s6iT Q6im| 4.25 6figLd
gevieul 12 O\&T6EMTLPSHE0 150 SHe0S&H6IT Q6d1) eb. 4.10 sfizd
gevteufl 20  O\BT6MLPSHE0 300 Sieo@seT 60T . 4.50 6fiLd
mevteufl 25  O\BT6MLPSHE0 400 SIo@6iT Q601 ¢b. 4.00 6figLd

QUDTRISLILILL. He0G 6T efleurid : ggevtefl 4 - 200 ; ggevreurfl 10 - 400 ;
zeurefl 15 - 100 ; gevraurfl 19 - 100, ; Bevaufl 25 - 200 ; gevraufl 3 - 250 ;

LietoTL &&memeoLl GLGTL emL LI63T 6ubG) (Lp6iT E1F6OYILD (Lpe»MUTEDd Sulmiflgs.

14.a.  Explain any four methods of calculating incentive to workers.
OBMAEOMENTTEHS 2&HHSE1BMENSHENIL HET0TSHEB NFUILLD TCHEILD [BT6iTS

pemmaenerT efleulss.

Or

b. From the following data, calculate Labour Turnover ratio under
replacement method and separating method.

At the beginnings of the month 500nos. At the end ofthe
month 600nos. During the month 5 labours left and 20
people discharged. But 75 people recruited and 10 of
these replaced in the vacancies and the remaining in the
expansion scheme.

&1 euHLd sMeunThiser el BbE! S\GMLHeOT6T Spha 6188618 LDMIEOMEUTLDIThHS
wenpulsyb 19fibg OFedeyId 6l wWepmuleyId SeToTESBS.
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DISS OSTLE&ESSSNEHSESNT 500. s wieelledmnEsnT 600. Sibs

5SS 5 Q\gmpleonariser QeuefiGWIeTT. 20 SpL &6 HEDILILILILILL 6BTIT .

SpETITED 75 SpL 61T Geuemeoued SHDAGSLI LILL6vtT. Geuiaserfled 10 Dbl g6l

sedlwiment S muserfigy|d opmeurseT sfifleunsas S L sShare QL rhiserfleyLd

SILDITSSLILIL L 6BTIT.

15.a.

Explain the following over absorption vs. under absorption
overheads.
efleurllsa : Gome\Fevsfett 2 wirT L1 Ly LoHMILD Gewm LELL.

Or
Late in 1982, a company set up a factory overhead absorption
ratio of 84 percent of direct labour cost based on the following
budget.

Factory overhead costs - Rs.75,600
Direct labour hours - 60,000
Labour rate per hour - Rs.1.50
Direct labour cost - Rs.90,000

Early in 1983, the method of operations was changed. The
new operations required labour that will be paid at Rs.1.75 per
hour, the operating time would be reduced by 20 percent.

What steps should be taken by the company’s cost accountant
to meet the situation ? Give the necessary calculations also.

1982-6b au(BL BMIBuTNed @h BHILDLD OSTHDETENE EIFUIEOTEMLD FiT&hESLD
6fld51D 84% Corie 2_MLISS saedlulled Ledr auBLOMM) [BiswnuLD OFUISE.

eI
2_HLSS O1FWIOEmLDLIL| 1606 75,600
GBI  emLpLiL| Lisvoflgelt 60,000
@b 2 1L eflBsLD emnflled B 1.50
GBI _6mLpLiL 90,000.
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1983 60 aU(BL SHIDLISHED 2_MLISH pewmufled LDAMHDLD erHLILL &I LSl
pemMUTESTLIR ©_6mLpLIL| LD6TUll&ES eb. 1.75 eTeiimiLd GLDEYILD E\&WwieoLIm® GBILD
20% GODSHEBLILLLG).

SILES6AILED HETTHSITEIIT 61651 (LPEDMUTED ETEITEDT [HLEUIQSHEDSHEEIT 61([B &S

GeU6TITBLD ? HSDEHTET HE0THEBHENET S([HS.

PART-C (3x10=30)
Answer any Three Questions

16. The following particulars relate to the manufacture of a standard
product during the month of April, 1995 :

Raw materials consumed Rs.20,000

Direct Wages Rs.18,000

Machine hours used 3,000 hrs

Machine hours rate Rs.2 per hour
Office on cost 10% of works cost
Selling on Cost Rs.2.50 per unit
Total Units produced 5000 units

Total Units sold 4600 units
Selling.Price Rs.30 per unit

From the‘above, prepare a cost sheet showing cost per unit and
total profit for the period.

1995 ‘gLiev Lg58e0 @b STLILGSSLILILL OILIMBET 2_HLISSE S Teut
eflupraise £GLp SILILIB6iTerT6wT.

erb.

SE&ML QIIMBLEST LWISTLIGSSWIS) 20,000
GrBies: Fa6dl 18,000
8w Wewofl GBI LWETUGSSWS 3,0001peusfls6iT
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17.

BuwbSr 6wl GBILD SHL&ED ¢h. 2.00

QOBMADHEFTENEO HLSBH5H60 HEYIE1608 61F606Y 10 #56lizLD
eflHLIEDETT 61F606) (I EILIMIBHEHHS eb. 2.50
6\1D5S 2_HLSS 5000 Sieo@ss6iT
efihLiemenT QFUWIWILILILL ) 4,600 SleoGs6IT
eflhLieneor 6flemed eb. 30 A0S
PEOIDS

G Fanlweneuserlledlpbg @b aLMherflen (D) L &SLID-(DY) CILDNsS

6OITLILD S} BiemeudsenerT QaueiILIBSSHID DL S&66emeD LILLIQUI6d SWIMT&Se]LD.

From the following data, prepare a statement showing the cost

per man day of eight hours.

)] Basic salary Rs.300 p.m

(i) Dearness Allowance Rs.60 p.m

(ii1) Leave salary 6% ofbasic and DA.

(v)  Employees contribution to provident fund 6% of (i), (ii)
and (iii) above.

V) Employees contribution to P.F - 6 % of (i), (ii) and (iii)
above.

(vi)  Numberofworking hours in a month - 200hrs.

&1 sngwb Leiterfl flLinmuserfleSlpbgl. LDevfls mBeit DL eflenevemiul, it

RETMN|6S 8 L6l GBI SliplienLuled &6TeHSBS:.

(D)

(i)
(i)
()

SHigLILIeML FLDLIENLD efh. 300 LDSLD RETTMISHS

LIgb&LILIIQ eh. 60 LDMSLD RETMISHE

6B PsmM FLDLIGLD - 6% AiQLILIEWL FLDLIOTLD LDHMILD LiEhFLILIQ
emPleorert GaLomev B 2_Menowimemt Siefliiy 6% (1) + (ii)
+ (iil) sa@s6de0.
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18.

V)

+ (iil) sa@s6de0.

(Vi)

April 1997 Particulars Units
(inKgs)
1 Balance B/F 300
2 Purchased 200
4 Issued 150
6 Purchased 200
11 Issued 150
19 Issued 200
22 Purchased 200
27 Issued 250

a\gmpleomert G&Lomeo BE&e e\gmpleonert efliliy 6% (1) + (ii)

Geuemed GBILD LDTSLD @6TMISE 200 LDevoflselt

Show the stores ledger entries on they would appear when
using weighted average method.

Value
(inRs.)
600
440

Sipuih seoiL aFuidseaflelldmns WSICUDPLIULL Frrsf efened

wpenpuilgyb 6NNIBUM  (peDUNEYD LT Mi&eT CUBTLBS HETHGSS

SwimfléaseyLd :

1997 gLimev

Y

o » DN

22

27

8oy
C\BT6ITLPEHE0
OINALC)
E\BIT6ITLPEHE0
TN ALC)
TN ALC)
E\BIT6ITLPEHE0

TN ALC)

300 &Geom
200 $Geom
150 £Geom

200 $Geom
150 £Geom

200 $Geom
200 $Geom

250 $HGeor

D&
LY N

D&

D&

600

440

460

480
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19.  From the following information, prepare a labour cost statement
showing the cost per day of 8 hours.

(1  Monthly salary Rs.200
(i) Leavesalary 5% of (i)
(i) Employers contribution to P.F. - 8 % of (i) +(ii)

(v) Employers contribution to state insurance 2.5 % of

(1) + ().

(v)  prorata expenditure on amehities.to workers Rs.17.95

per head (per month ).

(vi)  Number of working hourin a month 200 ( 8 hrs. per day)
Wetreugpid efluprusefledlpbs @b B saed (8 wewfl GhILD)
ET6ITEUTE6U6ITLIEN S8 ST BLD (H AN SHen&HEmILS SUIMTlgELD.

(1) LDM&E &LDW6MLD er. 200

(i) ABLILSSE0 FLbLIELD - 61 861D (1)-66T GLoed

(i) Aeseor GaLILIL BEse uelwefiueufer smban 8 56l (1) +
(i) eo

(v) Sipg: SMUILNIS smissShHe usmiulefilueuflel b - 2 1/2
gseligb (1) + (ii) eo

v) Ll wmeTT&@Eh&HES QUPHISLILEGL IFSsEh&HMS BLUHESS
¢rh. 17.95 ((bnsld)

(V)  omg Geuemed GHILD - 2.00 wewfl (@ HreneTs:d 8 e 6isLD)
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20. A manufacturing company consists of 2 production departments
namely P and Q and three service departments in the name of
R, Sand T. The details of expenses and other  information as
follows:

P P R S T

1 2
(Time
keeping) (Stores) (Maintenance)
Expenses in Rs. 10,000 10,000 4,000 5,000 3,000
Employee no. 40 30 -- 20 10

No. of Stores requisi-
tions 24 20 - - )

Machine Hours 2,400 1,600 = - -

Prepare secondary distribution statement under step distribution
method.

G 2_HusS Bmieuesd Breior® 2 musd fleysener P wpmib Q eretrm
ewwfieyib peitm) Geeweuls Afleysewen P wmmib Q eretrm ewiwifiggid ewpesm)
Geemeult Lfleyswer R, S wpmib T ereirm ewuwfegib a\smesor@eieng). SLi
ArfleyserfletT QiFeveLD DHM NLINTRISEBLD LN6sTOHLDMD) :

P P R S T
(Cmmb  (uetorLs)
G&M&ze0) smemen) (Lgmoiigesed )
aeeosyset . 10,000 10,000 4,000 5,000 3,000

e\ mdleomert

eT6u0T6001 55608 40 30 -- 20 10
LI6GOTL.85 FITEMED eb.

aurbs GaLL

LIQEUMRIGET 24 20 -- -- 6
Suwdr Gemd 2,400 1,600 -- -- --

LD6vof] LD6vof]
BevorLmb [Bewev efifleuna:asend Lig (Lpemmuled GUIMT C1FUIS.

skkok
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AF-1714 BCO A4

UG. DEGREE EXAMINATION, APRIL 2010
COMMERCE - ALLIED
Cost Accounting - 11

(CBCS /2008 Onwards)
Duration : 3 Hours Maximum.: 75 marks
PART-A (10x2=20)
Answer ALL Questions
What is budget ?

SLLLOIL 6D eT6dTMIT6D 6T6dTEDT ?

Waht is cash budget ?

BES S LLBIL 6 eT65TMIT6L 6T6DTERT ?

What is job costing ?

LI6D0T DL &:368UW6D 6T63TMIT6L 6T6dT60T ?

What is work certified ?

gnetimeflaalILLLL Geusmev 616TTMITED 6T6dT6r 2

What is normal loss ?

FMGMIT600T [HLLLD 6T63TMIT6D 6T60T6uT 2

Explain : Abnormal gain.
efleurll : HLfiLSls HLLLD.

What is Breakeven sales ?

gBemeoL LieiTerfl eflDLIEmEDT 6T65TMDIT6D 6T6tTERT 2



10.

11.a.

Define : By products.

SI6WEMTLI LITIHLS6IT - UeHIIM).

What are joint products ?

BMEUTLIOLINHEIT 6TEITMITED ETE0TE0T 2

What is flexible budget ?

6BALDEY SL'L LSIL 6D 6TE3TMITED 6T6dTEDT ?

PART - B (5x5=25)
Answer ALL Questions
What are types of budgets ?

SLLLOIL 6065T 6U6HSHS6IT WiMTeme ?

Or

Prepare a flexible budget, When the production is 7000 units
present production 8000 units.

Cost Data Per unit
Material Rs.100
Labour Rs.50
Works overhead Rs.30 (50% fixed)
Office overhead Rs.20 (40% variable)
Selling overhead Rs.10 (50% fixed)

aBSipa) SILLD 7,000 Sieodh& SwifléseaLb.
SHBUMMFW 2_DLIGH - 8OO0 SHEOGSHS6IT

DIL&s6fened &b (Do PHTHIHE)
ELPEOLIGLIT(H6IT 100
&660] 50
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2_huss Goheseve; 30 B0% Bemeowimens)
Sieye1608 GLDMHE\F6V6) 20 (40% LmmILD)
sflpLsment QbHAFeve] 10 0% [Bemeowlnens)
12.a.  How to calculate the profit on incomplete contracts.

WplgsY QLD RLILIBSSHSMES EOIMLILD eT6)euTm)| S6vorédL LILIBLD ?

Or
b. An analysis of the previous year’s profit and loss account of a
firm shows as follows:
Materials Rs.35,000
Direct Wages:
Department I Rs.5,000
Department 11 Rs.6,000
Department I1I Rs.4,000
Factory Overheads:
Department I Rs.5,000
Department I Rs.3,000
Department 1l Rs.3,000

Selling and distribution overheads Rs.12,200

Onthe basis of the previous years’ figures, prepare a
job cost'sheet for a job that has the following costs.

Materials Rs.24, Direct wages 20 hours at Rs.1.00 per hour -
Rs.20. Department I - 10 hours; Department II - 6 hours;
Department I1I - 4 hours. Add to the total job cost 10% for
profit.
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@@ BMIDSB6T OF6ID QUL 60MU BLLES SHewTHGS&H6T L6l 6lhHLD

LTRSS ED6T STt IGSm ).

GIMIHETEH6IT 35,000

Grples:5a60 :
gleop | 5,000
gleop [1 6,000
gleop [11 4,000
QBMHDFTENED S\FIIEOEMLDLIL| E1FE06 6T ©
geop | 5,000
geop 1l 3,000

geop I 3,000

6fiHLIEMEBT LDHMILD CULPIKIGSED E\FIIEVEWIDLIL| 1F606S61T e, 12,200.

S HTEID L& efleneowjeen @b Lewllse 61F6im aubL eflnmigeT
SipliienL U6 Liswoll HL &a6Mlement LILIQUIED SWIMT E1FUIS.
QWINABLSET oh 24 CrbiTies: da6dl : 20 LD6wfl - LD6ewA &S erb. 1615LD emh. 20. FiewD
I - 10 wewf ; giewm 11 - 6 wewfl giemm 111 - 4 wewf.
OMLSSNS EWDMES Listoll Sia:aeflensouied 10% Fal'lgs O\&T6Ts.

13.a. What is meant by.serap ? How is it treated in process a/c’s ?

&L0le) eTETTMITED ET6DTE0T? LILPEmME6IT SLl6Y eTeuauND) SH60uTSHSLLILIGSDS ?

Or

b. From thefollowing; prepare process account.
Units introduced 5,000
Cost of units introduced (Rs.) 40,000
Materials (Rs.) 20,000
Wages (Rs.) 4,000
Production overheads (Rs.) 600
Normal loss 10 %
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14.a.

Actual production 4300 units

Wastage is sold at Rs.2.00 per unit.
&L HETuTLeUDNMNEOIHBS LIQLPEDMD SHETTEG SUIMT E1FUIS.

o1B
SINWPSILGSSLILIL L H6OGSSH6IT 5,000
Di6U6UOGH6TI60T DL 58616060 40,000
SFFML OWINIHLEET 20,000
a6 4,000
2_husd Goh E\F6e0e) 6T 600
&MSMT6v0T L LLD 10%

2_6u0TemLDWLINTGDT ©_DLIGE 4,300 He0GS6iT
L1 OWIMBLEEIT eTh. 2, (IH DH60G&S 616t ADSLILIBBMDS).
What are the merits and demerits of breakeven analysis ?

FBriysiterfl LGLILMLIEN6DT [BEITENLD SEHLDSEIT WiTemeu ?

Or
From the following; find out
)] Breakeven point
(i) P /'V Ratio
(ii1) Margin of safety
Sales Rs.5,00,000
Variablecost Rs.3,50,000
Fixed cost Rs.50,000
£108 semLaubBledmrbg) Seubileness: sewrLls.
(1) srfBemeots yeiterl
(i) P/ V efigsid
(i) ungysmiy efefitby
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eflhLiemest 5,00,000
INILGLD SiLsseilened 3,50,000
1BemeoiLIneT SHL&sefllemed 50,000

15.a.  Explain any four methods of treating joint cost among joint
products.

BMeES HL&&6eneveniL GemewTLl OILIMIBL &6 sSuiled Lflé@Lb
TGHEILD [BITETTS (LPEDDEHEWENT 6165 ES.

Or
b. From the following information find out the profit made by each
product apportioning the joint cost on sales basis:
Joint Cost Rs.
Direct material 1,26,000
Labour 25,000
Oil 5,000
Direct expenses 7,500
Other overheads 4,100
Product X (Rs.) Product Y (Rs.)
Selling Cost 20000 80000
Sales 1,52,000 1,68,000

Sipsneb O1FUILUTNHHE) Leueieunh OLIMHENQID HewLES COTLISMSS
SeTs:,. BeneIHd 6\Feveilenest efbLiemen SlUiLIenLUTed LISTe] OFIS.

BemeunTs 61F606) elp.

GBI ELPEOLISLITIHET 1,26,000
&6l 25,000
6160076 600TLL 5,000
GBI 615606 S6iT 7,500
LM GLOHE\FE0EYSHEIT 4,100
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X (em.) Y (em.)

sflbuement 1g606y 20,000 80,000
efibLieneoT 1,52,000 1,68,000
PART-C (3x10=30)

Answer Any THREE Questions
All Questions Carry Equal Marks

16.  Fromthe following, prepare production budget for the three
months - July, August and September :

Budgeted Sales (Units)
June 5,400
July 5,800
August 6,500
September: 7,000
October 8,000

Finished units equal to halfthe sales for the next month will be
stock at the end of each month.

&1p6 setuTLeuDMIeNBbE) E2°6We0, Sp&6ivL. LDHMILD OFLILLDLIT bW
eLpedTm) oG kg6l 2onLIGH 1&FuwIed S LLD Q6dTIemetd SWITT O\FUIS :

SrLo’L efibLiemest (Sl sailed)

e6tr 5,400
22%6me0 5,800
OpFeivL 6,500
e\FLIL oL 7,000
Si&GLUIT 8,000

wplgsY SILIDHM DH60GSH6T HBSS LDNGSH6tT sfhLIemetTUN6d LTSS FLOLDNS
2_siterm 15186 REURGUM(H LDMTSSH60T BMIBHUN60 FTSSBLILITE SHEBLDLD.
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17.

18.

Utkkal Construction Limited took a contract in 1997 for road
construction. The contract price was Rs.10,00,000 and it is
estimated that the cost of completion would be Rs.9,20,000.

At the end 0f 1997, the company has received Rs.3,60,000,
representing 90 % of work certified. Work not yet certified had
cost Rs.10,000

Expenditure incurred on the contract during 1997 was
as follows:

Materials Rs.50,000; Labour Rs.3,00,000; Plant
Rs.20,000;

Materials costing RS.5,000 were damaged and had to
be disposed for Rs.1,000. Plant is considered as having
depreciated by 25 %.

Prepare contract account for.1997 in the books of
Utkkal Construction Ltd.

2 5860 &H6iT6vLI&665 [BmieuesiiD 1997-60 Grm® CUTGaISDHS R(b

RULIBHFLD TBSSEI. RLILIHG 6flewev.e:.10,00,000. SGHEHETT (LPldd Db@GLD
SIL&S eflewed ah. 9,20,000. 6T60r IHTUMTSSLILLLE. 1997 @miSuled
1BmieuestLD ¢rh. 3,60,000 SILIHMIS E\ST6TuTLg)l. B8 FTettpeiisaLiLLL Liswfluied
90 55655LD Sp@LD. FTEIIMEMNSHILILTE Liswof] eb. 10,000 L& 6£l6060WIT6g)
1997-1D 6(BL &B60 LN6TTEUHLD 61F606)SHEIT 61F606T6sIF) EILITIBLS6IT efb. 50,000.
8660 ¢rp. 3,00,000.6\LIMNS6060T eh. 20,000.

e. 5,000 L &:3:6H6me0I6TOT EILITIBL &6 GFSLDTEUTE. HLIOITIHLEEMENT eTh.
1000 &@ 6fliha Geuetorieuismuimbm).

QILIMN)&6060T:25% GSUILDMEIID SHevTHI. 2 5660 SH6iTevl T&H560T eTBaHerled

1997-1b QU(bL RLILIBS SHETTEHEDES SWITIT O1FUIS.

In a factory, the product passes through two processes , A and
B. Aloss of 5 % is allowed in process A and 2 % in process
B, nothing being realised by disposal of wastage.
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During April 1998, 10,000 units of material costing
Rs.6 per unit were introduced in process A. The other costs
are as follows:

Process A Process B
Materials (Rs.) --- 6,140
Labour (Rs.) 10,000 6,000
Overheads (Rs.) 6,000 4,600
Output (in units) 9,300 9,200

Prepare process accounts and also abnormal loss account and

abnormal gain a/c.

O OemPbememeouied R OunmsT A, B e6tim @reior® Beweosemen
sL&d6merT. Lpwenm A-60 5%-b, Liwedn B-6 2% Gpliyb
SIS HHILGEDGI. Sl OUMGBLsSsT eflhLeneuied SbbHE gD
6eumeilsdemen.
1998-1b eu(BLLD 611760 LDTSSHE0.10,000 HEOSE6IT, D60 ¢b. 6 61FHLD L&
eflemeoweTer OIIMBLS6T LGPedD A-60 GSSSLILLLE). LDDHM 61&F606S6TE

edreuepionm :
uieapemp A Ligapemn B
(em.) (em.)
EWITBL&6IT --- 6,140
&a60) 10,000 6,000
618 WIEOEMLDLIL| 61606 &6 6,000 4,600
2 puss (Dieossee) 9,300 9,200

LIQIPEDD SHEMWISHESHEN6TsS SWITT O\FUIS. GEYID, AH&msnTesr SLpLiL|

&6W15:@& LDDHMILD HEMSMTETIT ShSIMULI SHETTEHEDSHIILD SWIMlSSLD.
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19.

20.

From the following particulars, find out
)] P /V Ratio
(1) Fixed Cost
(ii1) Break - even point
(iv)  Profit when sales are Rs.15,00,00
V) Sales required to earn a profit of Rs.4,00,000

Period Sales (Rs.) Profit (Rs.)
I 8,00,000 1,560,000
I 12,00,000 3,00,000

SipasetorL efleunraisefledlhibg Seubnenes: GerrLs :
(1) P/V el
(ii) Beweownes e\&6v6y
(1i1) soBemen Leiterl
(1v) efihuement em. 15,00,000 Sb& QHEESLEUTE 2_6TaT Seomuib

(V) em. 4,00,000 Geomuib L GgemeuliLIBLD efHLIenest

&T6OLD efipuenes (e5.) Geomud (erm.)
I 8,00,000 1,50,000
I 12,00,000 3,00,000

From a.common process Two joint products A & B come out.
Expenses after separation for A & B are Rs.5 and Rs.8 per unit
respectively. Total expenses in the common process
Rs.1,86,760. Selling prices of A & B are Rs.25 and Rs.38
respectively per unit outputs of A & B are 5000 and 4000 units
respectively. Find out the cost of A & B after completion if
profits on sales is 12 %.
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eungleunest Lipipenpuileo Betor® GemevorLelmmL et A wpmib B
amSDg. Ifsas@salurL W6 ghurL asevey A whmib B &6 o
SieodhG WemMEW erh. 5 HMILD 6. 8 SpBDGI. EIIMTFHIOUTETT E\F6V6)SH6IT
e®. 1,86,760 A wipmib B uleir eflhLismert sfleneo em 25 ohHmiib em. 38
wpDCW Spdmgl. 2 Husd A 5,000, B 4,000 ieogser. wpigey OlLbm
st A opmid B uflstr Sisaefleneveniu smemib Ompg) efbLenemuded

60MLILD 12 F&6HGLD 616018 E\BHIT6ITE.

skkok
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AF-1715 BTMA3

U.G. DEGREE EXAMINATION, APRIL 2010

Tourisum
TRAVEL MANAGEMENT
(CBCS—2008 Onwards)
Duration: 3 Hours Maximum : 75 Marks
Part-A (10 x 2=20)

Answer all Questions

Who isa Travel Agent ?

LILLI6DOT(LP&H6XIT WY ?

Printout any four functions of a travel agency.

Liwlewor (Lp&enLbuilest gGSEnILD et Lisuoflgemerns GMILLALEGS.

What is meant by overseas travel and health insurance ?

GeuerfiB L LwlewTLd HMID 2160 HEVSTLILIE er6iTmed eretrent ?

What are the two.main qualities to be possessed by a travel agent ?

LIWI6TOT (LP&6U[HBS B(HdHa Geuemrioul S SWIoL|EHen6Td: GMLILNBS.

What are the points to be given inatour itinerary.

Liwlevorss GMILIGLIL 1060 O\STBEBLILIL Gevetoriou 6MeTRISEIT WITeme.

Pointout any four criteria for approval of a Travel agency.

LIWLI6TOT (LP&H6LD eIHMISHE\SH6ITONLILIBEUSDETED eTEGSHEVILD HT6ITE BUI6OL|SHEN6TE
SOIINGS.



10.

11 a.

12 a.

What are the differences between the Passport and Visa.

&Ly &6 HMILD Hiewpeys Sl ieh@&Ld 2 emenGaumiLinG wg.

What is meant by Airport Tax ?

efioment [Bemevieurfl eredTmIMED eT6dTEDT ?

Mention any four kinds of Visa.

HIeLP6YE FL 16T TGHEILD [BT6ITS EUEBHBHM6ITS: SMILILIBS

What is the difference between laws of Customs and Immigration ?

&b FLLIRISERGSD GQREWDM FLLMISHEHSHESLD @emLGWijsTer GoumiLinG
wng| ?

Part-B (5%5=25)
Answer all Questions

What are the functions of a travel agent ?
Uwievor (Lpaseuifledt LiewoflaeiT Wwimemeu ?
(Or)

What is the scope-of retailers in Travel Management ?

Lwlesor Shepemtoudled fmy eflwimumflaseflesr Lirkig erettesr ?

Explain briefly the procedure for getting tickets for foreign tour.

QeuefiBI Gl LwewIsSHE& HeDdF 6 OLMIaUSDEHTEN aULALPEPDEEIT
wireme ?

(On)

Examine the provision of Foreign currencies.

SiBBWLIE Q\Feomeuemnil OILMEUSHHETE UL LPEDDEHENET SIS
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13 a. What is the need for planning tours ?

&mhmieor S LLAGSe65T SHeudwid wing ?
(On)

b.  Write anote on the functions of a travel agent.

Lwlesor (paseuriledt Liswoflassit LmN) Amj GMILIL] euemnss.

14 a. Write anote on
a) Passport
b) Customs Rules
c) Visa
S sevorLemey LIHN 6o GMILIL 6u6nIs
) BLYEFSF B
S FHISSSINN EUPLPEDDSET
&) BIEDLPE)| IDIDSFF B
(Qr)

b. Differentiate entry and exit permits.

HIWWD HeDPHSGSLD, Seuafluied OFeoeydD eSS 2 sierm
GeumILIML 1960601 GMILILAL YLD,

15 a. What are the rulesin customs and immigration in India.
Grdwneflayjeiten shiss Sieneu pmib |MMIgration srLiiser wee ?
(Or)

b.  Brieflyexplain the steps in Clearance in airport.

sflionenll GUNSGaITSS0 LMBLEHemer eflibmen BeneowlsSedmbS!
eeuafiGw \&TettT(® U 26T suLdLPemMEET LD & (h&SLDNS 6flernd:&s.
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16.

17.

18.

19.

20.

Part-C (3x10=230)
Answer any three Questions

Write an essay about the origin, scope and role of retail travel agents.
dAmuwietor (paeuiseflest OFM_saLD, HLL&ens MHMID LMkl LD sLGenT
6T(LD&)S.

What are the ways in which travel information is prepared ?

Liwlevor eMILINTRISET eTeuelemas6riled SwimflaasLILIBSeTment ?

Explain the process of planning and costing. oftours.

Liwlesors; SiL LD bHMILD £\FeveySSL L LBE60l6tT uLdlLpemmaeT LD eferné@s.

Write an essay on the travel formalities.

Liwlesorss sLBLI LITB&6T LD &L Bew eTipsis.

Briefly explain the Government regulations in travel management.

&ihmleor GLoevretorenLbuled Simletr &L BLILITBS6T LN Sxh&ELDTS 6MeNTaae|Ld.
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AF-2043 BTMAl

U.G.DEGREE EXAMINATION, APRIL 2010
CBCS
TOURISM -ALLIED
PRINCIPLES OF TOURISM
(2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks

Part-A (10 x 2=20)
Answer ALL Questions. Each answer shall-not exceed 50 words.

1. Whatis Group Tourism ?

S(LDF SHDMI6OIT ETEITDITEL 6T6ITEVT ?
2. What is Educational Tourism ?

&606fl& SDMIEOIT 6TEITMDINED eTedTENT ?

3. State the political significance of tourism.

&hmeonefl6dr SHTSW6d (LPSBISSI6USHMS FoMmIs.

4. State the cultural significance of tourism.

&hmieorefledr LITOTLIML B (LPSHSWLISHGHIEUSEDS SaM)5.



10.

Describe Social Tourism.

FeLpd SHDHMIEOIT - 6M6T&ESLD H([HS.

Define Pleasure Tourism.

S60TL1 Si(DM)60IT - EUEDTUIM)].

What is International Union of official Travel Organization ?
SNSSMILI L} TEULDITEOT LILIETT [BMI6)6tTTRISHENTIE0T Li6tT6uTTL (B H6WLDLIL

6T6BTMITED 6T60TE0T ?

What is American Regional Travelcommission ?

SHGWDlEE 6ULLTLILILIETT <SHEMETTILILD ET63TMITED 6T60T60T 2

State any three functions of Tourism Organization.
&mbmieor [BmieuengPett Liswollserflev er@G5emILD eLpesTnilement
SMLLINGs.

Mentionany six important tourist places in India.
SpPwinsfled 2_6iTerT (PSS SHHMIEOIT 6TuS6e0MmIS6TTI60 TEHEMILD
SpMlemert GHILLIBS.
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Part-B (5x5=25)

Answer All Questions. All questions carry equal marks.

. Write a short note on concepts of Tourism.

ambmjeomefiuliev LD Fm GHILIL| euenTs.

(Or)

. What are the basic components of Tourism ?

&hmeomefledr HiQLILIEDL FoMISEIT UITEDEN ?

. Enumerate the objectivesof Travel Agencies.
LiwlesorLiLIedfl [BmieuetTisefled Cronasmisemer

aflensILBGS S!S

(Or)

. Enumerate the problems faced by the modern tourism.
6656wt SHDHMIEOT ETHIT GBMTSHBUIETET LATEDETTHEWENT

auflensLIGS5815.
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13. a. Narrate the nexus between international relations and tourism.
&DMIEOMEYEGSLD LI6TEOTTL (B 2_Mey&&LD SewL Gl 2_siterr

6\SITLITEWL Sr(H&HSLDINS Fam).

(Or)

b. Discuss the sociological implications of Tourism.

&DMIEOMEHEI SeLps EYSMTLITEMLI SpU1s.

14. a. Briefly discuss the ecological effect of tourism in India.

&DHMIOTENET SDM) G5LP60 HTHSHSHENS F(HHEHLDNS FoNIS.

(Or)

b. Listout the objectives of Tourism Organization.

&hmeor [BIieuenT&H6iT & MmhISHemeT LIL LU 16016 s.
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15.

16.

17.

18.

a. State the process of Tourism Planning.

&ihmieor S L LS 6063T LIQSHED6IT Sal)s.

(Or)

b. State the organizational set up of the TTDC Ltd.
SLOID BTG SHMIEOT CU6NTTES SHLPE:SBET HEWLDLIL| (LPEDDEMUI

6’61@]63.
Part-C (3x10=230)
Answer any Three Questions. All questions carry equal marks.

Discuss the advantages and disadvantages of tourism.

&DMI6OMENEHT HEITEMLD HEDLDSHEWEIT Dp\L 1.

Elucidate the functions of Travel Agencies in tourism development.
smieomefiledt GLDLDLIML" 1960 Liulevor Lievofl [Bmyeevthigerflest

LIriBemest-6061T8:& 8.

Explain the role of tourism in foreign exchange earnings in India.

OBl 6\&eomeusuofl i L65l6d SHmieomefedT LimkiSeneuor 606118 &s.
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19. Discuss the functions of World Tourism Organization.

2_608 SHDHMI6OI [BMIEUEITSHEIT LIGTUTHEmET ShUis.

20. Discuss the functions of Tamil Nadu Tourism Development
Corporation Ltd.
SLOILD BB SHDHMIEOT CUATTES SHLPSSDEIT LIGTo{l&:6merT ShLis.

*k*k
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U.G.DEGREE EXAMINATION, APRIL 2010
CBCS
Tourism - Allied
TOURISM POTENTIAL IN INDIA
(2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks
Part-A (10 x 2 = 20)

Answer All Questions.
Each answer shall not exceed 50 words.

1. Listoutthe reasons for travel.

LIWI6TOTSHSM ST SHMTEI0ThISemeT euflensLBES)s.
2. What do you understand by transit tourists ?

el HhIge0 LiwleoflaerT Ll BeiT Sinfeug) uing) ?

3. State the tourism interest of Thirumalainayakkar.

S[HLDEWED HTLISST60T SHDMIEOM SpITEUSBWETT Fam).

4. State the tourism significance of Jumma Masjid.

22°LDLDIT LD&HUNETT SHDMIEOM (PSHBUISSHIOUSHENS S M)s.



10.

List out the tourism potentials in Rameshwaram.

ITGLD6EUTSS6IT SHHMIEOIT Cu6TThISHEmaT LILIRUISOI®.

State the tourism significance of Andaman and Nicobar Islands.

SibFLOM6T - BSGHTUMT Seyseriledt SHDHMIEOT (LPp&SISZHIOULD 6T6dT6Dr ?

Mention the sports events in tourism potential.

&ihmyeor euenhigefled eflewemu G BapsdlaemerT samis.

State the exhibitions in tourism:

&ibmieomefled sevoraLdl LDl SFamis.

What is Onam festival ?

6D6TDILD LIGTOTL|60S; 6T60TMITED 6T63T60T 2

What doyou understand by trekking ?

LoemeoGIM|E60 LIHM) HefiT Dnfleug; etedrevt ?
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Part-B (5x5=25)

Answer All Questions.

11. a. Enumerate the requirements of potential tourism.

&DMIEOT EUETSHBMHSHTE BHEMEUKHET WITEHEY ?

(Or)

b. State Peter’s factors for tourism.

amjeor euermigdaaen L L TerllsiT snremnfasener samis.

12. a. Briefly discuss the nature of cultural tourism in India.
SpPwinefled ListorLIMLG shmieomefledt GUICOL|SHEDET S(HSSLDNS

Db,

(Or)

b. State the political implications of tourism.

&HMIEOTeN6tT HTHUIEO O\SITLITLISHEDEIT S M),
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13. a. Narrate the characteristics of Science potentials in tourism.
&mhmieornefled Sinlefluled euenrigerflesT UIEOL|HEDETT & ([HESHLDNES

FaMI5.

(Or)

b. List out the advantages of Beach Resorts.

SLMHSEDT SHHDHMIEOMENEIT [HEITEMLDSHEN6IT LIL IQuie0l(B8.

14. a. Discuss the major events of tourism in India.

Srdwnefled sbmieorellesr WSS BHLD6YSEMEIT Db

(Or)

b. Write anote on Boating as tourism potential.

UL geurfl Lbm) fmy GNILIL euemrs.
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15. a. State the problems faced by transit tourists.

6L SIS0 LILIETTS6T eTSTEST6TEHLD LATFENEITSHET WITene ?

(Or)

b. The handicrafts act as major tourism potential. Briefly
discuss.

MS6MeMEITLI EILITIHLS6IT (PSS SDMIEOIT CUETTLD : Spl1s.
Part-C (3 %10 =230)
Answer any Three Questions.

16. Define Tourism potentialsand discuss the Peter’s factors
influencing tourism.

SDIIEOM EUETELSEIT — EueBIWIM). LIL L TerDledr snTevvilaemer Spulis.

17. Analyze thehistorical implications of tourism in India.

Srpdwnefled shmieomefledr ureombMm| OSTLITLSEDEIT Dbl

18. State and discuss the characteristics of medical tourism in India.

Spdwinefled DS G161 SHmIeoTeflesT ZUIEOL|SHEN6T Fanl Splls.
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19. Explore the amusing tourism potentials in India.

Spdwiefled efluiiLp BLD ShHmIeOT euemhisemer efleurf].

20. Discuss the role government in nurturing tourism potentials in
India.

SpSWTefled SHMIEOIT CUETHISEDEIT EUETTLILIBEO HTS60T LIrhiBement Shiis.

*k*k
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AF-1645 BTASA3

U.G. DEGREE EXAMINATION, APRIL 2010
Slp - Sewyd umL

Tamil
BrL@GLUYDeflweo
(CBCS—2008 Onwards)
Duration : 3 Hours Maximum : 75 marks
L&S - O (10 x 2 = 20)
ROG VSSB SlaTefled eflenL &@HS.

1. BILGUYDL urLesefen sr&HsD al@ SeosSwniserfleo

SLID QUDHMI6TeTg) TETUSDS R FTEITM H[HS.

2.  OBNES HMSS6T eNeT&H5D &5(H5.

3. ab6esHs5s S QeosSwmselled sreomi@GU UM

GSMILIL|&6T SmevorLILIB S 6eiTment.

4. smsgUUTLOSaM6T OSTLESSS0 &My’ umLOILGeSes

GBM&SLD Wg| ?



5.  LDH SMSSET UHH Wk’ samieug wng ?

6. BMLBUYD B0&3WHENHGD WSS WLSSWSEDGSD 2 6iTerm

OWIMGILILI6TOTL|&61T grhHement GMILILIBS.

7. SpUTamnibd &evre) UM er6sTe samiSmmir:

8. IlewwLLI6T B60& 565N 6T(LDSIS:

9. &HNHFHUTTWET SMFHLMTLENEQI6TOT HWSHE oM s 606

T(DSIS.

10. wefls Qeor eugeormHnied OLwlenr WHBw Hg eud LM

TG\,
VeS8 - S (5x5=25)

Kb VES NHerefled 6NlewL H([H5.

1. ©) Bri@EuUYDewesE uCam SMNEpTHeT &dHWD

BB OSTGSSG! 61(WDEI5.

(Siedevg)
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=y

12. (@)

=y

13. ()

=y

14. ()

=y

QIMUALDTLS QIP&SSTMISHET GSMSE 6T (WD&Is.

BILGLLDS SmsLI LITLeds6fl6r SemibLieny eflensEs.

(Sievevg)

HEMSEUENS HeWLN60T LILIGHT WG| ?

GBS LITLe0&6rfl6tT 563155 60TemLDen U S0 M)s.

(Seoe0g)

upenLfereTUS S Ten eNleTsEHID &(HS.

6l B&HmSUN6T &HLI EILIMBLSET WITeneU ?

(Siedevg)

©_6iTee1hIT LILPLDIL|S SH6W&&6T 6fl6M&H8LD &(hHs.
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15. (&) ©GHGNUIG eTETMTED 6T6dTENT ?

(Stedevs;)
©p wwHBImseT ©_ 6U0T IT & & LD 15 D LI &6 & & 6 1T
QDSLILIBSSIS.
vss - & (3x10=30)

TmEUGWISNILD ePEITMED) &GS &L.Benr euipehled eflemL 61(D&IS.

16. BILEUYD Swedlen auensliun@GaHsT GNSs Rbm SLEenT

QDI 5.

17.  smeom @B unLevserleir Sevllsseimemibasenet eflensds.

18. ens6fllemens &ME0&6T GSMSII 6T(DSIS.

19. dms Ogwer UL (@ FLMIG (PODSHET SNSS) 6T(DSIS.

20. sl uPUTGESET 2 _TTSHID OFULISHMETS OSTSS5H S

FaMIS.

*k%x
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